IMapaBNHYECKHA UMNMHAP HU3KOTO AAaBNEHuA

CHM

@20 ~ 40

o Jlerkuii anomMuHueBblii Kopnyc
o BO3MOXHOCTb YCTAHOBKI 4ATYMKOB MONOXEHIA

TEXHHYECKHE XapaKTepPHCTHKH

Cpepa T1apaBnMYeckas XuoKoCTb
HomuHanbHoe gasnenme (MMa) 35
VcnbitatensHoe gaenexuve (MMa) 5.0
MakcumanbHo gonyctumoe aasnenue (Mra) 35
MwuHumanbHoe paboyee fasnenme (Mra) 0.25
Pabouas Bes 4aTumkoB NONOXeHNs:: -10~80
Temneparypa (°C) C patymKkamm nonoXeHus: -10 ~ 60
CKopoCTb NopLUHst (MM/C) 8~300
[emncuposaHue Het
[Jlonyck Ha anuHy xoza (Mm) (mo 250)™"°, (251~800)"*
CoBMECTHMOCTDb C rMAPABNMYECKUMH MUAKOCTAMM CTanpapTHbie ANUHbI Xoaa
TWapaBnnYeckas KuaKocTb CoBMEeCTUMOCTb [vametp CraHgapTHble
MuHepanbHble rapasn. Macna | COBMECTUMbI Unnukapa (M) ATWHbI X0pa (MM)
Owmynbcumn «Boga B macne» 20, 25,32, 40 25~ 800
Smynscun «Macrio B Bosie» CM. TabnuLy MUHUMAnbHBIX ANVH XOa NP UCTIONb30BaHIM AATHUKOB MONOXKEHNS.
Bogro-rnmkonesble xwuakoctu | HecosmecTimel 3aKas LynuHapa co CTaHAapTHOI ANMHOI X0a rapaHTUPYeT MUHUMATTbHI CPOK MOCTABKY.
Pocgpartel KoHcynbTupyitrech ¢ SMC 0 BOSMOXHOCTY MPOM3BOAICTBA LMAMHAPOB C MHOM ANMHOM X0aa.
HomunanbHbie yeunus (H) HomuHansHoe yeunme (H) = flasnenue (MMa) x Nnowaab MopwHs (Mm’)
[vametp | [uametp | Hanpaenenne | Mnowagb | Pabovee paBnenve (MMa)
UMnuHapa| LToka nepemeLLeHnst | MopLUHs
(Mm) (mm) (Mm°) 1 15 2 25 3 35
20 10 BbIABVKEHNE 314 314 471 628 785 942 1099
BTArMBaHNe 235 235 352 470 587 705 822
25 12 BbIABVKEHNE 490 490 735 980 1225 1470 1715
BTAMMBaHNE 377 377 565 754 942 1131 1319
32 16 BblgBUXEHNe | 804 804 1206 1608 2010 2412 2814
BTSTVBaHNE 603 603 904 1206 1507 1809 2110
40 18 BbIABVKEHNE 1256 1256 1884 2512 3140 3768 4396
BTAMMBaHWe 1002 1002 1503 2004 2505 3006 3507

Macca uunnsppoB (Kr)

[nameTp unnuHapa (Mm) 20 25 32 40 Mpumep pacyera:

Basosast | Basosbiit (B) 020 |[029 |[050 |0.82 Lnnupp CHML20-100
YERE Ha nanax (L) 044 055 0.88 136 (kpennenue Ha nanax, &20 Mm, xof wroka 100 Mm)

basoBasi macca 0.44 kr
®rnatieu (F, G) 0.29 0.46 0.69 1.03 [ononnuTenbHas macca 0.06/50 mm
LWapxmp (C) 0.18 0.37 0.64 0.77 Xoa Wroka 100 MM
[lononnut. macca Ha 50 mm xopa | 0.06 0.08 0.12 0.16 0.44 + 0.06x100/50 = 0.56 kr

74



r
@SNCR MapaBnuYyecKui UHNHHAP HU3KOIo faBneHus
CHM

Homep ona 3akasa

CH[DIm [L][28] - [100]

—@  Xog (Mm)
Be3 marHuTHOro Konblia CM. Tabnuuy cTaHfapTHsIX XoA0B

D | C marHuTHbIM KOMbLIOM

L——e [lnametp

20| 20 mm
Tun kpennexus *—————— 25| 25 mm
B | Ba3oBblit 32| 32wmm
L | Ha nanax 40| 40 mm
F | Mepeanui donanel
G | 3apHuit naHel *
C | LWaphup*
NpuHapneXXHocT
Tun kpennexus basosblii Ha nanax 3apHuin NepegHui LLlapHup
naHey, thnaHey,
CraHgapt ["aitka ° ° ° °
KpenexHas (2 wr.) (2wr.) (1 wr.) (1wr)
["aifka WwToka ° ° ° ° °
UcnonHenmsi| Ocb WwapHupa | - - - -
LLlapHupHbIN ° ° ° ° °
HaKOHEYHMK
LLlapHupHas ° ° ° ° °
BUIIKa (C OCbI0)
) KpoHLuTeitH ° . ° ° °
LUAPHUPHbIi
Homep ang 3aKasa anemeHToB KpenneHus WHNHHApa
[unamvetp 20 25 32 40
unnmrHapa (Mm)
Nanbr* CHM-L020 | CHM-L025 | CHM-L032 | CHM-L040
OnaHel CHM-F020 | CHM-F025 | CHM-F032 | CHM-F040

* ANS O[IHOTO LMMMHAPA CriedyeT 3aKasblBaTh fBe narbl

1 NMpaBO Ha BHECEHNE TEXHUYECKNX N Pa3MepPHbIX UBMEHEHUN

Konctpyxuns @

)]
o
\(e]
o
o
[
[v]
=
[0}
g
[
g Cneundinkauns
o -
o Mos. | HaumeHoBaHve Matepuan [Mpumeyanus 8 Cronop MegHbii cnnas
0 v -
s 1 KpblLka LWTOKOBas | AmnOMUHUEBBIN YepHeHne 9 YnnotHeHWe wroka| HUTpUnbHbIN
‘@ 2 KpbilLka 3agHss crnnas aHoMpOBaHNeM 10 [pasecbemHoe Kayudyk
% 3 TMnb3a UnuHgpa ArosmpoBaHne KonbLo
c |4 LLTok Yrnepogucras XpomuposaHme 11| YnnotHenve
S cTanb (ranbBaHn4eckoe)* LnuHApa

5 MopLueHb AntoMuHmeBbIi cinas | XpomupoBaHie 12| Mpoknapka

6 Brnagsiw MnperHmpoBaxHbIit 13 | Mpoknaaka runb3bl

HanpaBnsioLLmiA cnnas 14 [arika Yrnepogucras Linnk-xpomoBoe
CTAHOBOYHaS cTanb yepHeHue
7 lMopLuHeBoe Mnactuk
KonbLiO 15 ["aiika wroka CranbHoi npokat HukenupoBaHvie

* [ing uunuHapos 20 1 325 ¢ aaTuMkaMm NONOXEHNs MaTepuan LUTOKa - HepXaBetoLLas cTarnb

75




fuapaBnuYyecKuidt UHNHHAP HU3KOro AaBneHus

CHM

Paamepbi
CHMB
CTaHpapt
PaccrosHue N N
B2 L RcP RcP
MeXZy NocKoCTAMM Ha _G_Q_ _§_\ o NN
Paccrosine -t'.‘- r-
mexay nnockocTamu B1 \ \!
1
S s W ¥ <
nyEl /N &
/ 1
BchcpekTua.
OnuHa
MM pe3bbbl 3
A K F NB NC
H S +Xog 3
27 + Xon
Iuavetp | OovHa | A B1 | B2 | D F GA| GB | H H1| H2| | 1A K MM P S NN N | NA[ NB|NC|ZzZ
umMnmHapa| pesbbel (f8)
(Mm) (M)
20 15.5 18 [ 13 [ 26 [ 10 | 16 [ 12 | 8 4115 |8 |30 | 23]-0020 |5 M8x1.25 [ 1/8 | 81 | M22x1.5| 13 | 26 [ 19 [ 15 | 138
25 19.5 22 |17 |32 (12 |16 |12 | 8 46 | 6 |8 |32 | 25]|-0.053 | 55| M10x1.25( 1/8 | 81 | M24x1.5 | 13 [ 28 | 19 [ 15 | 143
32 21 24 122 |38 |16 [19 |12 ] 8 5318 [9 |40 [31]-0025 | 75| M14x1.5 | 1/8 | 87 | M30x1.5| 13 | 36 | 19 | 15 | 159
40 21 24 124 |41 (18 | 21 |14 | 11 | 54| 10| 11|48 | 34]|-0.064 | 7.5 | M16x1.5 | 1/4 | 108 M33x2 19| 44 [ 24 |21 | 183
CHML
Ha nanax PacctosHue
mexay nrockocTamu B2
——. H N RcP ReP N, 2-NN
oy _HF GA GB| F
PaccrosiHne ANHa pesbl |
mexay nnockocTamu B1 N\ ﬂ,!_ y
. ifl |
. ol S| 4olD
L Y T
A |K A |
MM A ) [ 1
\PaCCTOQHVIe mexay nnockocTamu NA TT1
NB NC -
Y[ X S+ Xoa X 1yl ~
LS + Xog LX
77 + Xon LZ
Ivavetp | OnvHa | A B1 | B2 | D F GA| GB| H H1| H2| | K LD | LH | MM P S NN N NA | NB | NC
uunuHapa| pesbObl
(Mm) (Mm)
20 (15%5) 18 [ 13 [ 26 [ 10 | 16 [ 12 | 8 4115 (18 |30 |5 7 5 M8x1.25 1/8 | 81 M22x1.5 1326 | 19 | 15
25 19.5 22 |17 |32 (12 |16 |12 | 8 46 |16 |8 [32 | 557 55| M10x1.25 | 1/8 | 81 M24x1.5 131 28 [ 19 |15
32 21 24 122 |38 |16 [19 |12 ]38 5318 [9 [40 |75 |7 75| M14x1.5 1/8 | 87 | M30x1.5 13136 | 19 | 15
40 21 24 |24 |41 |18 [ 21 |14 |11 [ 54 ] 10| 11|48 [ 75 ]9 75| M16x1.5 1/4 | 108 | M33x2 19 44 | 24 | 21

Ivavetp | LS LT LX Lz X Y Y4
uunuHapa

(mm)

20 121 |55 |40 55 20 9 151
25 121 (55 |40 55 20 9 156
32 133 |6 45 60 23 9 172
40 158 | 6 55 75 25 1 198

76



O

SNCR MapaBnuYyecKui UHNHHAP HU3KOIo faBneHus
CHM

GHMF

C nepeaHnm thnanuem PaccTosHme
mexay nnockoctsmu B2
Paccrositue

CHMG mexay nrockoctamu B1
C 3agHHM thnaHuem RcP RcP
VN (prani 4-oFD H2 2-NN
/ H1 /
| rd
m I : "- ; .

ol=
\
_

T el

>- =: = s =
w E s ®
3 .
wﬁcﬁ:mma \
pe3bBbl FT
A K E NB PaccrosHne mexay nnockocTsimu NA N C
FX H S+ Xon 3
FZ 77 + Xog
2-NN N ReP ReP N, PaccTosHme 4-oF
PaccrosiHue GA GB| H2z Mexay nnockocTsimn B1
Mexay nnockoctamu B2 H1 i r‘ N /—
o T &
a H 7™
<l [ ¥\
H H w
/ -
ObdexTvs, N | =) A A
MM / e \ PaccrosHme mexay nnockoctsimin NA |

pesbbl 3
s A _IK|[_F | NB NC
s H S +Xog FT| FX
2 ZZ + Xop FZ
o
s
g
3 [vaverp | Armva | A | B B1|B2|D | F | GA| GB| H | H1| H2 | | K IA MM P S NN N [ NA|[ NB
S | uvnmHgpa| pessbbi (f8)
g (Mm) (Mm)
§ 20 15.5 18 [ 38 [13 [ 26 [ 10 |16 ]| 12| 8 4115 | 8 30 |5 23 1-0.020 | M8x1.25 | 1/8 | 81 M22x1.5 | 13| 26 | 19
S 25 19.5 22 |44 |17 |32 (121612 8 4616 | 8 32 | 55| 25 ]-0.053 | M10x1.25 | 1/8 | 81 M24x1.5 | 13| 28 | 19
:S: 32 21 24 |50 |22 138 [16]19] 12| 8 5318 [ 9 40 | 75| 31 |-0.025 | M14x1.5 | 1/8 | 87 M30x1.5 | 13| 36 | 19
§ 40 21 24 160 |24 |41 (18|21 | 14| 11| 54 10| 11 | 48 | 75 | 34 |-0.064 | M16x1.5 | 1/4 | 108 | M33x2 19| 44| 24
=
% Ovamerp | FD | FT | FX | FY | FZ [ NC| ZZ
; LMnMHApa
:  CHMC L)
I
9] . - 20 7 |6 |51 |21 |68 |15 | 138
o
2 C LirapHUpHON onopok 25 7 19 |53]27 |70 |15 | 143
o
g N 32 7 |9 |55 (|33 |72 |15 159
PaccrosHue Mexay —= RcP RcP
% e e . GA GB oCD3® 40 9 |9 | 66|36 |84 21183
R | ]
= 1 -
8 )
o qlo N/
- A,
&
g ,?,ﬁ?:n N PaccrosHue
3 MM pe3bGbl 3 N\ Mexay nnockocTsmu NA
x
A __K|I[LF NC
: H i S + Xog =5 T (e
g Z + Xon RR ol
] 27+ Xop
g
I
g Ovaverp | Aowwa | A | B1({CD|D [F | GA| GB|H | H1| CX] I 1A K | MM P 1S [ NN N [ NA|NB|NC|ZZ |RR | U |Z
S unuHapal pessdbl (f8)
(Mm) (M)
20 155 [18 (131010 [ 16 |12 |8 |41 | 5 | 16| 30| 23(-0.020] 5 | M8x1.25 | 1/8| 81 | M22x1.5| 13| 26 | 19 [ 15 | 138| 13.5| 14| 136
25 195 |22 |17 (10|12 |16 |12 |8 [46 | 6 [ 16| 32| 25|-0.053| 55| M10x1.25| 1/8 | 81 | M24x1.5| 13| 28 | 19 [ 15 | 143| 14.5| 15| 142
32 21 2412212116 (19 |12 |8 [53]| 8 [16]40] 31|-0.025| 7.5| M14x1.5 | 1/8 | 87 | M30x1.5| 13| 36 | 19 [ 15 | 159| 18.5| 20 | 160
40 21 24 (24 (12 (18 [ 21 [14 | 11 | 54 | 10| 24 | 48 | 34| -0.064| 7.5 M16x1.5 | 1/4 | 108| M33x2 | 19| 44 | 24 [ 21 [ 183]|22.5| 20| 182

77




fuapaBnuYyecKuidt UHNHHAP HU3KOro AaBneHus

CHM

Paamepbl. IPHHAANEKHOCTH

NpHHAMNEIKHOCTH o laika wroka ” laitka ycTaHOBOYHas
(cTanpapr) d 3 d
¥ Matepuan: = ol O
yrnepoaucTas cranb
T
H H_ B
Homep [inavetp d H [B C D Homep d H B C D
Ans 3akasa | LMnMHOpa (M) [NA 3aKkasa
NT-02 20 M8x1.25 | 5 13 | 15.0 | 125 S0-02 M22x1.5 | 8 26 | 30 26
NT-03 25 M10x1.25| 6 17 | 196 | 165 $0-03 M24x15 | 8 32 ] 369 | 32
NT-04 32 M14x1.5 [ 8 |22 | 254 | 210 S0-04 M30x1.5 | 9 38 | 439 | 38
AC-NI-50 | 40 M16x1.5 | 10 [ 24 | 27.7 | 23 S0-05 M30x1.5 | 11 | 41| 473 | 41
MpHHapNeXXHOCTH CTbIKOBOYHbIE
(no ucnonxexusm)
LLlapHMPHbIN HaKOHEYHUK
?:\
E[E@E - GND“: Howep | fwawero | A | E1 | L1 | MM | Rt | Ul | ND NX
455 ans uMnuHapa (H10)
MM oNDs10 = Jﬂ cea | ()
w y=I "é',' == 1-01 20 16 20 36 M8x1.25 | 10 14 9 | +0.058| 9 | -0.1
Q i i 1-03 25 18 20 38 M10x1.25 [ 10 14 910 9 | -02
x As U - -
A1) LU—'— = '_'l 1 1-04 32 22 24 55 M14x1.5 | 155 [ 20 12 +0.070| 16 | -0.1
Ls L 1A-04 | 40 22 24 55 M16x1.5 | 15.5 | 20 121 0 16 | -0.3
20,25 32,40
Martepuan: cranbHol npokat Matepuan: uyryHHoe nutbe
KpOHWWTENH WwapHUPHBIA
Homep fnaverp | A |B [C |D |U E [F |G |H [I J |[K [L (M [R
4 3arny6nexus J ana UMIMHApa (H8)
Peab6osoe 3akasa (M)
OTBePCT”eL, AD-FI-20 | 20 46 | 60 | 22 | 16 | 10 [+0.027 | 30 | 28 | 65 (55|10 |12 [7 | M4| 55|10
u AD-FI-25 | 25 46 160|122 |16 (10| O 30 |30 (655510 |12 |7 | M4]55(10
= W AD-FI-32 | 32 56 |1 80|30 |16 | 12 36 |40 [10 [9 [13 |12 |7 [M5]|7 [12
o M AD-FI-40 |40 64 (8830 [24 |12 44 143 ({10 [9 (13 (16 |9 | M5|10 |12
R ol Marepuan: YyryHHoe nuTbe
P ACI N
o r Homep | Auamerp | A1 | E1| L1 MM R1] U1 | ND NX NZ
ans uunuHapa (H10)
ILlapHvpHas 3akasa (Mm)
BUNKa i Y-02 20 16 | 20 | 36| M8x1.25 |5 |14 | 9 |+0.058| 9 |+0.2 | 18
Hﬁ =] fch__i’ Y-03 25 18 [ 20| 38| M10x1.25| 5 | 14 | 9 0 9 |+0.1 |18
L N/ Y-04A | 32 22 | 24| 55| M14x15 [ 13 | 25 [ 12| +0.070 | 16| +0.3 | 38
Y-04B | 40 22 | 24| 55| M16x1.5 [ 13 [ 25 [ 12] O 16 [ +0.1 | 38
MM oNDH10 oNDH10
- - - Homep | [uamerp | Ocb wapHupa| Konbuo-
e T g_l “él:_l — 31 3 Ans unnuHapa | (Homep ukcatop / Ocw wapHupa
v J 3akasa | (vm) Ans 3akasa) | wnamHT 1 WapHUPHOW BUIKM .
-&‘—Iy—‘ z LA |[Un | Y02 |20 CDP-1 Paspesoe Marepuan: =
L L1 Y03 | 25 COP1__ | ansoougy|  “Mepomvcrascrans o ¥
]
@20, 25 @32, 40 Y-04A | 32 CDP-3 | w38l @20,25 i -
Martepuan: CtanbHoit npokat Matepuan: HYyryHHoe nuTtbe Y-04B 40 CDP-3 CDP-1
Paspestoe 175 192 175
KombLIO y
s oon @9 1154 25 1.15
Ocb WapHUpHoro
KPOHLLUTENHA . =]
KBO3HblE b
20D oraeperus Howmep Ovametp | A B (© D | WnrruHt 2
c1 ons unnMHapa (f8) 2 CKBO3HbIX OTBEPCTUS T3 €4
dacka | 3akasa (Mm) 232,40 e =
7 s o] [ ADEM20]20 455 | 355 | 10 -0.013 | 32| e3.2x161 el [Je===———g1
c1 AD-EI-25 | 25 455 | 355 [ 10 | -0.035 | 3.2 WnrnnwT: @3x181
Packa 2 AD-EI-32 | 32 52 42 121 -0.016 | 4 | @4x20/ 4 417
AD-EI-40 | 40 60 50 121 -0.043 | 4 497

Martepuan: Yrnepogucras cTanb

78




O

SNCK MapaBnuYyecKui UHNHHAP HU3KOIo faBneHus
CHM

JIaTYHKH nono<xexHns

lipumensiemble AaTYHKH
Homep nng 3aka3a Kpennewus paTrymka

OGoaHaueHue | Tun 3n.Bxon CeeToBasi | Bbixog Pabouee Xapaktep (BKNIOYAA XOMYT H BHHTbI)
MHAMKaLMA Hanpskerue (B) Harpysku
DC AC [uamvetp Homep

D-C73L 'epKoHOBbIN Kabenb Ectb 2-x 24 10 Pene, WL AL Lz 521

3anuTbIN MPOBOSHOM nnK 20 BMA2-020
D-C73CN LLiexep Ectb - 25 BMA2-025
D-C80L Kabenb Her 10 32 BMA2-032

3aNuTbIA 40 BMA2-040
D-C80CN Lltekep Het
D-H7A2L OnekTpoHHbI|  Kabenb Ectb p-n-p. 3-x 512, | - MpumeyaHus:

SamTbIn MPOBOAHOM 24 1. XOMyTbI ANs KpenneHnua OaT4nkoB Ha LunuHape
anMeHaHMej 3aKasblBalTCA OTAeNbHO.
Bonee AeTanbHast MH(OPMALWS O faTMKaX NONOKEHIS COLEPKUTCS BO BBOLHOM pasfene. 2. [ins paBoT! B 0CO0bIX YCIIOBUSIX MOXHO 3aka3aT HaGop

YCTaHOBOYHbIX BUHTOB (C raitkami) 13 HepxaBeloLLen cTanu.
Homep ans 3akasa: BBA4.
MunumanbHas anuna xona (mm) NMpH HCNONb30BAHUH IATYHKOB NMONOXKEHHS

MOﬂ,eJ'lb Konnyectso [aT4YUKOB MONOXEeHNsA
2 LUTYKM "n" WTYK 1 Wwryka
PasHoctopoHHee |  OpHocTopoHHee | PasHOCTOpoHHee OpHocTOpOHHee
PACronoxXeHue pacrnornoxexue | pacronoxeHue PacronoxeHu1e
D-C73L, D-C80L 15 50 15+45x(n-2)/2| 50+45x(n-2) | 10
D-H7A2L 15 60 n=2,4,6... 60+45x(n-2) | 10
D-C73CN, D-C80CN | 15 65 15+50x(n-2)/i2| 65+50x(n-2) | 10
n=2,4,6...

MoHTa)X AaT4HKoB

D-C73L, D-C80L D-H7A2L
5 85
S [T X y
I i i
; el =
S Al Al 2| |8l
o Tatank (36) [atunk
3
3 [nametp D-C73L, D-C80L D-H7A2L D-C73L, D-C80L| D-C73CN
g uunmugpa | D-C73CN, D-C80CN D-H7A2L D-C80CN
g . (M) A B A B HS HS
aTynK
i e 20 15 13 14 12 245 27
S _H AT 25 15.5 12.5 14.5 1.5 27 29.5
§ 32 19.5 14.5 18.5 135 30.5 33
s . el 40 24 2 23 |19 |3 375
8
(0]
=
I
[9)
(]
]
I
o
©
I
o
§  VYKa3aHWa no MOHTa)XXy THAPOLHIHHAPOB
c
=
Mpu MOHTaXE LNMHAPa C NOMOLLBHO YCTaHOBOYHbIX ragk lpu 3akpennennn UMnMHAPa TONbKO C OHOI CTOPOHbI (6a30BbIi TMM, thaHLEBbIA TIM)
1Cnonb3yiiTe MOMEHT 3aTsira B COOTBETCTBUM C TabnuLeit: 11 NPV BbICOKON CKOPOCTY NOPLLHS NOSIBASETCS OCLMNINPYIOLLMA M3rvBaloLnit MOMEHT,

AEVCTBYIOLMA Ha LMAMHAD CO CTOPOHbI KOHLA LITOKA, CMIOCOBHbIII BbI3BATb paspyLLeHe LunHapa.
B TaKoit cUTyaLum yCTaHOBUTE apMaTypy, CHUXaIOLLY0 BUGPALMIO LMNMHADA

ﬁ:ﬁxf ;Sa 2?&68 E:;n:l;pm 22’:?: T NN YMEHBLUMTE CKOPOCTb MOPLLHA TaK, YTobbl KOPNYC LMMNHAPa He BUOPUPOBan No 4E/CTBIEM LUTOKA.
ety i ) Tak kak ruapounnuHapsl cepn CHM He umeloT knanata cbpoca,

20 M22x1.5 26 45 cOpacbiBaliTe BO3YX Yepes Apyrie anemeHTbl (Tpy6onpoBoabl 1 T.1.)

25 M24x1.5 32 60

32 M30x1.5 38 85 B nepeoHauanbHbIit neprog akcnnyataLmin LUnuHApa

40 M33x1 5 4 10 OyabTe BHAMATENbHBI K COPOCY BO3AYXa MPU HU3KOM AaBIEHMN.

Korga cbpoc Bo3ayxa byaeT 3aBepLLeH, NogaiTe NOHMKEHHOe JaBneHue,
3aTeM NoCTeNeHHO NOBbILLAIATE €ro A0 HOMWHANBHOMO paboyero AaBneHus

Komnanua SMC coxpaHseT 3a co6o

79




DN caresiou e

Hydraulic Cylinder
7MPa Nominal Pressure

Series CHN

220, 925, 832, 240

Our Series CHN stainless steel tube hydraulic cylinder comes in four
small bore sizes and can handle nominal pressures of up to 7MPa.



Our stainless steel tube hydraulic cylinder
comes in 4 small bore sizes that can
ccommodate up to 7MPa of nominal pressure.

Sarles CirIN

220, 925, 832, 340

Retaining snap ring

Cushion valve

Equipped with
cushion mechanism

¢ A cushion seal system mechanism is
now a standard feature.

* Cushion valves are enhanced with a
non-slip retaining mechanism.

» The cushion valve is a discreet type
valve that does not protrude from the
cover face.

Cushion valve O

Qo

Auto switch

Q20
Built-in magnet

All cylinders come with a built-in
magnet as a standard feature. This
makes possible the mounting of an
auto switch for piston position
sensing even after the cylinder has
been installed.

Aluminum cover

Q

. Stainless steel tube o

Reduced cross sectional area Light weight

CHNg40
CH2g40

Using aluminum alloy for both the rod cover

When compared to the ¢
and head cover reduces overall weight.

same size tie-rod cylinder,

the cross sectional area of :
our Series CHN cylinder Model Weight (kg)
projects less than 45%, CHNB20-100 0.51
thereby attaining a better CHNB25-100 0.63
space savings.
CHNB32-100 0.89
CHNB40-100 1.51

Basic type with a 100 mm stroke

Series Variations

Series g)\lr%rsnslﬂ?(la Bore size (mm) Mounting bracket Auto Switch
20 Basic type .
* At o e Band mounting type
CHN 7.0MPa Front flange type Reed type
32 SR.)ear flange type Solid state type
40 ingle clevis type




/MPa

Hydraulic Cylinder

Series CHN

320, 925, 932, 340

How to Order

CHN

25

100

C/3

Mounting bracket

B Basic type

L Axial foot type

F Front flange type
G Rear flange type

C Single clevis type

Bore size ® L

20 20mm
25 25mm
32 32mm
40 40mm

lNumber of auto switches

Nil 2 pcs.
S 1 pc.
n "n" pcs.

® Auto switch type
[ Nil [ Without auto switch

DSelect applicable auto switches from
the table below.

b Cylinder stroke (mm)
Refer to the standard stroke table on page 2.

Ap P licable auto switches: Refer to "Best Pneumatics 2" for detailed auto switch specifications. Refer to pages 15 and 16 for auto switch circuits.

Load voltage Auto | Lead wire length (m)"
Type Special function Electrical | Indicator Wiring switch | 05 | 3 | 5 |None| Applicable load
entry light (output) bc AC model | (Ni) | ©) | @ | (V)
3-wire (NPN equiv.)| — 5V — C76 ® | ® | — | — [ICcircuit| —
Yes — B53 o e o | — — PLC
Grommet 12V | 200V or less Bt © |6 o —
- No B64 o | o | — | — —
2 Yes 100v C73 e o o | — Relay
% — No 5v, 12V | 100V orless| C80 | ® | ® | — | — |iCcircuit| PLC
s Connector L_Yes 2-wire 24v| 12v — C7l3C | e | @ |0 | ® —
o No 5V, 12V 24V C80C [ J [ ] [ ] ® |IC circuit
Terminal 12v — A33 — | —]1—] ® — PLC
conduit v A34 —|—=1=1 e —
es
DIN terminal 12v 100v, 200V Ad4 — -] — | @ — Eﬁléy
Diagnostic indication (2-color display) Grommet —_ — B59W o | o | — | — —
3-wire (NPN) H7A1 ® | & O | — -
5V, 12V
Grommet 3-wire (PNP) H7A2 | @ | @ | O | — |ccredt
) H7B ® | ® | O| —
— 2-wire 12v —
Connector H7C [ K [ ]
§ Terminal 3-wire (NPN) 5V, 12V G39 — | — | — | @ |ICcircuit
% conduit 2-wire 12V K39 — | — | — | @ —
@ ) o 3-wire (NPN) H/NW | ®© | @ | O | — - | Relay
g Diagnostic mdlcatlon Yes 3-wire (PNP) 24V |5V, 12V — H7PW | ® | e | o | — IC circuit PLC
° (2-color display) H7BW ° ° ol —
3 Water resistant (2-color display) Grommet 2-wire v H/BA | — | @ | O | — B
With timer 3-wire (NPN) 5V 12V G5NT | — | ® | O | — IC circuit
With diagnostic output (2-color display) ’ H7NF ® | o | O | —
Latch type with diagnostic output 4-wire (NPN)
(2-color display) — H7LF e | 0| — _
OLead wire length symbols: 0.5m ...... Nil (example) C73C 5m..... Z (example) C73CZ

3m

L (example) C73CL

Notes) « Solid state switches marked "O" are produced upon receipt of order.
« You do not need to specify "N" (i.e., without lead wire) for D-A3[], D-A44, D-G39, and D-K39. This is the only standard specification automatically available for these models.

N

N (example) C73CN

SVC




JIS symbol

L]
T

Hydraulic Cylinder: 7MPa Series CHN

Specifications

Action Double acting/Single rod
Fluid Hydraulic fluid
Nominal pressure 7MPa

Proof pressure 10.5MPa
Maximum allowable pressure 9MPa
Minimum operating pressure 0.3MPa

Ambient and fluid temperature

Without auto switch: —10° to 80°C

With auto switch: —10° to 60°C

Piston speed 8 to 300mm/s
Cushion Cushion seal
Rod end thread Male thread
Thread tolerance JIS class 2
Stroke length tolerance to 250mm :?j
251 to 800mm "y

0

Mounting types

Basic type, Axial foot type
Rear flange type, Front flange type
Single clevis type

Note) Refer to page 26 for definitions of terms related to pressure.

Accessories

Standard Strokes:

strokes for auto switch mounting.

Mounting types Basic Axial foot |Rear flange|Front flange |Single clevis
= . [ [ [ [ J
© | Mounting nut —
‘% 9 (2 pcs.) (2 pcs.) (1 pc.) (2 pc.)
& | Rod end nut [ J [ J [ J [ J [ J
Clevis pin — — — — —
s Single knuckle joint [ ] o [ J (] ®
‘S | Double knuckle joint
S| with pin) * g o ® g
Knuckle bracket (] [ J [ J (] [ J
Refer to page 3 for minimum

Hydraulic Fluid Compatibility

Bore size (mm) |Standard strokes (mm) | Long stroke Hydraulic fluid Compatibility
20 25 to 300 Standard mineral hydraulic fluid| Compatible
25 25 t0 400 WI/O hydraulic fluids Compatible
22 800 O/W hydraulic fluids Compatible
2510 500 Water/Glycol hydraulic fluids 0
40 Phosphate hydraulic fluids |Not compatible

OStandard strokes above have a minimal delivery time.
Consult with SMC for the manufacture of strokes other than

[JConsult with SMC.

the above.
Mounting Brackets: Part Nos. Auto Switch Mounting Brackets: Part Nos. (incl. band & screws)
Bore size (mm) 20 25 32 40 Auto switch models
i u] i _ - i Bore size
Axial foot CHN-LO20 | CHN-L025 | CHN-L032 | CHN-LO40 (mm) D-C7, D-C8 D-B5, D-B6 A3 DoAG
Flange CHN-F020 | CHN-F025 | CHN-F032 | CHN-F040 D-H7 D-G5, D-K5 ’
OWhen ordering the axial foot type, order 2 pieces for each cylinder.
20 BMA2-020 BA-01 BD1-01M
25 BHN3-025 BHN2-025 BD1-02M
32 BHN3-032 BGS1-032 BHN1-032
40 BHN3-040 BH2-040 BDS-04M

[Stainless steel mounting screw kits]
The following stainless steel mounting screw kits are available for use depending on the
operating environment. (Switch mounting bands are not included and should be ordered

separately.)

BBA3: D-B5, D-B6, D-G5, and D-K5
BBA4: D-C7, D-C8, D-H7
OWhen D-H7BAL switches are shipped mounted on a cylinder, the above stainless steel
screws are used. Also, when switches are shipped separately, BBA4 is included.

SVC

O

2



Series CHN

Minimum Strokes for Auto Switch Mounting

(mm) /'\ Specific Product Precautions
No. of auto switches
Auto switch models 2 pcs. "n" pcs. 1 I_B- =-= -t- = -d-b-f - -h- -dl'- = 'i
: - - - pc. e sure to read perore nandling.
BT S Different sides Same side 1 9
slidles Site 1 Refer to pages 25 through 31 for
D-C7 50+45(n-2) 1 safety instructions, hydraulic |
D-C8 15 50 (=23, 4,50) 10 . g
i n_o —es I cylinder precautions and auto 1
D-H70] 15+45< 2 > I switch precautions. 1
D-H7OW 15 60 (n=2,4,60) 60 + 45 (n - 2) 10 N
D-H7BAL (n=2,3,4,50)
DA A\ Caution
g'g;gg 15 65 15 + 50 <n — 2> 10 When operating a cylinder for the first time, make
) - 2 sure to release the air at low pressure. When the air
D-H7C (n=2,4,6 M) 65+ 50 (n—2) ) X
2345 release is complete, operate the cylinder at reduced
D-H7LE 20 65 20 +50 <ﬁ> (n=2,3,4,50) 10 pressure, gradually increasing it to the normal
(=24 GZDE operating pressure. However, the piston speed at
: n ) this time should be adjusted to the minimum speed.
DY 15 75 | 15+%0 < 2 > 10
n=2460 | 75+55(n-2) | Mounting
n-2 (n=2,3,4,5M .
D-B59W 20 s | 2+50("52) 15 /A Caution
n=2,4,6
( y 1. When mounting with bracket mounting nuts,
D-A3 tighten them using the tightening torques in the
D-G39 35 100 35+30 (n - 2) 100 + 100 (n-2) 10 table below as a guide.
D-K39 (n=2,3,4,50) (n=2,3,4,50) -
D-A44 Bore size |Mounting nut wﬁ?ﬁgﬂ%@? Tightening
n: Number of auto switches (mm) thread flats (mm) | torque (N-m)
. 20 M22 x 1.5 26 45
Theoretical Output % | m2axis | = 0
Unit (N) 32 M30 x 1.5 38 85
Bore size | Rod size | Operating |Piston area Operating pressure (MPa) 40 M33x15 4 110
(mm) (mm) | direction | (mm?) 1 3 5 7 2. When mounted with one side attached and one
ouT 314 314 942 1570 2198 side urjattachgd (basic type arld flange type) and
20 10 operating at high speed, bending moment acts on
IN 235 235 705 1175 1645 the cylinder due to oscillation at the stroke end,
ouT 490 490 1470 2450 3430 which may cause cylinder damage. In this case,
25 12 IN 377 377 1131 1885 2639 insFaII brackets to suppress the oscillation of the
cylinder body, or reduce the piston speed enough
32 16 ouT 804 804 2412 4020 5628 so that the cylinder body does not oscillate at the
IN 603 603 1809 3015 4221 stroke end.
40 18 ouT 1256 1256 3768 6280 8792
IN 1002 1002 3006 5010 7014
Theoretical output (N) = Pressure (MPa) x Piston area (mm?)
Weights
(kg)
Bore size (mm) 20 25 32 40 | *Calculation method
- - (Example) CHNL20-100
E’ Basic type 0.27 0.37 0.53 1.05 (Foot type, 20, 100mm stroke)
g Axial foot type 0.51 0.63 0.91 1.59 | « Basic weight [IIIMIIIM0.51kg
2| Flange type 036 | 054 | 072 | 1.26 | *Additional weight [ID.12/50mm
bt ;
© : « Cylinder stroke [MMM.00MmM
m| Clevis type 0.25 0.45 0.67 1.00 0.51 +0.12/50 x 100 = 0.75kg
Additional weight per 50mm | 0.12 0.13 0.18 0.23

O
g



Hydraulic Cylinder: 7MPa Series CHN

Construction

Parts list
No. Description Material Note No. Description Material Note
1 |Rod cover Aluminum alloy Black anodized 14 | Magnet —
2 | Head cover Aluminum alloy Black anodized 15 | Snap ring Spring steel
3 | Cylinder tube Stainless steel 16 | Rod seal NBR
4 | Piston Stainless steel 17 | Scraper NBR
_ 220, 25: Stainless steel | Hard chromium 18 | Piston seal NBR
5 |Piston rod :
@32, 40: Carbon steel electro plating 19 | Tube gasket NBR
6 | Magnet plate Stainless steel 20 | Cushion seal —
7 | Cushionring A Carbon steel 21 |Back-up ring Resin
8 |Cushionring B Carbon steel 22 | Cushion valve seal A NBR
9 |Bushing Lead bronze 23 | Cushion valve seal B NBR
10 | Cushion valve Carbon steel 24 | Piston gasket NBR
11 | Snap ring Spring steel 25 | Rod end nut Carbon steel
12 | Air release valve Alloy steel 26 | Mounting nut Carbon steel
13 | Check ball Bearing steel

Replacement parts: Seal kits

Bore size (mm) Seal kit no. Kit components
20 CHN20-PS
25 CHN25-PS Nos.16 to 20, and 22
32 CHN32-PS from the chart
40 CHN40-PS

[OSeal kits consist of items 16 to 20, and 22, and can be ordered by using the seal kit
number for each bore size.

O
S



Series CHN

Dimens

ions

Basic type: CHNB

Width across flats E

MM Width across = GA2 GB2 NN
|
Width across\ flats B2
flats B1
1 /\
(—\ i © T 8 i
=5 =
[a) _ PN - - _ PN < |
S tfill Jt;j . =
H >
N/
L | =
i 2
H1
b H2 | | [GAL GB1
Effective
thread 3 GA3 2-Rc P GB3
A | K F NA Air release Air release NB Air release
H S + Stroke -
ZZ + Stroke
(mm)
Bore size | Stroke range |Effectivethread) o | B1 | B2 | D | E | F |GA1|GA2|GA3|GBL|GB2|GB3| H | HL | H2 | 1|
(mm) (mm) length (mm)
20 25 to 300 15.5 18 | 13 | 26 | 10 | 8 | 16 | 10 | 12 | 12 8 | 10 | 10 | 41 5 8 | 31
25 25 to 400 19.5 22 | 17 | 32 | 12 | 10 | 16 | 10 | 12 | 12 8 | 10 | 10 | 46 6 8 | 34
32 25 to 500 21 24 | 22 | 38 | 16 | 14 | 19 | 11 | 13 | 13 10 | 10 | 53 8 9 | 40
40 25 to 500 21 24 | 24 | 41 | 18 | 16 | 21 | 12 | 17 | 17 | 11 | 16 | 16 | 54 | 10 | 11 | 48
(mm)
Bore size IA K MM NA | NB NN p s | T| VvV |w]|zz
(mm)
20 238008 | 5 M8x125| 17 | 15 | M22x15 | 1/8 | 81| 95| 45 | 65 | 138
25 258 058 | 55 | M10x1.25| 17 | 15 | M24x15 | 18 | 81|11 | 35 | 55 | 143
32 3187055 | 75 | M14x15 | 18 | 15 | M30x15 | 1/8 | 87 |13 | 3 4 159
40 34i80% | 75 | M16x15 | 22 | 21 | M33x2 1/4 | 108 | 16 5 0 183
5

O



Hydraulic Cylinder: 7MPa Series CHN

Axial foot type: CHNL

H GA2 GB2 ]}
[y
A K F ‘GAl Rc P Rc P GB1 Cushion valve
i | |
Efectie H2 width across flals B2/ Cushion valve Cushion valve
H1 width across flats B1
MM —
\ v\ I
a L - - -
E
—/ H K ; /ﬂ 4-gL.D
Width across flats E \_/ | )|
GA3 GB3
bkl ]
NA Air release Air release NB
X S + Stroke X
Y LS + Stroke Y LX
ZZ + Stroke Lz
(mm)
Bore size | Stroke range |Effectivethread| A | B1 [ B2 | D | E | F |GAl|GA2| GA3|GBL1|GB2|GB3| H | HL | H2 | | K
(mm) (mm) length (mm)
20 25 to 300 15.5 18 13 26 10 8 16 10 12 12 8 10 10 41 5 8 31 5
25 25 to 400 19.5 22 17 32 12 10 16 10 12 12 8 10 10 46 6 8 34 55
32 25 to 500 21 24 22 38 16 14 19 11 13 13 10 10 53 9 40 75
40 25 to 500 21 24 24 41 18 16 21 12 17 17 11 16 16 54 10 11 48 7.5
(mm)
Bcz:;\emsi)ze LD | LH | LS | LT | LX | LZ MM NA | NB P S T \Y, W X Y Y4
20 7 25 121 | 5.5 40 55 M8x1.25| 17 15 1/8 81 95| 45 6.5 20 9 151
25 7 28 121 | 5.5 40 55 M10x 1.25| 17 15 1/8 81 | 11 3.5 5.5 20 9 156
32 7 30 133 | 6 45 60 M14 x 1.5 18 15 1/8 87 | 13 3 4 23 9 172
40 9 35 158 | 6 55 75 M16 x 1.5 22 21 1/4 | 108 | 16 5 0 25 11 198
6

O
2



Series CHN

Dimensions

Front flange type: CHNF

Width across flats B2

O
:

Cushion valve T V RcP MM Width across flats B1 GA2 Rc P RcP GB2 NN
H2 GA1l Cushion valve Cushion valve GB1
| |-
H1 /7<
i |
Y
) H i
[a) —
® & ; 9 ' Te 30
o) H N = /
: /|
Width across flats E, _— Air release Air release
Effective
thread FT|GA3 GB3
4-gFD L
— A K| F NA NB
FX H S + Stroke 3
FZ ZZ + Stroke
(mm)
Bore size | Stroke range Bffective thread) o | B | B1 | B2 | D | E | F | FD | FT | FX | FY | FZ | GAl| GA2 | GA3| GB1| GB2
(mm) (mm) length (mm)
20 25 to 300 15.5 18 | 38 | 13 | 26 | 10 8 | 16 7 6 | 51 | 21 | 68 | 10 | 12 | 12 8 | 10
25 25 to 400 19.5 22 | 44 | 17 | 32 | 12 | 10 | 16 7 9 | 53| 27 | 70 | 10 | 12 | 12 8 | 10
32 25 to 500 21 24 | 50 | 22 | 38 | 16 | 14 | 19 7 9 | 55 | 33 | 72 | 11 | 13 | 13 10
40 25 to 500 21 24 | 60 | 24 | 41 | 18 | 16 | 21 | 9 9 | 66 | 36 | 84 | 12 | 17 | 17 | 11 | 16
(mm)
B‘z{gmsgze GB3| H |HL | H2 | | IA K MM NA | NB NN Pl s | T | Vv |w]|zz
20 10 | 11 5 8 | 31 | 238308 | 5 M8x125| 17 | 15 | M22x15 | 1/8 81| 95| 45 | 65 | 138
25 10 | 46 6 8 | 34 | 258308 | 55 | MIOx125| 17 | 15 | M24x15 | 1/8 81| 11 35 | 55 | 143
32 10 | 53 8 9 | 40 | 318305 | 75 | M14x15 | 18 | 15 | M30x15 | 18 87 | 13 3 4 159
40 16 | 54 | 10 | 11 | 48 | 34f800% | 75 | M16x15 | 22 | 21 | M33x2 14 | 108 |16 | 5 0 183
7



Hydraulic Cylinder: 7MPa Series CHN

Rear flange type: CHNG

Width across flats B1 Width across flats B2
MM NN GA2 Rc P Rcp GB2 RcP V T Cushion valve
HL S GA1 /Hshion valve Cushion valvT\ GB1
. W ] a R N N
: €

NS I |

© N
- \ z / >_<
: — N - T
Width across flats E . . —
—_— Air release Air release
Effective
4-gFD

]

1A

oD
©

%N;\
Z

thread 3 | |GA3 GB3
e
A K F NA NB
H S + Stroke FT|H2 FX
ZZ + Stroke Fz

(mm)
Bore size | Stroke range |Effectivethreadl A | B | B1 [ B2 | D | E | F | FD | FT | FX | FY | FZ | GA1 | GA2 | GA3| GB1 | GB2
(mm) (mm) length (mm)
20 25 to 300 15.5 18 | 38 | 13 | 26 | 10 8 | 16 | 7 6 | 51 | 21 | 68 | 10 | 12 | 12 8 | 10
25 25 t0 400 19.5 22 | 44 | 17 | 32 | 12 | 10 | 16 | 7 9 | 53 | 27 | 70 | 10 | 12 | 12 8 | 10
32 25 t0 500 21 24 | 50 | 22 | 38 | 16 | 14 | 19 | 7 9 | 55 | 33 | 72 | 11 | 13 | 13 8 | 10
40 25 t0 500 21 24 | 60 | 24 | 41 | 18 | 16 | 21 | 9 9 | 66 | 36 | 84 | 12 | 17 | 17 | 11 | 16
(mm)
Bfgﬁ nﬁi)ze GB3| H | H1 | H2 | | IA K MM NA | NB NN P S| T |V |w]|zz
20 10 | 41 5 8 | 31 | 2383% | 5 M8x125| 17 | 15 | M22x15 | 1/8 | 81| 95| 45 | 65 | 138
25 10 | 46 6 8 | 34 | 25839 | 55 | M10x1.25| 17 | 15 | M24x15 | 1/8 | 81|11 | 35 | 55 | 143
32 10 | 53 8 9 | 40 | 31:80% | 75 | M14x15 | 18 | 15 | M30x15 | 1/8 | 87 |13 3 4 159
40 16 | 54 | 10 | 11 | 48 | 34f830% | 75 | M16x15 | 22 | 21 | M33x2 14 | 108 |16 | 5 0 183

O
:



Series CHN

Dimensions

Single clevis type: CHNC

Width across flats B1

MM NN GAZ Rep ReP  GBg RcP VvV T  Cushion valve
H1 GA1l Cushion valve Cushion valve GB1
g @CD
Push press fitting
i ’ O i
N v i
g A B | ? ) ) ) N - 38 :‘: =23
SR é
= \ ? A4
L
Width across flats E . .
T | tfective Air release Air release /
thread GA3 EEE
A K F NA NB
i S + Stroke U -0.1
Z + Stroke RR CX-02
ZZ + Stroke ]}
(mm)
Bkt | Siuke Ehge |EEislneed g g0 cD CX | D | E | F |GAL|GA2|GA3|GB1|GB2|GB3| H | HL | |
(mm) (mm) length (mm)
20 25 to 300 15.5 18 | 13 | 1079 6 | 10 | 8 | 16 | 10 | 12 | 12 8 | 10 | 10 | 41 5 | 31
25 25 to 400 19.5 22 | 17 10 ‘3 16 | 12 | 10 | 16 | 10 | 12 | 12 8 | 10 | 10 | 46 6 | 34
32 25 to 500 21 24 | 22 12 1 16 | 16 | 14 19 | 11 | 13 | 13 10 | 10 | 53 40
40 25 to 500 21 24 | 24 16 ‘5o 24 | 18 | 16 | 21 | 12 | 17 | 17 | 11 | 16 | 16 | 54 | 10 | 48
(mm)
B"([Tfmsgze IA K MM NA | NB NN P |RR| S T | U V | W |z | zz
20 238908 | 5 M8x1.25| 17 | 15 | M22x15 | 1/8 |135| 81| 95| 14 | 45 | 65 | 136 | 150
25 25f8 0% | 55 | M10x1.25| 17 | 15 | M24x15 | 18 |145| 81|11 | 15 | 35 | 55 | 142 | 157
32 31f870% | 75 | M14x15 | 18 | 15 | M30x15 | 1/8 |185| 87|13 | 20 | 3 4 | 160 | 179
40 34f80% | 75 | M16x15 | 22 | 21 | M33x2 14 | 225|108 | 16 | 20 | 5 0 |182 | 205

O
S



Accessories (Standard)

Hydraulic Cylinder: 7MPa

Series CHN

Rod end nut Mounting nut
Material: Carbon steel Material: Carbon steel
0° o
2 20
- D S D
H . Hl,
Applicable Applicable
Part no. bore size (mm) d H B © D Part no. bore size (mm) d H B © D
NT-02 20 M8 x 1.25 5 13 15.0 | 125 S0-02 20 M22 x 1.5 8 26 30 26
NT-03 25 M10 x 1.25 6 17 19.6 | 16.5 SO-03 25 M24 x 1.5 8 32 36.9 32
NT-04 32 M14 x 1.5 8 22 254 | 21.0 S0O-04 32 M30x 1.5 9 38 43.9 38
AC-NI-50 40 M16 x 1.5 10 24 27.7 | 23 S0O-05 40 M33 x 2.0 11 41 47.3 41
10

O



Series CHN

Accessory Brackets (Optional)

I-shaped single knuckle joint

Bracket for clevis type

Material: Cast iron

220: 1-02 232: 1-04 4-J counter bore
225: 1-03 240: IHN-04 T\‘
Material: Rolled steel plate Material: Rolled steel plate
>
| @NDH10
MM o
MM @NDH10 < ?9 ] 2
% - '_9“ _;__) === | |
y R ‘ gUns
Al }11» Z A1 U1
L1 L1 NX T @
w ="\
of !
Applicable Applicable
Part no. b"(ﬁrﬁ')ze Air | BE1 | L1 MM R1 | U1 | NDHio | NX Part no. b%ﬁr%l)ze A|B|C|D| U |E|F|G|H|I|J|K|L|M|R
1-02 20 16 | 20 | 36 | M8x1.25(10 | 14 | 9°%% | 933 AD-FI-20| 20 |46|60|22|16| 10%% 30|28 |65|55/10|12| 7 |[M4|55]10
1-03 25 18 | 20 | 38 |[M10x1.25|10 | 14 | 9% | 9 AD-FI-25| 25 |46|60|22|16| 10%% |30|30 |65|55[10[12| 7 [M4[55|10
1-04 32 22 | 24 | 55 |[M14x1.5 [155| 20 | 123 | 16303 AD-FI-32| 32 [56)80|30|16| 120" |36/40|10| 9 [13[12|7 [M5| 7 |12
IHN-04| 40 22 | 24 | 55 |[M16x1.5 [155| 20 | 157" | 1633 AD-CHN-40| 40 |6488|30|24| 1637 |44(43|10| 9 [13]16] 9 |M5|10]12
Y-shaped double knuckle joint Bracket pin
220: Y-02 232: Y-04C Material: Carbon steel
225: Y-03 240: YHN-04
Material: Rolled steel plate Material: Cast iron
QR K] 2-gD drill through c1
=" BIEne e
B —
MM @NDH10 @NDH10 A _
o u - I I Chamfer B
< N\ ) A
AlllUi| =2 A || Uz
L1 L1
Applicable Bore size
Part no. bO(:%nS‘ll)Ze A1 | E1| L1 MM Ri| U1 | NDH1o0 NX [NZ Part no. (mm) A B Ci7 D Cotter pin
Y-02 20 [16[20[36| M8x1.25(12 |14 | 9% | 912 |18 AD-EI-20 20 455 | 355 10 0% 32 32 161
Y-03 25 |18]20[38|M10x1.25(12 [14 | 9°¢™ | 912 |18 AD-EI-25 25 455 | 35,5 10 e 32 | 7%
Y-04C | 32 |22[24|55|M14x15 [13[25 | 1278 | 1633 | 38 AD-EI-32 32 52 | 42 12 35 4 4 % 20l
YHN-04| 40 [22|24[55|Mi6x15 [13 [25 | 15°0 | 16155 | 38 AD-CHN-40 40 60 | 50 16 0638 4
Knuckle pin
220, 825 232 240
Part no.: CDP-1 Part no.: CDP-3 e Part no.: CDPN-4 88
Material: Carbon steel oo Material: Carbon steel &3 Material: Carbon steel ‘?c;’
g5 S )
33 2-93 drill through 2 2-93.2 drill through 5
o B g S
gl g & 7
*l:-—-—---* ! %-E}(i-—-— —G e -
175 19.2 175 4 417 5 a7
1.15 25 1.15 49.7 49.7

Snap ring: C type 9 for shaft

11

O

Cotter pin: 23 x 18l

Cotter pin: 3.2 x 20l



Series CHN
Auto Switch Specifications

Refer to "Best Pneumatics 2" for detailed auto switch specifications.

L

Auto Switches: Proper Mounting Positions and Mounting Heights for Stroke End Detection

D-C7, D-C8 D-H7[1, D-H7[w, D-H7[JF, D-H7BAL
Approx. Hs 8.5 Approx. Hs 8.5 M Auto switch
i H _ |_| ‘u
T =S e 15
_ 1
Al 26 | \Autoswitch [B] - A | B
(36)
ODimensions inside ( ) are for D-H7LF.
D-C73C, D-C80C D-H7C
Approx. Hs Approx. Hs 8.5 Auto switch
- - 3 i [&
Al 382 | % B
D-B5, D-B6, D-B59W D-A3, D-G3, D-K3
Approx. Hs 12 Auto switch Approx. Hs 36 Auto switch
v
i [
_ @ | _
S % .
x
Al 33 6.5 B A
D-G5, D-K5, D-G5[ W, D-G5BA, D-K9W, D-G59F, D-G5NT D-A44
Approx. Hs 12 Auto switch Approx. Hs
] o |
\
ST e e s e
N
all sz | N B A
Proper auto switch mounting positions (mm)
D-C70] D-H7O D-G39
D-C80 D-B50I D-H7C D-K39
Bore size D-C73C D-B64 D-H7OW DL AT ey D-A30
(D) D-C80C D-H7BAL D-Ad4
A B A B A B A B A B A B A B
20 19 11 12.5 45 | 175 95 | 14 6 16 8 15.5 75 | 12 4
25 205 | 105 | 14 4 19 9 15.5 55 | 175 75 | 17 7 135 35
32 235 | 125 | 17 6 22 11 18.5 75 | 205 95 | 20 9 16.5 55
40 285 | 185 | 22 12 27 17 235 135 | 255 155 | 25 15 215 115
Auto switch mounting heights (mm)
D-C7
D-C8 D-B5 D-G39
D-H7 D-B6 B-C73C D-K39
Bore size D-H7OW D-B59W pRosie D-A33 D-A44
(mm) D-H70F D-G5NTL AR D-A34
D-H7BAL
HS HS HS HS HS
20 25 28 275 62 72
25 27 30 29.5 64 74
32 30.5 335 325 66 76
40 345 375 37.0 705 80.5
12
ZS\NC



Hydraulic Cylinder
Auto Switch Specifications

/\ Specific Product Precautions

: Be sure to confirm auto switch precautions on pages 29 through 31 before handling auto switches. 1
Auto Switch Common Specifications Auto Switch Hysteresis

- - - Hysteresis is the distance between the position at which piston
Type Reed switch Solid state switch movement operates an auto switch and the position at which
Leakage current None séwir_e: .11)0% orI less movement in the opposite direc‘tion turns the switch OFF. This

“Wire: 2maA or 1ess hysteresis is included in part (one side) of the operating range.
Operating time 1.2ms 1ms or less™®
Impact resistance 300m/s? 1000m/s?
Auto switch

Insulation resistance | 50MQ or more at 500VDC (between lead wire and case)

= m .
Withstand voltage 1500VAC for 1min. 1000VAC for 1min. i 7 I g

(between lead wire and case) | (between lead wire and case) [
Ambient temperature —10° to 60°C Switch T
[1) Electrical entry: Connector types (C73C and C80C) are 1000VAC for 1 minute ope_rgting <:

(between lead wire and case). position Hyst Note) (Reed switch: 2mm or less )
steresis - )
[02) Except solid state switch with timer (G5NTL). (ON) Y Solid state switch: Imm or less
Lead Wire Length
. . . . Switch T
Lead wire length indication operating I
position

(Example) (OFF)

D_B 54 Note) The amount of hysteresis varies with the operating environment and is

not guaranteed. Consult with SMC regarding applications in which
hysteresis becomes a problem.

Lead wire length

Nil 0.5m
L 3m
Z 5m

NU None

OApplicable only to
connector type switch
D-00OC.

Note 1) Lead wire length: Z (5m) applicable auto switches
Reed: D-B53, D-B54, D-C73(C), D-C80C
Solid state: All types are produced upon receipt of order
(standard).

Note 2) The standard lead wire length is 3m for solid state switches
with timer and water resistant 2-color display solid state
switches (0.5m is not available).

Part nos. for lead wire with connector
(applicable only to connector type)

Part no. Lead wire length
D-LCO05 0.5m
D-LC30 3m
D-LC50 5m

13

O
<



Contact Protection Boxes: CD-P11, CD-P12

Auto Switch Specifications

<Applicable switch models>

D-C7, D-C8, D-C73C, D-C80C

The above auto switches do not have built-in contact protection circuits.
1. The operating load is an induction load.

2. The length of wiring to the load is 5m or more

3. The load voltage is 100VAC or 200VAC.

A contact protection box should be used in any of the above
conditions. Otherwise, the life of the contacts may be reduced. (They may
stay on continuously.)

Furthermore, even in the case of a type having an internal contact
protection circuit (D-A34, D-A44, D-B54, D-B64, D-B59W), if the length of
the wiring to the load is extremely long (30m or more) and a PLC
having a large rush current is used, consult with SMC as a contact
protection box may be necessary.

Contact protection box specifications

Part no. CD-P11 CD-P12
Load voltage 100VAC 200VAC 24vDC
Maximum load current 25mA 12.5mA 50mA

DOLead wire length — Switch connection side: 0.5m
Load connection side: 0.5m

O

Internal circuits
Lead wire colors inside [ ] are those prior to conformity with IEC standards.

CD-P11
f—— -

O— ouT

|
|

H coil 1 Brown [Red]
Surge absorber: X |
|

Blue [Black]
CD-P12

OUT (+)
Brown [Red]

ouT ()

Blue [Black]

Dimensions

L

cDP Ll ? %
[«
VOLT 7! @

T
o
=
=
@

4.4 E
©
—
23.

38
46

Connection

To connect a switch unit to a contact protection box, connect the lead wire
from the side of the contact protection box marked SWITCH to the lead
wire coming out of the switch unit.

The length of the lead wires between the switch unit and contact protection
box should be no more than 1m, and they should be placed as close
together as possible.

SVIC 14



Hydraulic Cylinder
Auto Switch Specifications

Auto Switch Internal Circuits

Lead wire colors inside [ ] are those prior to conformity with IEC standards.

Reed switches

! Red ! Green

Red

Contact
D-C73 D-C73C protection box
CD-P12
e Brown  .o-oo--o-o
Contact ~oouT +) : LED ' [Red] + Choke coil;
protection 1 Brown [Red] : ' H o 0UT (+)
box : : : : i Brown [Red]
: -~ s . v X-Zener !
CD-P11 :-’E H H diode
CD-P12 —00UT (1) § : ' :
Loeoo-eo-! Blue [Black} 8 H . L 00UT (1)
L iiceioo.... Blue Looe-oo---.! Blue[Black]
D-C76 [Black]
CTTTUEDT T + DC (+)
' LED '
; S Brown [Red] o D-B59W Choke col
: . . g oUuT (+)
12 |\ Reverse : OUT 9] . Brown [Red]
1 Z(|| current 1 Black 5 Reed switch " diode
1 2(]) prevention: [white] 8
' g diode H — -
L. : DC () = 35
Blue ©=
[Black] £ g LED
D-C80, D-C80C = Ut
Blue [Black]
“Contact } ' . .
= t 0 0UT (¥) .
g protection  grown (Red] Indicator light: Display method
' & box ' ON
=1 e ; v
'8 coPLL ¢ © j :
4 ~o OUT ( Operati H H
S CD-P12 _: Blue [Black] Operating range | E E OFF
D-B53 Elndicatori :

Reed switch LED
OUT () o———= R MN—1——o0uT(+)

Blue [Black] Resistor Brown [Red] Optimum operating position
~
1
Zener diode
D-B54
Zener diode
Choke coil
Reed switch
OUT () ~ 0— 0 OUT (+) ~
Blue [Black] Resistor LED Brown [Red]
N
Surge absorber
D-B64
Choke coil
OUT (5) ~o— OUT () ~
Blue [Black] Reed switch Brown [Red]
Surge absorber
D-A33

OUT () o— o OUT (+)
Terminal No. 2 ' Resistor i\ Terminal No. 1
i NI :
| - :
' Zener diode H
D-A34, D-A44
CoTT Choke coil .

Lo OUT (+) ~
H Terminal No. 1

15 ZSs\C



Auto Switch Specifications

Lead wire colors inside [ ] are those prior to conformity with IEC standards.

Solid state switches

of switch

Main circuit

I—Kl—i—o DC (+)

D-H7A1 D-H7PW
H DC (+)
: ; glg)v(;n) [Red] : Brown [Red]
: é s " oouT HCE ouT
=] ' Black [White] s Black [White]
Lo |E@s : : :
CoLE : : é% :
' 5 E to DC()
: : LR LR ' Blue [Black]

DC (-)
Blue [Black]

D-H7BAL, D-H7BW

: i Brown [Red]
HEs i
our 1 .
Terminal No. 2 |85 H
V= :
: s——-0 OUT (-)

Main circuit
of switch

ouT
Black [White]

DC ()
Blue [Black]

Main circuit
of switch

Brown [Red]

OUT (normal output)
Black [White]

——©oDiagnosis OUT
(diagnostic output)
Orange [Yellow]

DC (+)
Brown [Red]

-0 OUT (+)
Brown [Red]

© OUT (-)
Blue [Black]

0 OUT (+)
Terminal No. 1

0 OUT (-)
Terminal No. 2

ouT

of switch

O

of switch

Main circuit

Black [White]

DC(-)
Blue [Black]

p————o OUT (normal output)

O Diagnosis OUT

DC (+)
Brown [Red]

Black [White]

(diagnostic output)
Orange [Blue]

DC ()
Blue [Black]

O
:

16



Hydraulic Cyl

iInder

Auto Switch Connections and Examples

Basic Wiring

Solid state 3-wire, NPN Solid state 3-wire, PNP Solid state 2-wire Reed
fm e memmemeo , Brown fm e memmemeo , Brown [ ! Q ® jmm———-
| | [Red] ; | ' [Red] ' :

| - O | - i i Main ® :

! Main Black ® ! Main Black ®: circuit |

| Loty [ vl © @ 7o | oftet [ g Toi Lot g

! | o : | o E TBlue :

' " Blue ' " Blue ittt L.
""""""""" [Black] TTTTTTTTTTTTTTT Black] [Black]

(Power supplies for switch and load Brown

are separate) Brown C[Red] —
v L[ main ; ®:

! : | circui ! -

E (!\lllrgmt 1| of switch E CF

1 [ of switch ' ' !
P ; :

Examples of Connection to PLC

[Black]

switch 2-wire

etc.

Brown
__________ ,[Red]
.
Indicator !
light, '
protection| 1 ~
circuit, '
etc. '
—e-------.Blue
[Black]
__________ Brown
! [Red]
Indicator !
light, '
protection| 1 ~
circuit, '
O

[Black]

Sink input specifications

3-wire,

2-wire

NPN  Black
[White] Input

Blue
[Black]

PLC internal circuit

Source input specifications

3-wire, PNP Black
[White] Input

Blue ) COM

[Black]

2-wire
Blue

Black] Input:
[ ] _Inp! o

Brown
[Red]

Connection Examples for AND (Series) and OR (Parallel)

PLC internal circuit

The connection method will
vary depending on the PLC
input specifications. Connect
accordingly.

3-wire

AND connection for NPN output

(using relays)
B

AND connection for NPN output
(performed with switches only)

OR connectio

n for NPN output

rown S ® Brown
[Red] o’ [Red]
- Black - Black ; Black _-_I
B ey Swich 1 sk Bl
BIBluke 1® contact | ® |B|ulf o ® 1® Blue e ® 1®
(Blackl  Brown [Red] TO o [Black] gopn To [BlacK] groywn To
. Black _ [Red]|giack : [Red] Black
. | . w2 ac.
hit hit
Blue (White] Blue [White] Blue (Whie]
[Black] [Black] [Black]

2-wire with 2-switch AND connection

When 2 switches are con-
nected in series, the load

Switch 1

Load voltage at O

Example:

17

may malfunction because
the load voltage will decline
when in the ON state.

The indicator lights will light
up when both of the

BE“Je . switches are in the ON
[Black] state.
_ Power suppl Residual
N= voltaggp v - voltage X 2 pes.
=24V -4V x 2 pcs.
=16V

Power supply is 24VDC.
Internal voltage drop in switch is 4V.

The indicator lights will light up when
both switches are turned ON.

2-wire with 2-switch OR connection
Flggmn QO ® <Solid state>
When 2 switches
are connected in
Blue ® parallel, malfunction
[Black] © May occur because
[B':\[g‘(’j"]n the load voltage will
increase when in
Blue
[Black] the OFF state.
_ Leakage Load
Load voltage at OFF = curre%t X 2 pcs. X impedance

=1mAXx 2 pcs. x 3kQ

=6V
Example: Load impedance is 3kQ.

Leakage current from switch is ImA.

r
Z

SVC

<Reed switch>

Because there is no current
leakage, the load voltage
will not increase when
turned OFF. However,
depending on the number
of switches in the ON state,
the indicator lights may
sometimes grow dim or not
light up because of the
dispersion and reduction of
current flowing to the
switches.



Series CHN
Technical Data 1

Bore Size Selection

| Relationship among generated force, bore size and pressure |

| Selection standards

A cylinder's generated force will be lower than the theoretical output due to the
following factors.

(1) Sliding resistance on the cylinder bearings, seals, etc.

(2) Pressure loss in hydraulic equipment and piping

(3) Frictional resistance in moving parts of machinery
It is necessary to select bore sizes considering these factors.
When a cylinder is nearly at rest, the relation of generated force, bore size and
pressure can be expressed with the following formulas.

Fp1:Generated extension force of cylinder (N)
Fp2:Generated retraction force of cylinder (N)
Fp1 = p X Ffy oo Formula (1) | £f,- Theoretical extension output (N)
Fp2= 2 X Ffa oo Formula (2)| Ft,: Theoretical retraction output (N)
P: Operating pressure (MPa)
D: Bore size (mm)
Ffo :E(Dz —d?) x P--Formula (4)| d: Piston rod diameter (mm)

4 ul: Cylinder extension load pressure coefficient 0.9
u2: Cylinder retraction load pressure coefficient 0.9

Ff1 =% D2 X P -oeeeeeees Formula (3)

[ Piston speed J

To find the cylinder bore size that is
required to operate:
* On a load weight of 2000N.

[Determine load factor}

* With operating pressure of 5MPa, and @
» The operating piston speed when the
cylinder is extended at 150mm/s. [ Determine required }
cylinder output

U

Temporarily decide the bore
size based on conditions such
as operating direction and
operating pressure from the
theoretical output table.

&

Check generated
force of cylinder

‘YES

[ Bore size selected }

The ratio of the load to the theoretical output is the load
factor. It is imperative to understand the relationship
between this load factor and the piston speed in order
to make the proper bore size selection. Use the table
below as a guide for understanding the correlation
between load factor and piston speed.

Piston speed (mml/s) Maximum load factor
8to 100 70%
101 to 200 30%
201 to 300 10%

150mm/s (initial condition)

30% (from the table above)

Load weight: 1000N, Load factor: 30%
Required cylinder output: F = 1000/0.3 = 3333(N)

According to the theoretical output table, the
bore size that satisfies the required cylinder
output F with operating pressure 5MPa when
the operating direction is OUT is g32.

Formula (1) Fp1=p1x Ff1=0.9 x 4020
=3618(N) > F(3333N)

Series CHN Theoretical Output ouT &
Unit: N
Bore size Rod size Operating Piston area Operating pressure (MPa)
(mm) (mm) direction (mm?) 1 3 5 7
20 10 ouT 314 314 942 1570 2198
IN 235 235 705 1175 1645
o5 12 ouT 490 490 1470 2450 3430
IN 377 377 1131 1885 2639
32 16 ouT 804 804 2412 4020 5628
IN 603 603 1809 3015 4221
20 18 ouT 1256 1256 3768 6280 8792
IN 1002 1002 3006 5010 7014

19

O
=



Series CHN

Technical Data 2

Stroke Selection (Maximum Usable Stroke Based on Buckling Strength)

Refer to stroke range limit charts regarding rod buckling due to load
weight.

The values in these tables indicate the maximum stroke that can be
used in a situation when air is being supplied while the cylinder is
stopped in an intermediate position by a) an external force acting on

the piston rod and/or b) by an external stopper.

Since the maximum usable stroke varies depending on the diameter
of the piston rod and operating conditions, verify the applicability
using the stroke range limit charts.

SEEEAOR [N Stroke range limit charts: Bore size 220, 825, 832, 40

O
S

Symbol|  Mounting orientation  [Symbol| Mounting orientation  [Symbol| Mounting orientation  [Symbol| Mounting orientation
@ : ® F 2
F F F
o | =0+ 0| =TF="= 0| === |o[f=="
wis s wesd
<= <= <=
@ ;WEZ%E @ EZEEE— %ZEEE—
Bore e 920 Bore e g
800 6 D 1® Z 6 O @ 8) N
(DWS N N N
N
500 N N N \\
N N NN
\\\ N NG N
£ \ NN N
3 NN
E NN N
% \\ N \\
7 N N
N N
N N
100 NC AN
NC N\
\\
N
50
0.05 0.1 0.5 1 2 0.05 0.1 05 1 2
Load (kN) Load (kN)
Bore e g Bore e 940
800 N 8 T 6 N5 4 8 116G
N \K
500 @) ®\\
- I Nl \\\‘
. \\ \ \\
E N N )
Y \ N
n \
A y
100
50
0.05 0.1 0.5 1 2 3 0.1 0.05 0.5 1 2 5
Load (kN) Load (kN)
20



Series CHN

Technical Data 3-1

Cylinder Cushion Selection

Procedure

-
Find the inertial energy E1 for
the load at the cushion seal

Lcontact point.

rFind the external force F applied in |
the axial direction of the cylinder at
the cushion seal contact point.

.

U

( N\
Convert the external force
calculated in step 2 above into
energy E2 using the external
force energy conversion chart.

. J

U

From the maximum absorbed
energy-pressure chart, find the
maximum absorbed energy E for
the corresponding cylinder.

. J

e 3

Lower the
set pressure

A\Caution

Use a cylinder cushion within the maximum absorbed energy
range.

When used outside the allowable range, it may cause
damage to cylinders and peripheral devices.

YES YES

Reduce
inertial load

Use larger
bore size

NO NO NO
‘YES ‘NO
[ Available for use ]
Install a shock absorber

| Calculation Example |

<Design conditions> 3. Convert the external force calculated in step 2 into
Cylinder: CHN25 energy E2.

Set pressure P1: SMPa In the "External force and energy conversion chart" on
Load weight M: 50kg page 22, draw a vertical line from the value of F (=
Piston speed V: 0.3m/s (at the cushion seal contact point) 245N). The point where this line intersects with the
Load transfer direction: Downward 6: 30° diagonal line (0.27J) is the energy caused by external

(External force applied to the cylinder is gravity only). force.

Operating direction: Out
Gravitational acceleration g: 9.8m/s?

<Calculation>

1. Load inertial energy Ei1 at the cushion seal

contact point
E1=MV?%2 =50 x 0.3%/2 = 2.25]

2. External force F applied in axial direction of the
cylinder at the cushion seal contact point
F = Mg sin 8 =50 x 9.8 x sin 30° = 245N

21

E2=0.27]

4. Find the maximum absorbed energy E for a cylinder.
In the "Maximum absorbed energy and pressure chart”
on page 22, draw a vertical line from the set pressure
5MPa. The point where this line intersects with the line
for @25 (3.7J) is the maximum absorbed energy.

E=3.7J

5. ConfirmthatE1 + E2< E

Ei1+E2=2.25+0.27 =2.52]
SinceE=3.7),E1+E2<E
Therefore, the cylinder cushion is available for use.



Series CHN
Technical Data 3-2

Maximum Absorbed Energy Chart & External Force and Energy Conversion Chart at Cushion Seal Contact Point

Maximum absorbed energy pressure and chart in terms of cushion performance characteristics

Be sure to keep the combined values of kinetic energy of the load operated by the cylinder and the energy generated by the external force within
the values that are shown in the bottom chart.

External force and energy conversion chart at cushion seal contact point

10
/
)4
//
© /
> 1/
L
my
//
)4
0.27 (<= |=|=[+ == - = -//
/ 1
]
1
1
1
0.1 Y. 1
50 100 1000 10000
External force (N)
Maximum absorbed energy and pressure chart
20
— |
—L_ |
— \
10
\‘
\\
~— \
2 N AN
2 B ~N Jo40 |
@ A e e o I it
% T~ \\
i T \ 232
g \\
£
3
= \\ 225
1 920_|
0.5
2 3 4 5 6 7
Set pressure (MPa)

22



Series CHN
Technical Data 4

Piston Speed, Required Fluid Volume, and Piping Size Selection

This information is intended to help you find the required fluid volume and piping size to operate a

cylinder at a specified speed.

Relationship between piston speed
and fluid volume

=TT 2 6

Q1 vy D EUE-IW ............... Formula (1)
=T 2_ A2 6

Q2 v (D2—d?) DW ....... Formula (2)

Effective inside diameter of piping

Q
% dinzx 10-* 60

V= Formula (3)

Qi:
Qz:

D : Bore size (cm)
d : Piston rod diameter (cm)

L : Piston speed

(mm/s)

V : Fluid flow velocity (m/s)
Q : Fluid volume (I/min)
din

Required fluid volume for extension (I/min)
Required fluid volume for retraction (I/min)

. Effective inside diameter of piping (mm)

In general, it is necessary to select a piping
diameter that will not allow the fluid flow
velocity to exceed the values shown in the
chart below.

If the fluid flow velocity exceeds this value,
turbulent flow and overheating may occur in
conjunction with pressure loss.

Fluid flow velocity
Rubber hose
Steel piping

5m/s
4.5m/s

1/2" (912.7 ) rubber hose

5/8" (815.3) rubber hose

212 rubber hose 215 3/4" (919) rubber hose
210 213 217
3/8" (#9.5) rubber hose LS N \\\\\\ AN 30
ANEAY AR AR Y \
ﬂg . AY \\ \\ \\\\ \\\ \ \\
\ AR Y AY AR AT Y AY
AY \ \ ALY ATAY \
ANAY \ \ AYANAY AY
\ AYER Y AY ARY AT AN AY
28 \ YIRS LNRNRN \ /
A\ \ K N AN A\
\ \ A\ LN NN [NRNRY 20
\ AY \ AR Y AN YAY
\ AYAY AY ARY AAYAY
\ \ LR RN ANRNRY
AY AN A SR \ AR AATAY
I \\‘ | * \\ \\ \\ * \ \\\\
© [NERNRN LU KN \
A3 \ [UERN (S IRNY \
1/4" (26.3) rubber hose P, | NN O NN
AY
26 \\ A \ \\ \\ \\ \\ \\\\ 12
AY Y AN Y A AN
LN 1S \ [OERNERN AN ‘
NN \ NN N AN SN
N NN Y 1‘0 Q/ 1
\ A AN LSRR W
LSRN \\ & ) v 9 — ¢
® \ \\ \\ \ \\ \\ ‘ E ,\g’
o S S e B 8 E 57
\ PN \ ) A | = Q
N MEA \ \\ \\ \\ \\ ~ 0\ q/
R N . \ RS 7 Q o/ %)
3 S . \ [N ‘ < Q} )
\ (NN . \ \\ \\ \ - b Q
T 6 = ST
[ . \ LSRN D 1)
\ \ . \ LR RN ‘ o % @
. Y AR ) SIS (T O N
@4 (steel pipe I.D.) \ NN \ [SERY o »H
v < 5 O v
N N o (approx. 4.5) / 5 ¢
. AACNIDIS. WD W S P b et st I - |-- b@ Q
\ NN 3 A ./\,
\ \ RN \S \Q (0\
\ \ [EENEN S \ &
\ \ RS \\ ‘\ 4 () f ‘\QJ
\ AY
0 S : oo . QO Q
\ L A S v
\ ! N ‘\ b@ Q
\\ A\l AN \ Q /&
\Y N N R .
N3 —4
. RS LERY \ @) <
\ \ AN X
\ ! \ AN A 0
\ I \ v Q
\ I \ LSS A\
3 N S
A \ LN N
| \ LYY / LD
\ \ A} %
i\ \ N / C)
N \ 2 /
AY
s '
0 \\ \\
! \ \
¥ \ \
Yy 4 328 2 20 30 40 50 60 80 100 200 300
General range of rubber hose (max. 5m/s)
General range of steel pipe (max. 4.5m/s) L. . .
Flow velocity inside pipe (m/s) Piston speed (mm/s)

How to read the chart:

Example) The required flow rate to operate a g40 cylinder at a speed of 60mm/s is approximately 4.5l/min.
When a 26 (1.D.) steel pipe is used for piping, the flow velocity in the piping will be approximately 2.7m/s.

ZS\NC

23



25

Series CHN
Safety Instructions

These safety instructions are intended to prevent a hazardous situation and/or
equipment damage. These instructions indicate the level of potential hazard by a
label of "Caution", "Warning"”, or "Danger”. To ensure safety, be sure to
observe ISO 4413 Note 1), JIS B 8361 Note 2) and other safety practices.

A Cau [ | ON : Operator error could result in injury or equipment damage.

Awarﬂ | n g * Operator error could result in serious injury or loss of life.

A Dang @I  Inextreme conditions, there is a possible result of serious injury or loss of life.

Note 1) ISO 4413: Hydraulic fluid power — General rules for the application of equipment to transmission and control

systems

Note 2) JIS B 8361: General Rules for Hydraulic Equipment

/A Warning

. The compatibility of hydraulic cylinders is the responsibility of the person who

designs the hydraulic system or decides its specifications.

Since the products specified here are used in various operating conditions, their compatibility with the
specific hydraulic system must be based on specifications or after analysis and/or tests to meet your
specific requirements.

. Only trained personnel should operate hydraulic machinery and equipment.

Oil hydraulics can be dangerous if an operator is unfamiliar with it. Assembly, handling, or repair of
hydraulic systems should be performed by trained and experienced operators.

. Do not service machinery/equipment or attempt to remove components until

safety is confirmed.

1. Inspection and maintenance of machinery/equipment should only be performed after confirmation of
safe locked-out control positions.

2. When equipment is to be removed, confirm the safety process as mentioned above. Cut the oil supply
pressure and electric power for this equipment and confirm that there is no pressure in the system.

3. Before machinery/equipment is restarted, take measures to prevent shooting-out of cylinder piston
rod, etc., and proceed with caution.

. Contact SMC if the product is to be used in any of the following conditions:

1. Conditions and environments beyond the given specifications, or if product is used outdoors.

2. Installation on equipment in conjunction with atomic energy, railway, air navigation, vehicles, medical
equipment, food and beverages, recreation equipment, emergency stop circuits, press applications, or
safety equipment.

3. An application which has the possibility of having negative effects on people, property, or animals, and
therefore requires special safety analysis.




Series CHN
Hydraulic Cylinder Precautions 1

Be sure to read before handling.

Al

AMAWarning

1.There is a danger of sudden erratic action

AWarning

9. Consider the action of the system when

Design

by air cylinders if sliding parts of machinery
are twisted, causing changes in forces to
OCcur.

In such cases, human injury may occur, e.g., by catching
hands or feet in the machinery, or damage to the machinery
itself may occur. Therefore, the machine should be adjusted to
operate smoothly and designed to prevent such dangers.

. A protective cover is recommended to
minimize the risk of personal injury.
If driven objects and moving parts of a cylinder pose a likely

threat of personal injury, design the structure to avoid direct
human contact with that area.

. Securely tighten all of the cylinder's
stationary parts and connected parts so that
they will not become loose.

Especially when a cylinder operates with high frequency or is
installed where there is a lot of vibration, ensure tightening so
that all parts remain secure.

.Cases when a deceleration circuit or shock
absorber may be required
When a driven object is operated at high speed or the load is
heavy, a cylinder's cushion will most likely not be sufficient to
absorb the impact. Install a deceleration circuit to reduce the
speed before cushioning, or install an external shock absorber
to relieve the impact. In this case, the rigidity of the machinery
should also be examined.

. Take into account a possible drop in circuit
pressure due to a power outage.

When the cylinder is used as a clamping mechanism, there is
a danger of work pieces dropping out of it if there is a
decrease in clamping force due to a drop in circuit pressure
caused by a power outage. Therefore, safety equipment
should be installed to prevent damage to machinery and
human injury. Also apply drop prevention measures to
suspension mechanisms and lifting devices.

. Take into account a possible loss of power
supply.

Measures should be taken to protect against human injury
and equipment damage in the event that there is a loss of
power to equipment controlled by air pressure, electricity, or
hydraulics.

. Design circuitry to prevent sudden lurching
of driven objects.

When hydraulic pressure in a cylinder is zero, the driven
object will lurch at high speed if pressure is applied to one side
of the piston. Therefore, equipment should be selected and
circuits designed to prevent sudden lurching because there is
a danger of human injury and/or damage to equipment when
this occurs.

. Take into account emergency stops.

Design the system so that human injury and/or damage to
machinery and equipment will not occur when machinery is
stopped by a manual emergency stop or a safety device
triggered by abnormal conditions such as a power outage.

operation is restarted after an emergency
stop or abnormal stop.

Design machinery so that human injury or equipment damage
will not occur upon restart of operation. In the case that the
cylinder needs to be reset at the starting position, install safe
manual control equipment.

AWarning

1. Confirm the specifications.

The products featured in this catalog are designed strictly for
use in industrial oil hydraulic system applications. If the
products are used in conditions that are outside the range of
pressure and temperature specifications, damage and/or
malfunction may occur. Do not use in these conditions. (Refer
to specifications.)

Consult with SMC if a fluid other than hydraulic fluid is to be
used.

. Intermediate stops

Since hydraulic cylinders are not guaranteed for zero olil
leakage, it may not be possible to hold a stopped position for
an extended period of time.

3.Take surge pressure into consideration.

Use cylinders which can withstand the surge pressures
(maximum allowable pressure) generated in hydraulic systems.
(Refer to specifications.)

Inside cylinders, pressure may be generated that is higher than
the set pressure for the relief valve, e.g., internal pressure due
to load inertia or surge pressure when switching valves.

Consider these factors and determine the operating pressure
so that the pressure generated inside cylinders will be within
the maximum allowable pressure.

Pressure terminology used in this catalog is defined as
follows:

Nominal pressure: Pressure assigned to a cylinder for
convenient identification. It is not necessarily the same as the
operating pressure which guarantees performance under
specified conditions.

Maximum allowable pressure: The maximum allowable value
for the pressure that is generated inside cylinders (such as
surge pressure).

Proof pressure: Test pressure that the cylinder must be able to
withstand without lowering system performance when returning
to the nominal pressure.

Minimum operating pressure: Minimum pressure at which a
horizontally installed cylinder operates with no-load.

4.Take into account compatibility with hydraulic

fluids.
Hydraulic fluid Compatibility
Standard mineral hydraulic fluid Compatible
WI/O hydraulic fluids Compatible
O/W hydraulic fluids Compatible

Water/Glycol hydraulic fluids J

Phosphate hydraulic fluids Not compatible

OConsult with SMC.

26



Series CHN

Al

A\ Caution

1. Operate within the limits of the maximum
stroke.
The piston rod will be damaged if operated beyond the
maximum stroke. Refer to the stroke selection on page 20 for
maximum strokes.
2. Operate the piston within a range that will
prevent impact damage from occuring at the
stroke end.

Ensure a safety margin so that damage will not occur when the
piston, having inertial force, stops by striking the cover at the
stroke end.

Take load factors and piston speed on page 19 into
consideration and determine the operability by referring to the
chart under "Selection Standards".

3.Use a flow control valve to adjust the
hydraulic cylinder drive speed, gradually
increasing from a low speed to the desired
speed setting.

4. Provide intermediate supports for long stroke
cylinders.

Provide intermediate supports for cylinders with long strokes to
prevent piston rod damage due to sagging of the piston rod,
deflection of the tube, vibration, and external loads.

A\Caution

1. Make sure to align the axis center of the
piston with the load and direction of
movement when connecting.

When not properly aligned, twisting of the piston rod and tubing
may occur, and damage may be caused due to wear on areas
such as the inner tube surface, bushings, piston rod surface
and seals.

Allow for decentering of the axis either by aligning the axis
center or using a floating joint.

2. When an external guide is used, connect the
piston rod end and the load in such a way
that there is no interference at any point
within the stroke.

3. Do not scratch or gouge the sliding parts of
the cylinder tube by striking or grasping it
with other objects.

Cylinder bores are manufactured to precise tolerances, so that
even a slight deformation may cause faulty operation.

4. Do not use until you can verify that equip-
ment can operate properly.

Following mounting, repairs, or conversions, verify correct
mounting by conducting suitable function and leakage tests
after piping and power connections have been made.

5. Instruction manual
The product should be mounted and operated only after
thoroughly reading the manual and understanding its contents.
Keep the instruction manual readily available for easy reference
as needed.

Be sure to read before handling.

Selection

Hydraulic Cylinder Precautions 2

A\ Caution

1. Preparation before piping

Before piping is connected, it should be thoroughly flushed out
with air or water to remove chips, cutting oil and other debris.

2.Wrapping of sealant tape
When screwing together pipes and fittings, be certain that chips
from the pipe threads and sealing material do not get inside the
piping.
Also, when sealant tape is used, leave 1.5 to 2 thread ridges
exposed at the end of the threads.

Wrapping direction

3. Set up so that air cannot accumulate inside
piping.

ACautlon

1. Readjust using the cushion needle.

Cushions are adjusted at the time of shipment. However, the
cushion needle on the cover should be readjusted when the
product is put into service, based on factors such as the size of
the load and the operating speed. When the cushion needle is
turned clockwise, the restriction becomes smaller and the
cushion's effectiveness is increased.

2. Do not operate with the cushion needle fully
closed.

This will contribute to the generation of surge pressure, and the
cylinder or equipment can be damaged.

A\ Caution

1. Operate after opening the air release valve
and completely releasing any internal air.
Residual air can cause a malfunction.

2.When adjusting the air release, do not loosen
the plug too much.

Use caution, since loosening the plug too much may cause it to
fly out or fluid to blow out, posing a danger of human injury.

21 & S\NC



Series CHN
A Hydraulic Cylinder Precautions 3
Be sure to read before handling.

AWarning

1. Perform maintenance according to the proce-
dures indicated in the instruction manual.
Improper handling and maintenance may cause malfunctioning
and damage of machinery or equipment to occur.

2. Removal of equipment

When machinery is removed, first ensure that there are
measures in place to prevent the fall or sudden, erratic
movement of driven objects and equipment. Then cut off the air
supply and electric power, and reduce the pressure in the
system to zero.

When machinery is restarted, proceed with caution after
confirming measures to prevent cylinder lurching.

A\ Caution

1. Perform periodic maintenance on filters
installed in a hydraulic system in order to
keep the fluid clean.

If the fluid used in hydraulic cylinders contains foreign matter,
parts such as the piston seals and rod seals will be damaged.

Hydraulic Fluid

AWarning

1. Use clean fluid.

Do not use deteriorated fluid or fluid containing foreign matter,
moisture or corrosive additives, as this can cause the
malfunction and damage or corrosion of parts.

A\Caution

1. Install hydraulic fluid filters.

Provide your hydraulic system with hydraulic fluid filters with a
filtration degree of 10mm or finer.

Refer to SMC's hydraulic filter specifications.
2. Use the product within the specified range of

fluid and ambient temperature.

Take measures to prevent freezing, since moisture in hydraulic
fluid will freeze at 0°C or below, and this may cause damage to
seals and lead to a malfunction.

3. Use hydraulic fluid with a viscosity grade
equivalent to ISO VG32 or VG46.

AWarning

1. Do not use in environments where there is a
danger of corrosion.
Refer to the construction drawings for cylinder materials.

2.Install a protective cover if the product is to
be used in a dusty environment or where it
will be exposed to chips and spatter.

ZS\NC N



Al

Series CHN

Be sure to read before handling.

D

Auto Switch Precautions 1

AWarning

1.

2

29

Confirm the specifications.

Read the specifications carefully and use this product
appropriately. The product may be damaged or malfunction if it
is used outside the range of specifications for current load,
voltage, temperature, or impact.

.Take precautions when cylinders are used

close together.
When two or more cylinders with auto switches are lined up in
close proximity to each other, magnetic field interference may
cause the switches to malfunction. Maintain a minimum cylinder
separation of 40mm.

. Monitor the length of time that a switch is ON

at an intermediate stroke position.

When an auto switch is placed at an intermediate position of
the stroke and a load is driven at the time the piston passes,
the auto switch will operate, but if the speed is too great the
operating time will be shortened and the load may not move
properly. The maximum detectable piston speed is:

Auto switch operating range (mm)

V(mm/s) =
Load operating time (ms)

x 1000

In case of a high piston speed, it is possible to extend the
operating time of the load by using an auto switch (G5NT) with
a built-in off delay timer (approximately 200ms).

. Keep wiring as short as possible.

<Reed switches>

As the length of the wiring to a load gets longer, the rush

current at switching ON becomes greater, and this may shorten

the product’s life. (The switch will stay ON all the time.)

1) For an auto switch without a contact protection circuit, use a
contact protection box when the wire length is 5m or longer.

2) Even when an auto switch has a built-in contact protection
circuit, if the lead wire length is 30m or more, the rush
current cannot be adequately absorbed and the life of the
switch may be shortened. Contact SMC, as it is also
necessary in this case to connect a contact protection box to
extend the switch life.

<Solid state switches>

3) Although wire length should not affect switch function, use a
wire 100m or shorter.

. Monitor the internal voltage drop of the

switch.
<Reed switches>

1) Switches with an indicator light

« If auto switches are connected in series as shown below,
take note that there will be a large voltage drop because of
internal resistance in the light emitting diodes. (Refer to
internal voltage drop in the auto switch specifications.)

[The voltage drop will be “n” times larger when “n” auto
switches are connected.]

Even though an auto switch operates normally, the load
may not move.

}—/O—/O*”’J

O

6.
7.

8.

9.

SVC

esign and Selection

« Similarly, when operating below a specified voltage,
although an auto switch may operate normally, the load
may not operate. Therefore, the formula below should be
satisfied after confirming the minimum operating voltage of
the load.

Minimum operating

Internal voltage
voltage of load

Supply voltage — 400 of switch

2) If the internal resistance of a light emitting diode causes a
problem, select a switch without an indicator light (D-C80C]
or D-B64).

<Solid state switch>

3) Generally, the internal voltage drop will be greater with a 2-
wire solid state auto switch than with a reed switch. Take the
same precautions as in 1).

Also, note that a 12VDC relay is not applicable.

Be careful of leakage current.
<Solid state switch>

With a 2-wire solid state auto switch, current (leakage current)
flows to the load to operate the internal circuit even when in the
OFF state.

Operating current of load (OFF condition) > Leakage current

If the condition given in the above formula is not met, it will not
reset correctly (stays ON). Use a 3-wire switch if this
specification cannot be satisfied.

Moreover, leakage current flow to the load will be “n” times
larger when “n” auto switches are connected in parallel.

Do not use a load that generates surge
voltage.

<Reed switches>

If driving a load such as a relay that generates surge voltage,
use a switch with a built-in contact protection circuit or a contact
protection box.

<Solid state switch>

Although a zener diode for surge protection is connected at the
output side of a solid state auto switch, damage may still occur
if the surge is applied repeatedly. When a load, such as a relay
or solenoid, which generates surge is directly driven, use a type
of switch with a built-in surge absorbing element.

Cautions for use in an interlock circuit

When an auto switch is used for an interlock signal requiring
high reliability, devise a double interlock system to avoid trouble
by providing a mechanical protection function, or by also using
another switch (sensor) together with the auto switch.

Also perform periodic maintenance and confirm proper
operation.

Ensure sufficient clearance for maintenance

activities.

When designing an application, be sure to allow sufficient
clearance for maintenance and inspections.



Series CHN
Auto Switch Precautions 2

Be sure to read before handling.

Al

Mounting and Adjustment

AWarnmg

1. Do not drop or bump.

AWarning

5. Do not allow short circuit of loads.

Do not drop, bump or apply excessive impacts (300m/s2 or
more for reed switches and 1000m/s? or more for solid state
switches) while handling. Although the external body of the
switch (switch case) may not be damaged, the inside of the
switch could be damaged and cause a malfunction.

<Reed switches>

If the power is turned ON with a load in a short circuited
condition, the switch will be instantly damaged because of
excess current flow into the switch.

<Solid state switch>

2.Do not carry a cylinder by the auto switch D-J51 and all models of PNP output type switches do not have
lead wires. built-in short circuit protection circuits. As in the case of reed
Never carry a cylinder table by its lead wires, as this may not isrg'tg:gtfsa;fmfadj are short circuited, the switches will be
only cause broken lead wires, but it may cause internal y ; ged. ) o )
elements of the switch to be damaged by the stress. OTake special care to avoid reverse wiring with the brown [red]
. . . . power supply line and the black [white] output line on 3-wire
3. Mount switches using the proper tightening type switches.
torque. o 6. Avoid incorrect wiring.
When a switch is tightened beyongl the range of tl_ghtenlng <Reed switches>
Loéqdu;rhg;eeéﬁ c())ur? ttlrr:g Ostcr{g;/vrslérr:éol:irét;}rt\gnliar:gcggltéxrtsglrt;:::gr:ao); DA 24VDC switch with indicator light has polarity. The brown [red]
tightening torque may cause the switch to slip out of position. ﬁatirmirr?a?ktgr?ilg?l )No.l is (+), and the blue [black] lead wire
(Refer to pages 12 through 17 for detailed auto switch : )
specifications.) 1) If connections are reversed, the switch will still operate, but
. . the light emitting diode will not light up.
4. Mount a switch at the center of the operating

range.

Adjust the mounting position of an auto switch so that the
piston stops at the center of the operating range (the range in
which a switch is ON). (The mounting positions shown in the
catalog indicate the optimum positions at stroke end.) If
mounted at the end of the operating range (around the
borderline of ON and OFF), operation may be unstable.

AWarning

1.

Avoid repeatedly bending or stretching lead
wires.

Broken lead wires will result from installation or applications that
repeatedly apply bending stress or stretching force to the lead
wires.

Also note that a current greater than specified will damage a
light emitting diode and make it inoperable.

Applicable models: D-A33, D-A34, D-A44, D-C730[],
D-B53, D-B54

2) Note however, in the case of 2-color display type auto switch
(D-B59W), if the wiring is reversed, the switch will be in a
normally ON condition.

<Solid state switches>

1) Event if connections are reversed on a 2-wire type switch,
the switch will not be damaged because it is protected by a
protection circuit, but it will remain in a normally ON state.
But reverse wiring in a load short circuit condition should be
avoided to protect the switch from being damaged.

[2) Even if (+) and (-) power supply line connections are
reversed on a 3-wire type switch, the switch will be protected
by a protection circuit. However, if the (+) power supply line
is connected to the blue [black] wire and the (—) power
supply line is connected to the black [white] wire, the switch

2.Be sure to connect the load before power is will be damaged.
applied.
<2-wire type> OLead wire color changes
If the power is turned ON when an auto switch is not connected Lead wire colors of SMC switches have been changed in order to
to a load, the switch will be instantly damaged because of meet NECA Standard 0402 for production beginning September,
excess current. 1996 and thereafter. Please refer to the tables provided.
fi . lati f wiri Special care should be taken regarding wire polarity during the
3. Confirm proper insu ation o wiring. time that the old colors still coexist with the new colors.
Be certain that there is no faulty wiring insulation (such as 2-wire 3-wire
contact with o_ther circuits, ground fault, or improper insulation old New ol New
between terminals). Damage may occur due to excess current (+) Output Red | Brown ) Powersuppy| Red | Brown
flow into a switch. () Output | Black | Blue  PowersupyGND| Black | Blue
4. Do not wire with power lines or high voltage Output White | Black
lines. Solid state Solid state with latch type

Wire separately from power lines or high voltage lines, avoiding

with diagnostic output diagnostic output

parallel wiring or wiring in the same conduit with these lines. — : Old | New e ské BNEW

Control circuits containing auto switches may malfunction due () Power supply] Red | Brown Ppy| Re rown

to noise from these other lines. Power supply GND|  Black Blue Power supply GND|  Black Blue
Output White | Black Output White | Black
Diagnostic output| Yellow | Orange I&izlg(i\t:)gi,?gutput Yellow | Orange

% SNC 30



Al

Series CHN

Be sure to read before handling.

Operating Environment

AWarning

1.

31

Never use in an atmosphere of explosive
gases.

The construction of auto switches is not intended to prevent
explosion. Never use in an atmosphere with an explosive gas
since this may cause a serious explosion.

.Do not use in an area where a magnetic field

is generated.

Auto switches will malfunction or magnets inside cylinders will
become demagnetized. (Consult with SMC regarding the
availability of a magnetic field resistant auto switches.)

. Do not use in an environment where the auto

switch will be continually exposed to water.

With the exception of some models (D-A3[], D-A44, D-G39[],
D-K390), switches satisfy IEC standard IP67 construction (JIS
C 0920: watertight construction). Nevertheless, they should not
be used in applications where they are continually exposed to
water splash or spray. This may cause deterioration of the
insulation or swelling of the potting resin inside switches and
may cause a malfunction.

.Do not use in an environment with oil or

chemicals.

Consult with SMC if auto switches will be used in an
environment laden with coolants, cleaning solvents, various
oils, or chemicals. If auto switches are used under these
conditions for even a short time, they may be adversely
affected by a deterioration of the insulation, a malfunction due
to swelling of the potting resin, or hardening of the lead wires.

. Do not use in an environment with tempera-

ture cycles.

Consult with SMC if switches are to be used where there are
temperature cycles other than normal temperature changes, as
they may be adversely affected internally.

. Do not use in an environment where there is

excessive impact shock.

<Reed switches>

When excessive impact (300m/s? or more) is applied to a reed
switch during operation, the contact point may malfunction and
generate or cut off a signal momentarily (1ms or less). Consult
with SMC regarding the need to use a solid state switch
depending on the environment.

.Do not use in an area where surges are

generated.
<Solid state switch>

When there are units (such as solenoid type lifters, high
frequency induction furnaces, motors) that generate a large
amount of surge in the area around cylinders with solid state
auto switches, their proximity or presence may cause
deterioration or damage to the internal circuit elements of the
switches. Avoid sources of surge generation and crossed lines.

. Avoid accumulation of iron waste or close

contact with magnetic substances.

When a large accumulated amount of ferrous waste such as
machining chips or welding spatter, or a magnetic substance
(something attracted by a magnet) is brought into close
proximity to an cylinder with auto switches, this may cause the
auto switches to malfunction due to a loss of the magnetic force
inside the cylinder.

-~
7

SVC

Auto Switch Precautions 3

AWarning

1. Perform the following maintenance practices

periodically in order to prevent possible dan-
ger due to unexpected auto switch malfunc-
tion.

1) Securely tighten switch mounting screws.

If screws become loose or the mounting position is
dislocated, retighten them after readjusting the mounting
position.

2) Confirm that there is no damage to lead wires.
To prevent faulty insulation, replace switches or repair lead
wires if damage is discovered.

3) Confirm that the green light on the 2-color display type switch
lights up.
Confirm that the green LED is on when stopped at the set
position. If the red LED is on, the mounting position is not
appropriate. Readjust the mounting position until the green
LED lights up.

AWarning

1. Consult with SMC concerning water resist-

ance, elasticity of lead wires and usage at
welding sites.



CHA

@40 ~160

[MapaBNHYecKHid LMNMHAP HU3KOIo faBNeHus

Jlerkuit anoMuHneBbIi Kopryc

VicnonHeHusa ¢ ogHo- 1 {1BYCTOPOHHNM LLTOKOM

BoamoxHoCTb YCTaHOBKI OaT4MKOB NONOXEHNA

Perynupyemoe gemndpupoaHie B KOHLE Xofa

TeXHHYEcKHe XapaKTepHCTHKH

Cpega TapaBnuyeckas XuaKocTs

HomuHanbHoe aasnexue (MMa) 35

WcnbiTatenbHoe aasnexue (MMa) 5.0

MaxkcumanbHo gonyctumMoe aasneHue (Mra) 35

MutumanbHoe paboyee gasnenue (Mra) 0.25

Pabouas Bes fatunkos NonoXeHus: -10~ 80

Temneparypa (°C) C BaTuuKamu nosoXeHus: -10 ~ 60

CKOpOCTb MOpLUHA (MM/c) 8 ~ 300

[emndpuposarue Perynupyemoe

[Jlonyck Ha anuHy xopa (Mm) (no 100)"*%, (101~250)"°, (251~630)"%,
(631~1000)"*, (1000~1500)""*

Wcnonnenus

Mogenb Martepuan runb3bl [uameTp uunuHapa (M)

CHA, CHAW AnioMUHVEBbIIA cnas 40, 50, 63, 80, 100

CHAF, CHAFW Cranb

40, 50, 63, 80, 100, 125, 160

COBMECTHMOCTb C rMAPABNMYECKHMH IKHAKOCTAMH

anpaanmquKaﬂ XWUAKOCTb CoBmecTiMOCTD

MuHepanbHbie riimpasn. Macna | CoBMecTUMbl

Awvynbeun «Boga B macne»

Amynbeun «Macnio B Boge»

Homep ana 3aKa3a

BopaHo-rnukoneBble XugKocTun HecoBmecTuMblI

®occparhl

NMyTb nemndMpoBanns

[uametp MyTb

(Mm) femncpuposaHus (Mm)
40,50 15

63 17

80, 100, 125 20

160 22

D,aTLWIKI/I NONoXeHuA 3aKkasblBatoTCA OTAENbHO.

CTanpapTHbie ANMHbI Xopa

[fnametp CraHgapTHble AnnHbl Xona (M)

unnuHapa (M) | C 1-CTOPOHHUM LUTOKOM | C 2-CTOPOHHIM LUTOKOM
40 25 ~ 1000 25 ~ 800

50 25~ 1000 25 ~ 800

63 25 ~ 1000 25 ~ 800

80 25 ~ 1300 25 ~ 1000

100 25 ~ 1500 25 ~ 1000

125 50 ~ 1300 50 ~ 1000

160 50 ~ 1500 50 ~ 1200

cH[D] A [W|[L][][50]- [100
WcnonHeHus
= | Bes marHutHoro konbua -
D | C marHutHbIM KOMbLIOM % Bl Bes saus uimoka
S| J | HeiinoH (o 60°C)
Tun 3 HeonpeHoBas TkaHb
N (no 110°C)
= | C 0BHOCTOPOHHIM LLTOKOM AE [18yCTopoHHUl AeMnchep
W | C ABYCTOPOHHUM LUTOKOM £ [N | Bes gemnduposanns
E[R| Ha BbIABUXEHUN
Tun kpennexus *———— 3
=| H | HasrArusanum
B | bBa3osblit
*) Tonbko ANA LMAMHAPOB
L | Hananax C OIHOCTOPOHHIAM LLITOKOM
F | MepenHuit pnarey
G | 3agHuii onanel * ——@  Xopg (Mm)
CMm. TabnuLy cTaHfapTHbIX X008
C | LWapHup *
D | MpoywwHa * L e [uamerp
T | LenTpanbHas yanda 20] 20m |
U | MepepHas uanda 50| 50 mm §
*) Tonbko 418 LUNMHAPOB 63| 63 MM g
C OQHOCTOPOHHNM LUTOKOM H ©
80( 80 mm g 2
Marepuan runb3abi ° 100 100mm | £ E
<
- | AnioMuHuesbiii crinas 125| 125Mm %
F | Cram 160 160 mMm 15}

80




1 NPaBO Ha BHECEHME TeXHUYECKUX U pas3MepPHbIX N3MEHEHNIA

Komnanua SMC coxpaHseT 3a co6o

O

SMC

MapaBnuYyecKui UHNHHAP HU3KOIo faBneHus

CHA

HomunanbHbie yeunusa (H)

[unametp [uametp HanpaeneHve Mnowanb Pa6oyee fasneHue (Mra)
uMnuHapa (Mm) | Woka (Mm) | nepemetlgHus | nopHa (Mu’) | 1 1.5 2 25 3 35
40 18 BbIOBVXKEHUME | 1257 1257 1886 2514 3143 3771 4400
BTArMBAHVE 1002 1002 1503 2004 2505 3006 3507
50 20 BbIOBVXKEHME | 1963 1963 2945 3926 4908 5889 6871
BTArMBAHVE 1649 1649 2474 3298 4123 4947 5772
60 224 BbIABVMXKEHVE | 3117 3117 4676 6234 7793 9351 10910
BTArMBAHVE 2723 2723 4085 5446 6808 8169 9531
80 28 BbIOBVXKEHUME | 5027 5027 7541 10054 12568 15081 17595
BTArMBAHVE 4411 4411 6617 8822 11028 13233 15439
100 355 BbIOBVKEHWE | 7854 7854 11781 15708 19636 23562 27489
BTArMBAHVE 6864 6864 10296 13728 17160 20592 24024
125 8515 BbIABVMXKEHVE | 12272 12272 18408 24544 30680 36816 | 42952
BTATVIBAHVE 11282 11282 16923 22564 28205 33846 39487
160 45 BbIABVMXKEHWE | 20106 20106 30159 | 40212 50265 60318 70371
BTArMBAHVE 18516 18516 27774 37032 46290 55548 64806
Macco! unnnugpos (kr)
CcHA Tun kpennexus [uameTp unnuHgpa (Mm)
(BCTPOGHHBIA MATHMT) “L 5 & £ 100
basosas basosbii (B) 1.3 2.0 2.6 43 6.5
macca Ha nanax (L) 1.8 29 3.8 6.4 10.0
(HyneBon xon) | ®nanel (F&G) 1.6 24 3.2 5.2 8.2
LllapHup (C) 1.7 2.6 3.6 5.8 9.0
Mpumep pacyeta anst CHAL50-100 MpoywmHa (D) 1.8 29 3.8 6.5 9.9
6asoBas macca 2.9 (kpenneHue Ha nanax, @50) Mepeansas uanda (U) 16 24 3.1 6.0 9.4
pononHuTenbHas macca  0.07/10 mm xopa LienTpansHas uanda (T) | 1.7 28 34 58 9.2
204 ;?5711:3;71 0=36kr 100 [ononHuTtensbHas macca Ha 10 MM xoaa 0.05 0.07 0.09 0.12 0.16
CHA Tun kpennexus [uameTp uunuHgpa (Mm)
(cTanbHas runb3a) 40 |50 |6 18 | 100
basosas ba3oBbii (B) 1.5 2.1 2.7 4.7 7.1 9.2 15.8
macca Ha nanax (L) 2.0 3.1 3.9 6.8 10.6 15.8 26.5
(HyneBon xon) | Pnanel (F&G) 1.7 2.6 3.2 5.7 8.8 121 26.7
LllapHup (C) 1.9 2.8 3.6 6.3 9.6 13.0 22.9
MpoywuHa (D) 2.0 31 39 7.0 10.5 14.7 25.6
Mepenhsist yanda (U) 1.7 2.6 32 6.5 10.0 13.7 23.6
LleHTpanbHas uanda (T) | 1.9 29 34 6.2 9.8 12.9 22.7
[ononHuTtensbHas macca Ha 10 MM xoaa 0.09 0.08 0.10 0.19 0.24 0.31 0.47
CHAW Tun kpennexus [uameTp unnuHgpa (Mm)
(anioMMHHEBas THNb3a) 40 50 63 80 100
basosas basoBbiit 1.44 2.16 2.78 4.58 6.90
macca Ha nanax 1.95 3.08 4.02 6.71 10.34
(HyneBo# xop) | $naHel 1.69 2.56 3.35 5.54 8.60
[NepegHas Landa 1.71 2.57 3.28 3.40 9.80
LleHTpanbHas yanda 1.86 2.89 3.55 3.67 9.59
[ononHuTtensbHas macca Ha 10 MM xoaa 0.1 0.14 0.18 0.24 0.32
CHAW Tun Kpennexs [vameTp uunuHapa (Mm)
(cTanbHas runb3a) 40 50 63 80 100 125 160
basosas ba3oBbiN 1.59 2.27 2.85 5.01 7.49 9.55 16.55
macca Ha nanax 2.10 3.23 4.09 7.14 10.93 | 16.14 | 27.25
Mpumep paciera ana CHAWLS0-100 (Hynesoii xon) | raren 184 | 271 |342 [597 | 919 |[1251 | 27.42
6a3oBas macca 3.08 (kpennexue Ha nanax, @50)
LononHHTenbHas vacea  0.14/10 uv xoga MepenHss Landa 1.86 2.72 3.35 6.77 10.39 [ 14.05 | 24.39
YOR WTOKa 100 MM LlenTpanbHas uanda 2.01 2.99 3.62 6.52 10.18 [ 13.31 | 23.46
3.08 +0.14x100/10 = 4.48 kr [ononHutensHas macca Ha 10 Mm xoaa 0.18 0.16 0.16 0.38 0.48 0.62 0.94

81




fuapaBnuYyecKuidt UHNHHAP HU3KOro AaBneHus

CHA

JlemmchupoBanne B KoHLUE XoAa

[lemncbep NONHOCTbLH NOrMOLAET KUHETUYECKYHO SHEPIUID JBIXKYLLMXCS YacTel, eCrn TouKa,

COOTBETCTBYHOLAA Macce Harpy3ku u CKOPOCTU OBUMXEHUA NOPLLHA,

pacronaraeTcs He BblLUe NIMHUK, NOKa3aHHOM Ha rpadivike.

AnomnH1eBan IMNb3a, BTATMBAHME LITOKA,

=

100000

o

:

MpucoennHeHHas Macca (r)

10 100
CkopocTb (Mm/c) ﬁ

AniomHMHMEBaA IMNb3a, BbIABUKEHHE LUTOKA,

Aasnenve 3.5 Mila

—

)

CTanbHas MMNb3a, BbIABUKEHHE LITOK],
Aasnenve 5 Mia

<
50.
=
1040
100
10 100 000
CranbHad rMnb3a, BTATMBAHNE LITOKA,
Aasnenve 5 Mha
100000 =
Y
AN
[
N \Q
y
10000 By \‘\‘ \‘\ o
R S = —— \\!ﬂ.
- \\ \\\\ 0126
NN N et
\\.m
1000 ==—r
=
100
10 100 1000

82



O

SNCn MapaBnuYyecKui UHNHHAP HU3KOIo faBneHus
CHA

Kouctpykuna
1809 (8
( \ s
[ |ZaN
240
Cneuunbnrauma
[Mo3.[ HaumeHoBaHWe Matepwan Mpumeyanns
1 KpblLka LWToKOBas ArioMUHWEBBIN CNNaB 70% YepHeHue
2 Kpbiluka 3agHss AntoMUHWEBBIN CrnaB 70% YepHeHue
3 Mvnb3a uunuHapa AnoMUHWEBBIN CriaB AHopvpoBaHve
Yrnepogucras cranb
4 Lok YrnepogucTas cranb XpomupoBaHue
(ranbBaHN4eckoe)
5 lMopLueHb AnOMUHWEBBIN CNnaB
6 [emncbepHas BTynka CranbHoi npokat
5 7 KnanaH uronbyarbiin CranbHoi npokat
§ 8 Bknagpiw Hanpasnsiowmit |  CeuHUOBKCTas GpoH3a
2 9 Lnunbka Yrnepoaucras cranb
2 [ 10 | Wanba CranbHas npoBoroka
é 11 l"aitka nopLuHeBas CranbHoi npokat
S |12 | Taitka YrnepoaucTas cranb
?3 13 ["alka Yrnepogucras cTanb
2 14 KnanaH cbpoca Bo3ayxa JlernpoBaHHas cranb
X 15 LLlapuk obpatHoro knanaxa | [MoAlnnHMKoBas cTanb
§ 16 | MMopiHeBoe KonbLo Mnactk
% 17 | YnnotHeHwe gemndepa
3 18 [psi3eCHEMHOE KOSbLIO NBR
é 19 YNnoTHeHWe LToKa NBR
3 20 YNnoTHeHve uunuHapa NBR
§ 21 Ynr-Hue knanana uronsyatoro | NBR
i 22 YNnoTHUTENbHOE KOMbLO NBR
< | 23 | Mpoknagka NBR
&
Q
c
=
o
O
o
o
] PeroMNNeKTbl
E’ [nametp Howmep ans 3akasa
§ unnvnapa (vm) [ CHA CHAW
X | 40 CHA40-PS CHAW40-PS
8 50 CHA50-PS CHAW50-PS
Z |63 CHA63-PS | CHAWS3-PS
z 80 CHAB80-PS CHAW80-PS
§ 100 CHA100-PS CHAW100-PS
2 125 CHA125-PS CHAW125-PS
* 160 CHA160-PS CHAW160-PS

* PeMKoMNNeKT COAepXUT ynnoTHerus (noa. 17-22)
11 MOXeT BbITb 3aka3aH ANA KaXAoro M3 ykasaHHbIX
[AMaMeTPOB LIMNMHAPOB.

83




fuapaBnuYyecKuidt UHNHHAP HU3KOro AaBneHus

CHA

Paamepbi
CTanpapt PaccrosHne BWHT perynuposanms
CHAB mexzy 4-J GA C6poc Bo3ayxa GB 2RcP V. T femndupoBarys
MAOCKOCTAMM i
MM\ XH";:I’" VA
ﬁ\ \ I: :u 7 Xk :‘_@
w o ‘S\7F o | . / - |
8l & 511* * *
] .
| [
MA_||a| M Q
A | K| F NA NB oc
H S + Xoa OB
ZZ + Xop
C 3awmToii WTOKA
S | [
10
h+¢
ZZ + ¢+ Xon
%] C 3awuTot wroka Be3 awwtbl Wwroka
() f[aTalefc] o [d] E [Flelealee] o [k[m[ma] mm [na[ne[P @ [R[s[T[v]w| v ][ zZ[elt[n] ¢z
40 23 (10 | 60| 44| 17 _g_m 18 | 45 gogz| 25| 14 [17.5/9.5 | MBx1.25| 18 | 13 | 20 |M14x15|30 |22 [1/4| 5 |37 (106 |11 | 75| 8 66 185 | 55| 25| 92 ﬂ
50 [25|9 | 73| 53| 19 jgpq |20 | 50 pose| 28 | 17 [17 [13 |M10x15 | 20 | 16 | 22 |[M16x1.5[ 30 |26 [3/18| 5 |43 [112|11 | 10| 9 73 | 201 | 60| 28 | 99| 1/4 | 227
63 |28 |8 | 80| 60) 21 ooy |224) 55 gope| 30 [ 17 |17 13 |M10x15 | 22 | 16 | 25 |[M18x15|30 |26 |3/8| 5 | 47 |[116| 11 | 12 | 10 80 | 212 | 65| 30 [ 106 238
80 32 |8 |100]| 75| 26 poo1 (28 | 65 gora| 32| 22 |20 (15 |M12x1.75)| 26 | 19 | 29 |M22x15| 35 |30 [1/2| 5 | 57 [127 |11 | 16 | 13 90 236 | 80| 32 |116 262
100 38 | 65118 90| 34 o5 |355) 80 gope| 35| 27 |19 |16 |M12x1.75) 27 | 21 | 34 |M27x2 |35 |32 (12| 8 | 66 (137 |12 |20 |16 | 100 258 |100] 35 [123 . | 281]
125 | 38 | 6.5(140| 12| 34 gp5 [355] BO gore| 35| 27 (19 16 |M14x2 27 | 24 | 34 |M27x2 |35 |32 |1/2| 8 |77 (137 |12 | 20 | 16 | 100 261 100 35 | 123 ﬁ
160 42 | 9 |174|140| 43 oo |45 | 100 gpey| 38 | 36 |22 |18 |M16x2 28 |27 |38 |[M33x2 |40 |36 (34| B |94 (155|12 |24 |20 | 108 290 |120] 38 [ 131 313
CHAWB
TT BuHT
PaccrosHue Mexay PaccrtosiHue Mexay PETyIVMpoBaHis
NNOCKOCTAMM 4-J GA CBpoc Boapyxa GA HAOCKOCTAMM 2.RcP |V AemMnc1poBaHIs
MM _\_‘:[EPL —f—E MM
LU T - NCR =5 / N
=] =
NN ] avi
R s | = =1 =1
mala| | |m] ™ 2l ma
A K F NA NA F K A 0c
H S+ H+ B
2Z + & Xoa
(%)
MM (Ala|B|C| D |d| E |F|G|GA| J |K|M|MA| MM (NA|P |R|S|T |V | W|H]|Zz
40 23 [10 60| 44| 175018 |18 45 Do | 25 | 14 |175| MBx1.25| 18 | 13 | 20 [M14x15| 30 | 1/4 | 37 [114| 11 | 75| 8 | 66246
50 25| 9 73| 53 19.3,021 20 50_8_@2 28 | 17 (17 [M10x15 | 20 | 16 | 22 |M16x1.5| 30 | 3/8 | 43 |116| 11 |10 9 73| 262
63 28| 8 80| 60| 2150 [224 55 Jo7 | 30 | 17 (17 |M10x15 | 22 | 16 | 25 |M18x15| 30 | 38 | 47 |120| 11 |12 | 10 | 80| 280
80 328 |100| 75 26_3.02, 28 65507 | 32 | 22 [20 |M12x175| 26 | 19 | 29 |M22x15 | 35 | 1/2 | 57 |132| 11 |16 | 13 | 90| 312
100 38 | 6.5[118| 90| 34 0025 |355| 80504 | 35 | 27 |19 |M12x175| 27 | 21 | 34 | M27x2 35 [1/2 | 66 |140| 12 |20 | 16 | 100 | 340
125 38 | 6.5(140| 112 | 34 8025 |355| 80504 | 35 | 27 {19 |M14x2 27 | 24 | 34 | M27x2 35 [1/2 | 77 |140| 12 |20 | 16 | 100 | 340
160 42 | 9 [174|140| 430025 |45 | 10000e7 | 38 | 36 |22 |Mi6x2 28 | 27 | 38 [M33x2 | 40 | 3/4 | 94 |159| 12 |24 | 20 | 108 | 375

84



1 NMpaBO Ha BHECEHNE TEXHUYECKUNX N Pa3MepPHbIX N3MEHeHuM

Komnanua SMC coxpaHseT 3a co6o

O

SMC

TMapaBNMYEcKHil UHNHHAP HU3KOI0 AABNEHHs

CHA

Ha nanax
CHAL H
A Kk fle 2-RcP BVHT perynupoBanms
A C6poc Bo3ayxa GB M 4.4 VT AeMncnpoBaHns
al |
i oy T P —
4 Al _ Wt IL' % '
g{ # §| = E
ue 1 z : .
7 A 43 *» 40LD %
/MM 5
_— - . g
. / & T
accmmwle//,_ -.-;-.—/I = e
Mexay - NA NB
NoCKOCTAMM Yl x S + Xon x |y
LX
LS +Xon B
. ZZ +Xon
C 3awmTom WwroKa
h+¢
10 ¢ f
@ _ -
=
L]
ZZ + ¢+ Xog
) C 3awuroit |  Bes sawuTl Wwroka
)| afalBloBlc|] D [d] E [Fle[ealeB] 4 [k [o|tH[Ls|ir[wx|ey[m[ma]l mm [mal[nelP[R[s|T[viw|x|v|H |zz|e[f][n]| ]z
40 |23 (10 | 60| 60| 44| 17801 |18 | 45005 | 25 [ 14 |175]95 | mex125{ 18 | o | 47[160| 8 | 44|77 [ 10| 20 [M14x15[ 30 [22 | 14|37 [106] 11| 75] 8|27 | 8| 66| 207| 55[ 25 | 92 233
50 [25|9 | 73] 73] 53] 1990z [20 | 50305 | 28 [ 7 [17 | 13 |w10x15 [ 20 |11 | 52[172[ 10 | 53] 85| 12 | 22 [M16x1.5{ 30 [ 26 [38 |43 [112] 11 [ 10| 930 10| 73| 225] 60| 28 | 99 m@
63 |28 |8 | 80| 80| 60| 2180 [224] 55900 | 30 | 17 [17 |13 [Mt0x15 [ 22 [ 11| 55[190] 10 | 60| o5 | 12 | 25 |M18x1.5) 30 | 26 |38 |47 [116] 11|12 |10 |37 | 10| 80 | 243 | 65|30 [106|  [269)
80 [32]8 [100[100 75| 2690z [28 | 65800 | 32 [ 22 |20 | 15 |m12x175] 26 [ 13 | e5[207| 12 | 75]115 | 14 | 20 |M22x 1.5 35 [ 30 | 112 67 [127] 11 | 16 |13 |40 | 13| 90| 270 80| 32 [116 296
100 | 38 | 65/118|118| 90 34_3025 355| B0 gz | 35 | 27 |19 |16 [M12x175| 27 |13 | BO|231| 14 | 90139 | 14 | 34 |M27x2 | 35|32 [1/2| 66 [137| 12 | 20 [ 16 | 47 | 13 | 100 | 299 [100| 35 | 123 &
125 | 38 | 65|140] 140112 34 Suzs |35.5] 809074 | 35 | 27 [19 | 16 |M1x2 | 27 | 15 |100|247| 16 [112[170 | 16 | 34 |MeTx2 | 35 | 32 | 1/2| 77 |137| 12 | 20 | 16 | 55 | 15 | 100 | 305 [100] 35 |123| " [328
160 |42 | 9 |174 174|140 43-%; 45 100_3037 38 | 36 (22 | 18 |M1Gx2 28 |17 |110|275| 18 (140|197 | 18 | 38 |[M33x2 | 40 (36 |34 | 94 |155|12 | 24 |20 | 60 | 20 | 108 | 343 [120( 38 [131 366
CHAWL
H H+ Xon 2Rep LT perynmpoagrl::;
C
A_K __F _[GA C6poc Bo3ayxa GAl F A [eMnUpoBaHHS:
MA |a a| MA
i / - - .
w ol =] ‘; T
g nat E # = * _ ! %tlg S
LM/ \ MMy %
G/ = = 4-gLD - l@
e e R 6 3 e
oy S NA NA i 5t PaccTosHie !
NoCKOCTAMM Y_X S +Xoa X Y mexay
NoCKOCTAMM LX
LS +Xog B
ZZ + 2Xopa
%)
(MM)AaBBCDdEFGG\AHJKLDLHLSLTLXLYMM&HHNAPRSTVWIYZZ
40 |23 (10 | 60| 60| 44| 17 555 (18 | 450, 25| 14 [175] 66| Mex125| 18 | 9| 47[168] 8| 4477 | 10 20 | M1dx15] 30 |14 |37 [114| 11 | 75] 8 |27 | 8|24
50 25(9 | 73| 73| 53| 1930 [20 | 50 $e| 28| 17 |17 | 73|M10x15 | 20 | 11 | 52176 10 | 53| 885 12 | 22 | M16x15 | 30 |38 | 43 [116| 11 [10 | 9 [30 | 10 | 262
63 28 |8 | 80| BO| 60| 21 jyp0 |224 55_%0-;,. 30 [ 17 |17 | 80| M10x15 |22 |11 | 55|194 |10 | 60|95 | 12 | 25 | M18x15 | 30 |38 | 47 |120| 11 [12 |10 |37 | 10 | 280
80 328 |100]100] 75| 26 qqp |28 65_%0?4 32|22)20 | 90|M12x1.75| 26 | 13 | 65212 |12 | 75|115 | 14 | 29 | M2x15 | 35 | 1/2 | 57 |132| 11 |16 |13 |40 | 13 [312
100 38 | 6.5/118| 18| 90| 34 50 |355) 80 S| 35 [ 27 |19 |100|M12x175 [ 27 [13 | 80234 | 14 | 90130 | 14 | 34 |M2z7x2 |35 |12 |66 |140| 12 |20 | 16 |47 | 13 | 340
125 38 | 65]140| 140|112 | 34 05 |55 30_?107. 35|27 |19 |100|M14x2 |27 | 15 |100|250| 16 | 112|170 | 16 | 34 | M27x2 | 35 |1/2 | 77 |140| 12 |20 | 16 |55 | 15 [ 340
160 |42 |9 [174[174|140| 43 Opss [45 | 100 Sper| 38 | 36 (22 |108[Mi6x2 |28 | 17 |190|279| 18 | 140|197 | 18 | 38 | M33x2 | 40 |34 | 94 [159| 12 |24 |20 |60 | 20 |375

85




fuapaBnuYyecKuidt UHNHHAP HU3KOro AaBneHus

CHA

C nepenHum
mna““em BuHT perynuposannsa
CHAF b, ccrommume vexay GA Cbpoc Bozpyxa GB T AemnduposaHis
MNOCKOCTAMU G \
MM L il vl T
N\ ", : H :' Vi _ _ She u- )
_Q
4 it _ + \;j i
- - ) -
(.
MA j- FT 0oc
A | K| F | NA NB B
H S + Xop M FX
ZZ +Xon FZ
C 3awmToMn Wwroka
o [ I 150 -
[=] | T 4
10, el f
h+¢
ZZ + ¢ +Xon
(%) C 3awmroit Bea 3awyTbl wWroka
(mvm) |Aala|B|0B/c| D |[d| E |F|FD|FT|FX|FY|Fz|G[cAlGB| J K |[M[mA| mm [NA[NB|P[R|S|T|v|W[H[zz|e|f|n] ¢
40 [ 2310 [ 60| 60] 44| 17 J0ss |18 |45 0o (25| 0 [10] 77| 44| 95| 14 [175) 95| mex125 18 | 16 [ 20 mtax15[30 | 22 [va | a7 [106] 11| 75| 8| 66| tes| 55| 5| 2| [om
50 259 [ 73] 7] 53] 1980y [20 [50 8 |26 [ 11| 10| o5 83 118] 7 17 [ 13 |miox15 |20 [22] 22 [wi6x15] 30 [ 26 [a8 [4s [112] 11 [10 | o[ 73] 207 e[ 28] 0 1 [233]
63 [28]8 [ 80] 80| 60] 21 Jun [224] 55 357 [ 30 [ 11 | 12 [102] 60[122] 17 |17 [ 13 [miox15[ 22 | 20 | 25 weex 15[ 30 [ 26 |38 [ 47 [116] 11 [12 [ 10[ 0] 216 | 65] 20 |106]5toke |22
80 |28 |100]100] 75 26 Jups [28 | 65 7 | 32 [ 13 | 12 [120] 75]155] 22 oo | 15 w2175 26 | 26 | 29 |Meax 15 35 [ 30 [12 [ 57 [12] 11 [16 | 13| o0 2¢a oo 52 [16 |69
100 | 38| 65)118]118] 90| 343005 |355] 60 20z | 35 | 13 | 16 |145] 90]172] 27 |19 | 16 |Mi2xt7s) 27 |26 | 34 [erx2 [35 |32 [12 ] 66 [137] 12|20 [ 16| 100 | 263 [100] 35 |123] 45 [286
125 | 38| 65]140]140] 112] 54 S5 [a55] 80 37 | 35 [ 15 | 18 [ 170[112]200] 27 1o | 16 [ax2 [ 27 [30 | a4 [morx2 [ 35 | 32 [1] 77 [137] 12 ]20 [ 16| 100 ] 267 [100] 35 [ 123 ﬂmke@]
160 [ 42] 9 [174]174] 140] 43 Juus a5 J100 o [38] 17 [ 20 [205]1a0]240] 36 [22 |18 [misxa [ 28 [34 [ 38 [masxa [ 40 36 |3 o4 [155] 12 ]2a [20[ 108 ] 207 [120[ 38 [131] [0
CHAWF ;
WHT
erynupoBaHus
PaccTosiHve Mexzy A C6poc Bosayxa GA w  Faccroskue Mexy Plavisiicosm

NNOCKOCTAMU G

NNocKoCTAMU G

I N .7 A .
“_\i

od
™~
™~

oE

NI &
g j = :

———

MA ||a FT
A K F NA NA F K
H S +Xon H+
ZZ + 2 Xop

T
>3

™~

mv)"aTalB[B]c] D [d] E [F[r[rr][rx]rr[rz[clealn] 4 [k [m[ma] mm [NaA[P[R[s[T[Vv[w]z
40 [ 23[10 |60 60| 44 179,518 | 455, 25 [ 9| 10| 77 44| 95| 14 [175] 66| wex125[ 18 | 16 [ 20 [mtax15] 30 [ 14|37 [114] 1] 75] 8 [2e6
50 |25 0 | 73| 73] 53] 1955, [20 [ 505,28 [ 11 [ 10| 05| s3[115] 17 [17 | 7a[mtox1s [20 [ 22 [ 22 [mtex15[30 [am[ 43 [116] 11 [10 | o262

63 | 288 | 80| 80| 60| 2135 [224] 555 ] 30 [ 11| 12 [102] 60[122] 17 [17 | 80| mi0x15 [ 22 25 [Mi8x15| 30 |38 | 47 [120| 11 |12 | 10 | 280

80 [32]8 [100[100] 75| 2635, |28 | 65 5| 32 | 13 | 12 [130] 75]155] 22 [20 | o0[m12x175] 26 M22x15 | 35 |1/2| 57 [132] 11 |16 | 13 [312

100 38 | 65|18 118| 90 34_3_025 |35.5 80_%_07.. 3513 [ 16 [145] 90 1?2| 27 {19 [100| M12x1.75| 27 M27x2 | 35|12 66 [140] 12 |20 | 16 [340

125 | 38 | 6.5/140 | 140 | 112] 34 305 [355] 80 el 35 | 15 | 18 [170[112[200| 27 [19 | 100 M1ax2 |27 M27x2 |35 12| 77 [140] 12 |20 | 16 [340

288|588
8|88

160 | 42 | 9 |174]174]140] 43 9005 [45 | 100 5sr| 38 | 17 [ 20 |205[140[240] 36 |22 | 108 Mi6x2 | 28 M33x2 |40 | 3/4 [ 94 [159] 12 |24 | 20 |375

86



O

SVCR IMapaBnMYyecKui UMNHHAP HH3KOIo faBneHus
CHA

C 3apHum thnanuem

CHAG
2.Rc P BuHT perynuposanuns
P
nﬁgg;gg::gumemyg 4J GA CBpoc Bosayxa GB  40FD 4J v T  Aemncwposanus
D £ TR
MM %&r IR
— : |,f : —W
Lléj % Q?I g -— ;; _¥ a: 2]
i )
: OO O
|
MA [l M oc
A K F NA NB 0B
H S +Xog FT FX
ZZ + Xon N Fz
C 3awmToi Wwroka
o I
= l |
10| ¢ f
h+¢
ZZ + ¢+ Xop
(%) C 3awuron Bes 3aLuThl Wroka
(MM)j\aBCDdEFFDFTFK FZ|G|GA|GBE J |K|M MM |NAINB|P |R|S|T|V| W|H |ZZ|e|f|h]| ¢

M14x 1.5 22 |14 37 [106| 11| 75| 8| 66| 182 | 55|25 | 92
M16x 1.5 26 (30843 |112] 11|10 | 9| 73| 195| 60| 28| 99| 114

95( 14 |17.5[9.5 | M3x1.25] 18 | 16 30
30
M18x 1.5 30 | 26 |3/8 | 47 |116] 11 |12 |10 | B0 | 208 | 65 106
35
35
35

15[ 17 |17 [ 13 [M10x15 | 20 | 22
12217 17 |13 [NDxt5 | 22 |20

40 |23 |10 | 60| 44| 1750 |18 | 45002 25| 9 [ 10| 77
50 259 | 73] 53| 1990 (20 | 500 28 (1110 | 95
63 [28|8 | 80f 60| 210, |224 8550 | 30 [ 11] 12 |102
80 |32|8 [100] 75| 265, 128 | 6500 ) 32|13 | 12 130 155| 22 |20 | 15 |M12¢1.75| 26 | 26
100 |38 | 65(118| 90| 34 505 1355 8090m | 35 | 13| 16 |145| 90(172| 27 |19 | 16 mt2x175] 27 | 26
125 |33 | 65[140|112| 34 S0 [355) 8090n | 35 | 15| 18 [170[112|200{ 27 [19 |16 [Mt4x2 |27 [30
160 | 42| 9 [174]140| 4330 [45 | 10000e7 | 38 | 17 | 20 [205 | 140|240 | 36 |22 | 18 |M16x2 |28 | 34

30
M22 x 1.5 30 | 42|57 |127| 11 |16 |13 | 90 | 229 | 80| 32 | 116
M27 x 2 32 | 102 66 [137| 12 [20 | 16 | 100 | 253 |100] 35 |123
35
38

2|3 |2|alx|2

M27 x 2 32 (12|77 |137] 12 |20 | 16 | 100 | 255 | 100 123 1

M33x2 |40 |36 |34 94 |155] 12 |24 | 20 | 108 | 283 [120 131

glr|e|B R8BS
glR[3R[B[R[B|~

1 NMpaBO Ha BHECEHNE TEXHUYECKNX N Pa3MepPHbIX UBMEHEHUN

Komnanua SMC coxpaHseT 3a co6o

87




IMapaBNMYEcKHid WHNMHAP HU3KOTO0 NABNEHHs

CHA

C wapHupHoil onopoi
CHAC

BuHT perynuposanns
PaccTosHue mexay Cbpoc Bo3gyxa T  AemnduposaHus
nrockocTAIMM

Tm
N

3

C 3awmTon Wwroka

i

10

h+¢
Z+¢+Xop
ZZ + ¢ +Xop

bBe3 3awwTbl Wwroka
flh| ¢ |2
25| 92 230
28| 99| 14 |246
30 | 106 262
32 |16
35 123
35 (123
3813

J MM
M8 x 125 Midx15
M10x15 M16x 1.5
Mi0x15 Mi8x 15
Mi2x1.75 M22x15
Mi2x1.75 M27 %2
Midx2 M27 %2
WMGx2 M33x2

28|88 R8>

BB IBIE|B|IB|R

<]




O

SNCR IMapaBnMYyecKui UMNHHAP HH3KOIo faBneHus
CHA

C nBoiitHoi
WAPHUPHOH onopoii
CHAD
6 BWHT perynuposanms
PaccTosHite Mexay 4-J GA poc Bosayxa GB 2RcP VvV T  AemMnduposaHus
MMoCcKOCTAMU G ‘x‘: - ©CDHo r%‘ui
MM\ W) b (A D T
il i _ _ ANL i i W %
NBNELE DY/ Sl Ol il | O
B ' —
.8 ! x
wl o %" 4 |X = _ A : |V T | R
sl s = / = - : \‘V _______ T
=l '/ K. Qj
MA ||a|
A F NA NB u CX 202
S +Xog L. tc
Z+Xon RR )
ZZ +Xon
C 3awuToi WToKa
@ f =
=] | EaN
s 10] ¢ f
51:) h+¢
I
a§) Z+¢+Xog
(v}
i ZZ + ¢ +Xop
)
I
o
[0}
>
g (%) C sawuroit Be3 3awuTbl WwWroka
s () "aTalB[clcomw [ex] D [d] E [F[clealeB] 4 [k[L[mal mm [Nalne[P[RIRR]s[Tu vIw|n]z]z]e[f[n] [z Z
s 40 |23 [10 | 60 44lom?™| 22 | 1750 [18 | 4520 | 25 | 14 |175] 11| mox125| 18 | 32 | 20 |wta w15 30| 22| 14| 37 | 15 |106] 11| 18 | 75| 8| 66204 29| 55| 25| 02 230 245
§ 50 |25 9 | 73] 53JonensT™ [ 24 [ 195, [20 [ 50 8 [ 28 [ 17 [ 17 | 13 [wox15 [ 20 [ 35 [ 22 [wis x15[ 30 [ 26 [ae] 43| 18 [112] 11 [ 21 [10 [ o 73]220[238] 60 28 [ 00| s [246]264
2 63 | 288 | 80| 60|ono’t ™| 28| 21 Ly, 224 555 [30 [ 17] 17 [ 13 W0 x15 | 22 [ 40| 25 |wis x15[ 30| 26 |3 | 47 | 20 [116] 11| 23 |12 | 10 | 80|236]258] 65| 30 106 262 264
2 80 | 328 [100] 750t 32 | 2635, [28 | 6557 |32 [ 22 [ 20 | 15 [wi2x175] 26 [ 45 | 20 |22 x 15 35 | 30 [ 12| 57 [ 22 [127] 11 | 26 |16 |13 | 90 262|284 ] 80|32 116 288310
GE) 100 | 33 | 65 118] 90 oaonss ™| 36 | 34 Luse [355] 80357 | 35 | 27 [ 19| 16 w2175 27 | 50 | 34 ez x2 [ 35| 32 | 12| 66 [ 24 [137] 12 30 20 | 16 [100|287]311 100 ] 35 | 123 s (310,33
8 | 125 |38 65]10]112]oransT™] 42 | 34 Lips [355] 80 3pms |35 [ 27 [ 19 [ 16 M w2 |27 [ 55 |34 ez x2 [ 35 [ 32| 12 77 | 26 [137] 12| 30 |20 | 16 [100[202]a18[100] 35 |12 315,341
j:: 160 | 42| 9 [174] 140 o2ua ™| 55 | 43 {ops |45 (100 0 | 38 [ 36 | 22 | 18 (W6 x2 | 28 |65 | 38 [M33 x2 | 40| 36 | 34| 94 | 30 |155| 12 | 40 |24 | 20 | 108 328|358 |120 | 38 |131 351361
g
o
o
[
o
c
=

Komnanua SMC coxpaHseT 3a co6o

89




IMapaBNMYEcKHid WHNMHAP HU3KOTO0 NABNEHHs

CHA

C uentpanbHoil uandoi
CHAT

C6poc BuHT perynupoBaHus

PacctosHue mexay 1T/ BO3dyXa Aemnduposaua
MoCKOCTAMM G

MM
Y

C 3awmToMn Wwroka

10| ¢
h+¢

Z+e+12

ZZ + ¢ +Xon

(%) C 3awuron Bes 3awyTbl wroka

(mm) 6B J K /MM mm Hlz|z|e|id ¢z
40 5[5 | Mex125 20 |Mi4x15 123 |162] 55| 25 149
50 13 [Mi0x15 [ 20 [ 10 ] 22 615 131 195 i
63 _ 13 [M10x15 | 22 | 10 | 25 | w16 x15 140
80 15 |w2x175] 26 | 13 [ 29 M22x15 156
100 16 [Mraxt7s] 27 [ 13 | 34 [merx2 170
125 16 [waxz |27 15 | % |Mern2 170
160 18 Misx2_| 28] 17 ]38 [ussx2

B8 |B|8 |8 |B|IRB

CHAWT

C6 BuHT
PaccTosiHue Mexay o fplo)/(;( a PaccTosiHie Mexy perynupoBaHIs

MNOCKOCTAMU G NNOCKOCTAMU G AevneupoBaH/A

\

o = 1Y

D J MM 2|V |w
17 J0s , MBx 125 Mi4x15 . % 15 8
19 901 MI0x 15 M16x15 : 10810 | 9
21 9ot _ WOx 15 M1Bx 15 2 | Ro. 15]12 | 10
26.9m O M2x175 M22x1.5 ; 162]16 |13
34 Joas _ W2x175 M27 12 . 204|20 | 16
349025 |355] 8030 Midx2 M27 x2 j 4]0 [16
43905 . M1B X2 M33x2 : : 284 24 | 20




O

SVCR IMapaBnMYyecKui UMNHHAP HH3KOIo faBneHus
CHA

C nepenueii uantoi

CHAU z BuHT perynuposaHus
PaccTosHue Mexay T GB Cbpoc Bozzyxa GB 4-J 2RcP V. T AemncpupoBaHys
MNOCKOCTAMU G L Y |4
MM i =" 'l',[:-, —_ e =
— I - : W | s % : L]
! £ = a
\ - @/ \$ = \ g
wl o \7!1:1 /AN i + r
ik i par 3 )
MA 1a]
A | K| F NA NB oc
H S + Xog M OB
0
ZZ +Xop TX 05
1z
C 3awuToN WTOKa
L+
4
.'
w [ ] . .l'll
I — 7
||
\
10le| ¢
h+¢
ZZ + ¢ +Xop
S
% ) C 3awmroit Bes sawuTbl Wroka
é mv) [alalBlc] o [d] € [Flclealee] s [k[m[mal mm [nalng[P|R[s|T][ tdes [RITm[mx[r¥[rz[v]wln[z]z[e[t[n] ¢]z]z
2 40 | 23|10 | 60| 44| 1750 |18 | 4505 | 25 | 14 |175] 95| MBx1.25 18 | 10 | 20 [M14x 15| 30 [ 22 | 114 | 37 {106 11 | 15302 Ros| 16 | 70| 60| 95| 75| & | 65|58 [182| 55| 25 | @2 84208
x 50 [25|9 | 73| 53] 1905 |20 | 5030|2817 [17 [13 |M10x15 |20 | 16 | 22 [M16x15] 30 | 26 |38 | 43 {112 11 | 15:2%% |Ros| 16 73/108[10 | o | 73|65 |201| 60|28 | 99| 14 | 901|227
z 63 | 28|86 | 80 60| 212, [224] 5505, 50 [ 1717 113 wiox15 |22 | 16 | 25 [wiex15] 30 | 26 |38 | 47 [116] 11| 15222 |ros| 16 | w0| e0|115]12 |10 6072 [212] 65 30 [ 106 95238
% 80 |32[8 |100] 75] 263 |28 | 650, 32 |22 [20 |15 |wi2x17s] 26 | 13 | 20 [M22x15] 35 [ 30 [ 2] 57 [127] 11 | 25:328 |es| 30 [112] 100|162 ]16 | 13| 90 75 [200] s 32 [116 101] 256
< | 100 |38 65[118] 90| 330 355 800w | 35 | 27 |19 |16 |Mt2x17s 27 [ 13| 34 [Merx2 |35 |32 |12 |66 |137) 12 | 32:3% || 34 140|118 204 [20 | 16 [100] 63 250|100 35 |123 106|273
o
= [125 |% ) es|uo|t2 9 Dos 1355] 80 2 | 35 [ 27 19 [16 Iwraxz |27 [ 15 [ 34 [merxa [ 35 |32 [ | 77 [ar] 12 | 3230 IRos| 34 [170] 0] 25420 | 16 [ 100] 83 [252] 100] 35 [123 " Tiog | a5
S [ 160 [42]9 [1ma]ra0] 4380 |45 10030 | 38 | 36 [22 [18 Imtox2 [28 |17 ] 38 [masxa | a0 36 |3 [ o4 [155] 12 | 363588 |res| 38 [212] 174 [ 284 24 [ 20 [108] 89 [280120] 38 [ 131 112|303
3
% CHAWU
X
2 z BuHT
g PacctosHne = o PaccrosHue Mexay 2.Rc P Ir perynuposaHus
§ Mexzy NNOCKOCTAMN G T GA Cbpoc Bo3ayxa GA M 4-J NnocKocTAMA G —\ viv nemndmpoBaHms
(4]
z MM Jf.‘l_ o B MM —_ -
o W ] b 1 (_
o] 3 —t = = i N — % @
I o b= E
9 \ \ BL_I_ < \‘ =) | / / . y
PRl — R :
= T <
2 : - - B g
S (= =
3 MA |la| || MBegcTosH1e
Y 1)
E’ A K F NA NA F K %‘HﬁCKOCTﬂMM
p H S + Xog H+
g ZZ + 2Xopa
o
[&]
3)
= (%)
(%]
= M) “ATalB[C| D [d] E |F|G|GA|H| J |[K|M|MA[ MM [NA[P R[S |T]| Toe8 |TR|TT|TX|TY[ 12|V W[z |2z
§ 40 | 23|10 | 60| 44| 17 30, [18 | 45 Do0| 25 | 14 [175| 66| MBx1.25] 18 | 10 | 20 | Mt4x15 | 30 |14 | 37 |114| 11 | 15352 |R05| 16 | 70| 60| 95| 75| & | 58 |246
2 50 | 259 | 73| 53| 19 905 |20 | 50 fogp| 28 | 17 [17 | 73 |MIOx15 | 20 | 13 | 22 [ M16x1.5 | 30 | 38 | 43 [116| 11 | 150052 |R0S| 16 | 83 | 7310810 | 9 | 65 |262
* 63 |28 |8 | 80| 60| 21 04y [224] 55 57 30 | 17 {17 | 8O |M10x15 |22 | 15 | 25 [ M18x15 | 30 | 308 | 47 [120| 11 | 1525 |R05| 16 | 90| 80| 115[12 |10 | 72 | 280
80 |32]8 [100| 75| 26 85 |28 | 65 5l 32| 22 |20 | o0|Mi2x175| 26 | 13 | 29 | M22x15 | 35 [ 112 | 57 [132] 11 | 25 2%2 [Re5) 30 [112 [ 100) 16216 | 13 | 75 |312
100 | 38| 65|118| 90| 34§y |355| 80 5o 35| 27 |19 |100 | Mi2x175| 27 | 13 | 34 | M2rx2 | 35|12 | 66 |140| 12 | 32 D25 |R25| 34 [140 | 118| 20420 | 16 | 83 | 340
125 | 38 | 65[140[112| 34 0055 [355| 80 Sore| 35 | 27 |19 |100|Midx2 |27 | 15| 34 [Merx2 | 35 12| 77 |140]| 12 | 32 %5 [Re5| 34 |170 | 140 23420 | 16 | 83 |340
160 | 42| 9 |174]140| 43 $ops |45 | 100 o] 38 | 36 |22 |108|Mi6x2 |28 | 17 | 38 | M33x2 | 40|34 | 94 |159| 12 | 36 D29 |R25| 38 |212 | 174| 28424 | 20 | 89 | 375

91




fuapaBnuYyecKuidt UHNHHAP HU3KOro AaBneHus

CHA

NpunagnexHoctn. Pasmepbl

Maney wapHUpHbIN

Matepuan: yrnepoauctas crank %] A B C(f8) D | E | Yucrora| Wnmmut | @
(mMm) Pasmep | [Honyck MOBEPX-TH LwapHupa
2 cKkBO3HBIX OTBEpCTUS D
T ‘cy 40 80 70 12 -0.016 3 5 23x181 | 40
50 94 84 14 -0.043 4 5 = 24x221 | 50
/{ : ) A o 63 | 102 |92 |16 4 |5 i o221 | 63
T ‘|/ ° 80 | 123 | 13 | 18 5 |5 | 8 [ o5es |80
& 100 147 132 | 20 -0.020 5 7.5 E @5x30/ | 100
B E 125 | 169 | 154 | 22 0053 |5 [75] & 25x350 | 125
A 160 205 190 | 25 5 7.5 @5x35/ | 160
Howmep ans 3akasa
KpOHLWWTEH WwapHUpHbIN LEEH e LI
Matepuan: 4yryHHoe nnTbe 3
' @ U(H8 Bont | @210
o N - - ! (MM) A B C|D B F G |H J K L LapHupa
samybnee | |35 40 |44 |60 [21]9 [12[18]32][47[45 [ 19 [ R15 |12 [+0027] mex20 | 40
nyonon T REE 50 |53 |73 | 23[ 11 [12]21]35[53[50 |23 |R18[14 | O [ Mmiox2| 50
% L E“Ii 63 [60 |80 |27 11 | 15|23 [40]| 60|55 |23 |R20| 16 M10x25 | 63
00,00 | 80 |75 [100|31] 13 [16|26] 45|67 |65 |28 [ R22 | 18 M12x28 | 80
—OTBepCTUG Cos E| 100 [ 90 [ 118 | 35| 13 [17 (30| 50| 74|80 | 28 | R24 [ 20 | +0.033] M12x32 | 100
e 62 125 | 112 140 | 41| 15 [20 [ 30 [ 55[ 81|90 [ 31 [R26 (22 | 0 | Mi4x6| 125
“T‘“ " 160 | 140 | 174 | 54| 17 | 22 40| 65] 95 [ 100] 34 | R30 | 25 M16x40 | 160
Homep ans 3akasa
AC-A1-[avawveTp unHapal
Ocb wapHupa
MaTepman: yrnepoawucTasa ctarnb
2-pD CKBO3HOE OTBEPCTHE o (%] A B C(f8) D E Yucrora | LWnmmut | @
/ . (Mm) Paamep| [onyck MOB-TH KpenneHus
B {'5 - 5 Q 40 51.5 415 13 -0.016 3 5 @3x18/ | 40
o |' S ' . 1 50 [545 [445 [13 | 0043 [3 [5 % 23x181 | 50
i A 63 64.5 54.5 16 4 5 % @4x221 | 63
80 715 61.5 16 4 5 =3 24x221 | 80
100 [82 |72 [20 [ 0020 [5 [5 | & [@5x0 | 100
160 94 79 20 -0.053 5 7.5 25x30/ 160

Homep ans 3akasa

WapHup AC-D1-[gvameTp unnvrpa]

Matepwuan: yrnepogucraa cranb

OtBepcTHe ynpyroro dukcatopa

BricBepnnBaetcs nocne cbopku G
| i. @ |A |[B [C [D |d(H8) E F |G |H [|K |LF8) M | 7| Ynpymin | & kpen-

1.1 MM pasmep/onyc pasmep/monyck| chmkcatop| neHs
i
N AL Sl 1 1=2a 40 |67 |55 |15 |25 |13 [ +0.027 | M14x1.5 [ 26 | 28 [ 17 | 4 |17 | +0.043 | 14.2| 4 [ 3x25 40
il a B =
JLr 1 0 +0.016
1 ! L 50 [70 |58 [18 [28 |13 M16x1.5 [ 28 | 30|19 |5 |19 [ +0.053 | 16.2| 4 | 3x28 50
457 Lol 63 [80 |65 |20 |30 [16 M18x1.5 | 32 [ 32|22 | 6 |21 [ +0.020 | 18.3| 4 | 4x28 63
K c F 10 80 [95 |78 [22[35 |16 M22x1.5 [ 40 | 3627 | 7 |26 22.3[ 4] 4x36 80
| B 100 | 110/ 90 [26 | 42 |20 | +0.033 | M17x2 4514032 |8 |34 [+0.064 | 27.5[ 5] 5x40 100
H-5: A 160 | 120] 100 {30 | 50 |22 | O M33x2 50 [44[36 [ 10 [43 ] +0.025] 34 | 5] 5x50 160
Howmep ans 3akasa
AC-B1-[[iaweTp uininEpal
Bunka LWapHUpHasa
MaTepman: yrnepoaucraa cranb
&g |A [B |C [D [dH8) E|F G [H |J K|M N P | Ynpyruit| Dkpen-
B (MM) pa3mepigonyck iponyck L//Jonch ukcatop | NEHUA
ed et 40 | 67 |55 27 |29 | 13]+0.027| 32| 18| +0.2| 4 |14 |M14x1.5]10( 25( +0.043 | 14.2] 28| 3x25 | 40
J Rz | K G
_\ 7 RAS 45 0 0 +0.016
T I_\ 4 50 | 70 |58 [30 |25 (13 35] 20 5 [14 | M16x1.5 |10 | 28 +0.053 | 16.2| 30| 3x28 | 50
il | i Sy ! 63 |80 |65(35]30]16 431 23 6 |14 |M18x1.5]10] 30 +0.020 | 18.3 | 32| 4x28 | 63
i ;&T% ® i = 7] 80 [ 95|78 |39]35]16(+0.033|50| 28 7 (14| M22x1.5]10( 35 223|136 4x36 | 80
'LJI.J' i 100 | 110/90 [ 46 |43 |20] O 59 [ 33 8 | 15| M17x2 |10 42| +0.064 | 27.5| 40| 5x40 | 100
c D 160 | 120] 100{ 50 | 45 | 22 66| 37 10 {15 [M3372 (10| 50| +0.025 | 34 | 44 [ 5x50 | 160
Oreepctve ynpyroro dwkcartopa
A P Homep ANA 3aKa3a

Bricsepnvsaetes noche chopkn

AC-3Y-[raners winingpd

92



O

SNCK MapaBnuYyecKui UHNHHAP HU3KOIo faBneHus
CHA

Hat4ynKn nonoxexwns

MipMeHsemMbIe NaTYHKH

O6osHaueHne | Tun MoHTax On.Bxonq CeetoBas | Bbixog Paboyee Hanpsikerue (B) | XapakTep
VHAMKALMS Harpy3ku
D-A54L l'epkoHoBbIit | Ha wnunbke | Kabenb sanutbinn | EcTb 2-x 24 10, Pere,
D-A44 Ha xomyTe | DIN-pasbem MpOBOAHOM 220 nnK
D-F5PL OnekTpoHHbIN | Ha wnunbke | Kabenb 3anutbii 3-x npoBogHon | 5, 12, -
p-n-p 24

I'Ipmmeqanme: 6onee peTanbHas I/IHCbOpMaLWIFI 0 [atynkax nonoxeHuss COAePXUTcA BoO BBOAHOM pasaerne.

Homep ang 3aKa3a Kpennesus naTymka

[vametp [latymk nonoxeHus

unnmkgpa (um) [ D-Ad4 D-A54L, D-F5PL
40 BD1-04M BT-04

50 BD1-05M BT-06

63 BD1-06M BT-06

80 BD1-08M BT-08

100 BD1-10M BT-08

MunumanbHas anuHa Xopa (Mm) NpM HCNONb30BAHHK AATYHKOB NONOKEHHS

Mogenb | Kommuecteo| Pacnonoxerue [ins Bcex TvNoB KpenneHve ¢ LieHTpanbHom Landoit
[aT4MKoB kpennewus kpome | @40 n @50 @63 @80 @100
LieHTpasbHO Landebi|
D-A54L, | 1wum2 opHo- 1 paHocTopoHee| 10 100 100 110 120
D-F5PL | n OJHOCTOPOHHEE 10 +55-(n-2)/2 | 100 +55-(n-4)/2 110 + 100-(n - 4)/2[ 120 + 100-(n - 4)/2
n=2,4,68.... n=4,8,12,16... n=4,8,12,16... n=4,8,12,16...
) D-Ad4 2 PasHocTopoHHee 35 75 80 90
OpHocTopoHHEe 55 75 80 90
n PasHocTopoHHee 35-30-(n-2) 75+30-(n-2) 85+30-(n-2) | 90+30-(n-2)
n=2,34.... n=2,4,68... n=2,4,68... n=2,4,6,8...
OpHoCTOpOHHEE 55-50-(n-2) 75+50-(n-2) 80+50-(n-2) [ 90+50-(n-2)
n=2,34... n=2468... n=2,4638... n=2468...
1 - 10 75 80 90

1 NMpaBO Ha BHECEHNE TEXHUYECKNX N Pa3MepPHbIX UBMEHEHUN

Komnanua SMC coxpaHseT 3a co6o

93




fuapaBnuYyecKuidt UHNHHAP HU3KOro AaBneHus

CHA

MoHTa)XX naTyHKoB

KpenneHue Ha cTArMBaKowWmX WNUNbKax

T'epkoHoBbIit aaTunk D-AS4L

NI

[latunk nonoxexus

~Hs

~Hs

OnektpoHHblit aatunk D-FAPL [N ﬁ B Y - 'qur = =
'vl" _@j I \\ 1£r l
* 5 |+
- | —
Al 33 B
G 1/2
ernneHue Ha XoMyTe Kabenb ¢ BHeLHUM arameTpom oT 6.8 40 9.6 Mm
TepkoHoBbIit aaTunk D-R44
= i
s o il
# I S # ] 7 Ol
u . = -
1 i 1
36 / B
A 49 [laTunk nonoxenus
(%] D-A54L D-F5PL D-A44
(Mm) A B Hs Ht A B Hs A B Ht Hs
40 10.5 1.5 39.5 335 17 18 38 10.5 11.5 335 82.5
50 1 13 44 39 17.5 19.5 43 1 13 39 88
63 13.5 14.5 50 43 20 21 48.5 13.5 14.5 43 95
80 13.5 16.5 57 51 20 23 56 13.5 16.5 51 104
100 17 21 65 58.5 235 2715 63.5 17 21 58.5 114

94



S
3

fuppaBnuyecKuid uunuuap no JIS

CH2

@32 ~100

e llcnonHeHus ¢ ogHo- u {BYCTOPOHHNM LLTOKOM

3.5/7/14 Mna

o B03MOXHOCTb YCTAHOBKI JAaT4NKOB NOMOXEHMA
o [JlemndouposaHue B KOHLe xoaa

o Hanuune Bofo3aLLLLEHHOrO UCNONHEHNA

o PaanuyHble NCMONHEHNA 3aKOHLIOBOK LUTOKA

TeXHHYEcKHe XapaKTepucTHKH

Mogenb CH2E CH2F CH2G, CH2H
Cpepa lMopaBnmnyeckas XugKocTb
Pabouee masnexue (MMa) 35 7 14
Makc. Tpy BbIABIKEHN 35 9 18
fonyctumoe [pw BTArMBaHMN | B-WTOK 135 18
nasnenve (MMa) C-LuToK 11 14
WcnbitatenbHoe gasnexue (MMa) 5.0 105 21
MuH. pabouee Tpy BbigBINKEHMM 0.15
nasnexue (MMa) Mpu BTArMBaHMN 0.2
Pabouas Bes fatumkoB nonoXeHus -10~ 80
Temneparypa (°C) | C naruukamm nonoxenus -10 ~ 60
CKOpoCTb MopLuHA (MM/c) 8 ~ 300
[JemnduposaHue Perynupyemoe
Jlonyck Ha AnuHy xopa (M) (mo 100) %, (101~ 250) ™,
(251~ 630) ", (631 ~ 1000) ", MouMesatve:
(1001 ~ 1800) ** ana CH2EW 1 CH2FW muHumanbHoe paboyee fasnenie 0.3 MMa
S
I
% Henonxenus
§ Mogenb CH2E, CH2EW CH2F, CH2FW CH2G | CH2H
E Marepuan riunb3sl AntomuHueBbiit cnas | Hepx. ctamb Cranb | Hepx. ctams
aé)_ Pabouee pasnexue (MMa) | 3.5 7 14 14
?3 HuameTp nopluts (Mm) 32, 40, 50, 63, 80, 100
S | C MarHuTHsiM KobLiom EcTb EcTb [ Her [ Ecm
:S:
3
Z CTanpapTHble ANMHBLI Xofa
% Huametp CraHgapTHbie
o | Uwwngpa (Mm) ANMHb Xoaa (MM)
z | 32 40,50, 63 25 ~ 800
8 | 80,100 25 ~ 1000
o
g COBMECTHMOCTb C FMAPABAMYECKHMM JHAKOCTAMH
§ MakcumanbHo BO3MOXKHAs ANMHA Xopa TEpaBNyeckas XugkocTb COBMECTIMOCTb
= (nng HCcnonHeHWA ¢ OAHOCTOPOHHMM WITOKOM) MuHepanbHble rugpasn. Macna | CoBMeCTUMbI
Huametp MakcuManbHO BO3MOXHbIE AHbI Xofa (MM) Amynseun «Bopa B Macne»
uwnuHgpa (M) Amynscun <Macrio B Boge»
32, 40, 50 1800 (>1400 - Npu MCMONb30BAHIM KOJTbLIA KECTKOCTY Ha CTAKKAX) BogHo-rnuKonesble XUaKkocTu *
63 1800 (>1500 - npy Ucronb30BaHIMI KOMbLA XECTKOCTH Ha CTAXKAX) Docdharthl HecosmecTumbl
80’ 100 1800 * MHCbOpMaLI,MIO MOXHO NOAy4uUTb MO 3anpocy

Komnanua SMC coxpaHseT 3a co6o

MakcuMasisHo BO3MOXHast AMHA XOfia 3aBUCHT TaKke
OT TUMa KpeneHust FuaPOLMAMHADA 11 XapakTepa MPUNOXEHNs HarpyaKu.
Bonee noppo6Hyio MHGopMaLWio 06 orpaHieHAX ANMHBI XOfa MOXHO MOMY4UTb MO 3anpocy.

NnameTp wroka (Mm)

Tun wroka | Auametp unnuHapa (Mm)

32 40 50 63 80 100
B 18 224 | 28 355 | 45 56
© 18 224 | 28 355 | 45

MyTb pemndimpoBanns

[unametp MyTb

(mm) AemndpuposaHus (Mm)
32, 40 16

50 17

63 16

80 20

100 23

95




I'mopasnuyecKkuit uunuuap no JIS

CH2

Homuuanbhbie ycunua (H)

CH2E/CH2F/CH26/CH2H
[unametp [uameTp | Hanpaenexue Mnowanb Pabouee nasnenue (Ma)
UunuHapa (Mm) LToKa (MM)| nepemeLeHns nopLuHs (Mm°)[ 1 35 5 7 10 14
32 18 BbIABWKEHNE 804 804 2813 4019 5627 8038 11254
BTATMBAHVE 550 550 1923 2748 3847 5495 7693
40 224 BbIBVXEHVE 1256 1256 4396 6280 8792 12560 17584
BTATMBAHVE 862 862 3017 4311 6035 8621 12070
@l 50 28 BbIABWKEHVE 1963 1963 6869 9813 13738 19625 | 27475
% BTAMMBAHVE 1347 1347 4715 6735 9429 13471 18859
g| 63 355 BbIABWKEHVE 3116 3116 10905 15578 21810 31157 43619
= BTATMBAHVE 2126 2126 7442 10632 14885 21264 | 29769
80 45 BbIIBVXXEHVE 5024 5024 17584 | 25120 35168 50240 | 70336
BTATMBAHVE 3434 3434 12020 17172 24041 34344 | 48081
100 56 BbIABWKEHNE 7850 7850 27475 | 39250 54950 78500 109900
BTAMMBAHVE 5388 5388 18859 | 26941 37718 53882 | 75435
40 18 BbIABWKEHVE 1256 1256 4396 6280 8792 12560 17584
BTAMMBAHVE 1002 1002 3506 5008 7012 10017 14023
50 224 BbIIBVIXEHVNE 1963 1963 6869 9813 13738 19625 | 27475
2 BTATMBAHVE 1569 1569 5490 7843 10980 15686 | 21961
3| 63 28 BbIBVXEHVE 3116 3116 10905 15578 21810 31157 43619
é BTATMBAHVE 2500 2500 8751 12501 17502 25002 | 35003
=l 80 355 BbIABWKEHVE 5024 5024 17584 | 25120 35168 50240 | 70336
BTAMMBAHVE 4035 4035 14121 20174 28243 40347 | 56486
100 45 BbIBVXEHVE 7850 7850 27475 | 39250 54950 78500 109900
BTATMBAHVE 6260 6260 21911 31302 43823 62604 | 87645
CH2EW/CH2FW
[nametp [nametp [Mnowaab Pabouee fasnenme (MMa)
uanuHEpa (MM) | wroka (Mm) | nopwHa (M%) | 1 35 5 7
32 18 550 550 1923 2748 3847
o| 40 224 862 862 3017 4311 6035
% 50 28 1347 1347 4715 6735 9429
5| 63 355 2126 2126 7442 10632 14885
= 45 3434 3434 12020 17172 24041
100 56 5388 5388 18859 26941 37718
40 18 1002 1002 3506 5008 7012
(é) 50 224 1569 1569 5490 7843 10980
g 63 28 2500 2500 8751 12501 17502
gl 80 35.5 4035 4035 14121 20174 28243
=[ 100 45 6260 6260 21911 31302 43823

Macca unnnugpoB (kr)

CH2EW/CH2FW

Co wroKom ucnonHenus B

Co wroKom ucnonHexus C

1%} Mogenb | Basosas macca (Hynesoi xof) JIOMOmHMT. 1%} Mogenb | _Basosas macca (Hynesoi xof) JlOMONHNT.
(Mm) B LA EC e LB FA macca Ha (mm) B LA EC liC LB FA macca Ha
(7MMa) [ 10 mm xopa (7MMa) [ 10 Mm xopa

32 CH2E | 2.94 393 | 379 | 343 |344 3.38 | 0.04 40 CH2E | 3.74 |[504 | 483 |433 |[432 433 |0.07
CH2F | 2.93 3.92 3.78 | 342 | 343 3.37 | 0.04 CH2F | 3.71 5.01 480 |4.30 |[4.29 430 |0.07

40 CH2E | 3.82 512 | 491 441 | 440 |44 0.08 50 CH2E | 6.21 8.81 817 | 7.05 |7.01 7.29 |0.07
CH2F | 3.79 509 | 488 |438 [437 |438 |0.08 CH2F | 6.1 8.71 8.07 | 6.95 | 6.91 7.19 |0.08

50 CH2E | 6.37 897 | 833 | 7.21 717 745 | 0.09 63 CH2E | 9.44 13.32 | 12.34 | 10.98 | 11.06 | 11.05 | 0.14
CH2F | 6.27 887 |823 |71 7.07 7.35 |0.10 CH2F | 8.66 12.74 | 1176 | 10.40 | 10.48 | 10.47 | 0.14

63 CH2E | 9.75 13.63 | 12.56 | 11.29 | 11.37 | 11.36 | 0.17 80 CH2E | 14.56 | 19.91 | 19.15 | 16.58 | 16.92 | 17.25 | 0.18
CH2F | 9.16 13.04 | 12.06 | 10.70 | 10.78 | 10.77 | 0.17 CH2F | 13.92 | 19.27 | 18.51 | 15.94 | 16.28 | 16.61 | 0.21

80 CH2E | 15.00 | 20.35 | 19.59 | 17.02 | 17.36 | 17.69 | 0.24 100 | CH2E | 20.76 | 31.57 | 28.23 | 24.41 | 24.18 | 25.36 | 0.29
CH2F | 14.36 | 19.71 | 18.95 | 16.38 | 16.72 | 17.05 | 0.26 CH2F | 20.20 | 31.01 | 27.67 | 23.85 | 23.62 | 24.80 | 0.30

100 | CH2E | 21.82 | 32.63 | 29.29 | 2547 | 25.24 | 26.42 | 0.41
CH2F | 21.26 | 32.06 | 28.73 | 24.91 | 24.68 | 25.86 | 0.46

96




O

SNCR I'mppasnuyeckuit uunuuap no JIS
CH2

GH2E/CH2F/CH26/CH2H

Co wToKOM McnonHewns B

%] Mogenb | Basosas macca (Hynesoi xon) [ononHutenbHas
(Mm) B LA FY, FZ FC,FD | CA CB TC LB FA, FB macca Ha 10 Mm
(7MMNa) | xopma
32 CH2E 2.50 3.49 - 3.35 2.95 3.06 2.99 3.00 2.94 0.04
CH2F 2.49 3.48 - 3.34 2.94 3.05 2.98 2.99 2.93 0.04
CH2G 2.59 3.58 3.12 3.44 3.04 3.15 3.08 - - 0.06
CH2H 2.60 3.59 3.13 3.45 3.05 3.16 3.09 - - 0.05
40 CH2E 3.27 4.57 - 4.36 3.91 412 3.86 3.85 3.86 0.08
CH2F 3.33 4.63 - 4.42 3.97 418 3.92 3.91 3.92 0.08
CH2G 3.66 4.96 4.36 4.75 4.30 4.51 4.25 - - 0.10
CH2H 3.55 4.85 4.25 4.64 419 4.40 414 - - 0.10
50 CH2E 4.90 7.50 - 6.86 6.06 6.07 5.74 5.70 5.98 0.09
CH2F 4.98 7.58 - 6.94 6.14 6.15 5.82 5.78 6.06 0.10
CH2G 5.49 8.09 6.98 7.45 6.65 6.66 6.33 - - 0.14
CH2H 5.32 7.92 6.81 7.28 6.48 6.49 6.16 - - 0.14
63 CH2E 7.93 11.81 - 10.83 10.67 10.68 9.47 9.55 9.54 0.17
CH2F 7.69 11.57 - 10.59 10.43 10.44 9.23 9.31 9.30 0.17
CH2G 8.49 12.37 10.64 11.39 11.23 11.24 10.03 - - 0.20
CH2H 8.43 12.31 10.58 11.33 1117 11.18 9.97 - - 0.20
80 CH2E 13.00 18.35 - 17.59 16.40 16.40 15.02 15.36 15.69 0.24
CH2F 12.89 18.24 - 17.48 16.29 16.29 14.91 15.25 15.58 0.26
CH2G 14.77 20.12 18.34 19.36 18.17 18.17 16.79 - - 0.34
CH2H 14.21 19.56 17.78 18.80 17.61 17.61 16.23 - - 0.30
100 CH2E 18.97 29.78 - 26.44 25.15 25.15 22.62 22.39 23.57 0.41
CH2F 19.37 30.17 - 26.84 25.55 25.55 23.02 22.79 23.97 0.46
< CH2G 2217 32.98 28.62 29.64 28.35 28.35 25.82 - - 0.49
3 CH2H 21.81 32.62 28.26 29.28 27.99 27.99 25.46 - - 0.54
8
E Co wroKom ucnonuexus C
3 1%} Mogpenb | Basosasi macca (Hynesow xog) [TlononHuTensHas
ag)' (Mm) B LA FY, FZ FC,FD | CA CB 11 LB FA, FB macca Ha 10 Mm
2 (7MMa) | xopa
8 | 40 CH2E 3.19 4.49 - 4.28 3.83 4.04 3.78 3.77 3.78 0.07
i CH2F 3.25 4.55 - 4.34 3.89 410 3.84 3.83 3.84 0.07
g CH2G 3.58 4.88 4.28 4.67 422 443 417 - - 0.09
qg) CH2H 347 477 417 4.56 4.1 4.32 4.06 - - 0.09
% 50 CH2E 474 7.34 - 6.70 5.90 5.91 5.58 5.54 5.82 0.07
'q') CH2F 4.82 7.42 - 6.78 5.98 5.99 5.66 5.62 5.90 0.08
% CH2G 5.33 7.93 6.82 7.29 6.49 6.50 6.17 - - 0.12
3 CH2H 5.16 7.76 6.65 7.12 6.32 6.33 6.00 - - 0.12
E 63 CH2E 7.62 11.50 - 10.52 10.36 10.37 9.16 9.24 9.23 0.14
g CH2F 7.39 11.27 - 10.29 10.13 10.14 8.93 9.01 9.00 0.14
e CH2G 8.19 12.07 10.34 11.09 10.93 10.94 9.73 - - 0.17
g CH2H 8.13 12.01 10.28 11.03 10.87 10.88 9.67 - - 0.17
§ 80 CH2E 12.56 17.91 - 17.15 15.96 15.96 14.58 14.92 15.25 0.18
8 CH2F 12.45 17.80 - 17.04 15.85 15.85 14.47 14.81 15.14 0.21
S CH2G 14.32 19.67 17.89 18.91 17.72 17.72 16.34 - - 0.28
E CH2H 13.77 19.12 17.34 18.36 1717 1717 15.79 - - 0.25
§ 100 CH2E 17.91 28.72 - 25.38 24,09 24.09 21.56 21.33 2251 0.29
§ CH2F 18.31 29.12 - 25.78 24.49 24.49 21.96 21.73 22.91 0.30
6] CH2G 21.11 31.92 27.56 28.58 27.29 27.29 24.76 - - 0.42
% CH2H 20.75 31.56 27.20 28.22 26.93 26.93 24.40 - - 0.38
§
s
N

97




Imppasnuyeckuil uunuuap no JIS

CH2

JlemmchupoBanne B KoHLUE XoAa

[lemndpep nNonHoOCTbI0 NornoLLaeT KMHETUYECKYI0 SHEPruo ABUXYLLMXCA yacTel, ecnm Touka,
COOTBETCTBYOLLAA Macce Harpy3Kkun u CKOpoCTU ABWXEHUA NOPLLUHA, pacnonaraeTca He Bbllle NMHUNK, nokasaHHo Ha rpaq)vn(e

CH2E
LUTOK UCnonHeHus B, BTarvBaHue, aasnenue 3.5 MMa
= N
s 10000 S
- % -~ = N
E — \\ ~— 3100
©
m : ~ ~o80
< ~
= NN TNNoss
(0]
8 1000 — @50
a \\\ \\
= NN
AN
Yad0
Bz
100
10 100 1000
CKopocTb (Mm/c)
CH2E
LITOK UcnonHeHus C, BTaruBaHue, aasnexve 3.5 MMa
£ ‘\
g 10000 N N
S - ~ ~
- = = e ——
g TS oSoS o100
m é ™ \‘:\ “Ne8o
=
=N \
g 1000 - \\>m63
= ] 250
= ~
N\
“Ne40
100
10 100 1000
CkopocTb (Mwm/c)
CH2E
BblBWXEHME LITOKA, AaBneHue 3.5 MlMa
— N
= ~
S 10000 \‘\‘
g M = . “‘\. = .
= = < \\ ~— \.\
> g ~ N~ 5100
z N SN N -
m z ™ ~ hE
N
g 1000 — \s 063
< e~
= o
S \\
\\ 240
100 232
10 100 1000
CKopocTb (Mw/c)

98




r
@SNCR I'mppasnuyeckuit uunuuap no JIS
CH2

CH2F

LUTOK UCNonHeHus B, BTsirvBaHue, aasnexue 7 MMa

P I N N \\. = 280
N SN -

@63

~
~N
- N

MpucoeuHerHas Macca (kr)

‘\ \\
AN
~_ 40
No32
100
10 100 1000
CKopocTb (Mwm/c)
CH2F
LITOK UcnonHeHus C, BTAruBaHve, aaenexune 7 MiMa
~
™~ \‘\
= ™ \
= 10000 = \\\ \\\\
< 8 <8100
= < s ey . .
5 = NSNS Noso
z 8 AN ~TN
=
x % \350
3 m S 1000
o E_ Y
g = h
@ ~
Q ~ g40
=
x
s
4
(&
Q 100
3 10 100 1000
) CkopocTh (Mm/c)
[0}
=
I
[0
(&}
¢
@ CH2F
©
I BbIABVKEHWE LITOKA, AaBneHue 7 MMa
2
% o \
= J N\
8 = NN
© = 10000 B  S——
:2 3 ~ S NS N
& g RS Ssos12100
S = LN SN RSN
g = \\ h N \\\ N80
R — I
X z \\\
o T
o m = \ \”63
2 g 1000 —— 250
3 = ~ \\
I
© N\,
s N Na40
< N2
100
10 100 1000
CkopocTb (Mm/c)

99




Imppasnuyeckuil uunuuap no JIS

CH2

CH26, CH2H

LUTOK UCTonHeHus B, BTarueaHue, gasnexve 14 Mia

CH26, CH2H

LUTOK UcnonHeHus C, BTArmBanue, faenexue 14 MMa

GH26, CH2H

BbIOBUXEHWE LUTOKA, AaBneHue 14 MIMa

CKopocTb (Mm/c)

100000
S
NN
NN
— AN \\\\
x
5 \\ \ 2100
S 10000 — T
; ‘\\ ‘\\ \\\\\\
2 AN N1 @63
2 ANEIAN 50
% \ \\
g NN\
S 1000 o= S
\\
N@32
100
10 100 1000
CKopocTb (Mm/c)
100000 =
N
AN
A SN
= < \ \
8 N \\ \\moo
8 10000 NN N
= < S @80
= ~ ~
g AN S 063
: N
§: \\ @50
L
g \
S 1000 —
100
10 100 1000
CKopocTb (Mm/c)
100000 =
\\
N,
LSS
N\ \\
= \\ \\
= N
= g \ \
S 10000 N \\\ \\\\ o100
= Y g S AN
= \\ \\ \\ ~ @80
% h N
3 A NN N 063
I
5 AN \\ 250
g \
s
2 1000 =
232
100
10 100 1000

100




r
@SNCR I'mppasnuyeckuit uunuuap no JIS
CH2

Homep nnga 3aka3a
Pacnonoxenue
NpUCOEANHUTENLHOTO OTBEPCTHA
¥ KnanaHa femndpepa
CH[D] 2 [F]WI[LAI[50l[B] - [100][ [} T spernertir___
_ LALB  [FrFrZz | B
°® CA,CB, TC
- | bes marHuTHOro KombLa
WcnonHeHus
D | C marHuTHbIM KONbLIOM
JE |- [ Her =
=3
Ss| A | Ecm : }
Martepuan runb3bl o——
= | bBes3awurbl
Matepuan runb3sl HomuHanbHoe s LiToKa
- AABTGHHe S [ 9 | Heinon A
E | Anmomunuessiicnnas | 3.5MfMa g (00 60°C)
F | Hepxaselowas cranb | 7 MMa g K | Heonpetosas Tkatb
G | Cramb 14 MMa (mo 110°C) C
H | Hepxaselowasa crans o» | = | [OBycTopoHHuiA
H Aemndep
g ;
Tun . g N | bBes gemndupoBaHus e — Tt
€ | R | HaBbigBuxeHum D
= | C ogHOCTOPOHHIM LUTOKOM H
= | H | Haprarusanum
W | C mBYCTOPOHHUM LUTOKOM '

*) Tonbko AR LMAMHAPOB

C OLHOCTOPOHHNM LUTOKOM
Tun kpennexus o——— E
B | basosbiii — Xog (Mm)
M. TabninLly CTaHAAPTHbIX XOL0B
LA | Ha nanax ¢ Ly cranpap A
LB | Ha nanax F
L e [lnamertp wroka

1 NMpaBO Ha BHECEHNE TEXHUYECKNX N Pa3MepPHbIX UBMEHEHUN

FA | TepepHuii npamoyronbHblil pnanel
FB*| 3apHuii npamoyronbHblil inaxeL,

B | WcnonHeHve B

Ona
14MMa | 3.5, 7MMa

(93| (@} 4| £

FY*| MepenHuii npamoyronbHbiii chnakeL ® [iuametp Bl Vicnonuenie C G
FZ*| 3apsuii npamoyronsHbii hnaney, | & 32( 32mm Ans unnnkppos 332
= o LUTOK MMEET TOMbKO UCroNHeHMe B
FC | MepepHuii kagpaTHbiil praHe, 40| 40 mm
FD*| 3apHuii kBagpatHbiil chnaHeL, 50| 50 mm
CA*|LLlapHupHas onopa 63| 63 Mm H
CB* [goiiHas LwapHupHas onopa 80| 80 mm
TC | LleHtpanbHas uanda 100( 100 mm

27 TlpucoeanHuTeNbHOE OTBEPCTUE
*) TonbKo 18 LUNMHAPOB i
C OfHOCTOPOHHYM LUTOKOM & Knana+ gemncbepa

Ha pucyHKax nokasaH Bua Co CTOPOHbI KOHLa LUTOKa

ﬂ,aT“II/IKI/I NONOXEeHNA 3aKasblBalTCA OTAEJIbHO.

Komnanua SMC coxpaHseT 3a co6o

101




I'mopasnuyecKkuit uunuuap no JIS

CH2

KoncTpykunsa

2\
v\

AR/

CneundnKaumus
Mo3.| HanmeHosaHue Marepuan Mpumeyanns
1 KpblLuka WwrokoBas Yrnepogucras cranb Okpacka MeTannmk
2 KpbiLuka 3agHss Yrnepogucras cTanb Okpacka MeTanmnmk
3 O6orima Yrnepoguctas cTanb Okpacka MeTanmnmk
(ncnonHeHve wroka B) PeKomnneKTbl
4 O6oitva YrnepoaucTas cranb Okpacka MeTannmk CH2E/CH2F/CH2G/CH2H
(ncnonHenve wwroka C) > Homep KomnexTa
5 Crorop Yrnepoaucras ctanb Okpacka MeTanmmk e e e
6 vnb3a uunuHopa CH2E AnOMUHWEBBIN CNNaB AHoaumpoBaHue 30 CH2E32B-PS
CH2F HepxasetoLas cTanb CH2F32B-PS -
CH2G | Ymepopucras cranb | Okpacka MeTanmmk CH2G32B-PS
CH2H32B-PS
CH2H Hepxasetowasn cranb
7 MopLueHs CH2E | AmiomuHveBbIit CriniaB e gnggjgggg 8:2:528852
CH2F Hepxasetolasi cTanb CH2G40B-PS CH2G40C-PS
CH2G Yrnepoauctas cTanb CH2H40B-PS CH2H40C-PS
CH2H HepxasetoLas cTanb 50 CH2E50B-PS CH2E50C-PS
8 [lemndhepHas BTynka CranbHoit npokat 8:2255%?3288 g:gg%%%iss
9 [lemncpepHas BTynKa - ravika CranbHoit npoka CH2H50B-PS CH2H50C-PS
10 Hanpasnstowmin BknagbiLL MepHbiit cnnas 63 CH2E63B-PS CH2E63C-PS
(cnonHeHve wToka B) CH2F63B-PS CH2F63C-PS
11 | HanpaBnsiolywii BKNagbILL MeqHblit cnnas CH2G63B-PS CH2G63C-PS
(vcnonHenve wroka C) CH2H63B-PS CH2H63C-PS
12 | LWrok Yrnepoaucras cTarnb XpomupoBaHue 80 CH2E80B-PS CH2E80C-PS
(vcnonHeHue B) (ranbBaHMyeckoe) CH2F80B-PS CH2F80C-PS
CH2G80B-PS CH2G80C-PS
13 LLTok Yrnepogucras ctanb XpomupoBaHue
(ncnontHenve C) (ranbBaHU4eckoe) CH2HBOB-PS CH2HBOC-PS
14 LUnunbka YrnepogucTtas ctanb 100 gngﬂggg’gg 8:3:51188&:52
15 laitka Yrnepogucras cranb CH2G100B-PS CH2G100C-PS
16 Knanan gemncupytoLLmi JlerupoBaHHas ctanb CH2H100B-PS CH2H100C-PS
17 Taiika yrnepoavcras cranb PemkomnnekT copepxut ynnotHerus (no3.21- 30)
18 Knanah cbpoca Bo3ayxa JlervpoBaHHas cTanb 11 MOXeT BbITb 3aKa3aH [N KaXOro 13 YKa3aHHbIX AMaMeTPOB LIMMMHAPOB
19 LLlapvk obpaTHoro knanaHa MoawmnHukoBas cTanb CH2EWICH2FW
20 KonbLo ctonopHoe VHCTpyMeHTanbHas cTanb
(%] Homep komnnekta
21 Marxeta lMnactuk
(Mm) | WcnonHenne wroka B| Wenonxerve wroka C
22 Ckpenep (ucnonHexme B) NBR
32 CH2EW32B-PS CH2EW32C-PS
23 | Ckpenep (ucnomHenue C) NBR CH2FW32B-PS CH2FW32C-PS
24 YnnoTHeHue WTOKa (MCHOHH. B) NBR 40 CH2EW40B-PS CH2EW40C-PS
25 | YnnotHeHve wroka (ucnonH. C) [ NBR CH2FW40B-PS CH2FW40C-PS
26 | YnnoTHeHwe uunuHopa NBR 50 CH2EW50B-PS CH2EW50C-PS
27 YNnoTHUTENbHOE KOMbLO NBR CH2FWS50B-PS CH2FWS50C-PS
28 | [Mpoknagka o6oimbl NBR 63 CH2EW63B-PS CH2EWB3C-PS
CH2FW63B-PS CH2FW63C-PS
29 | YnnotHeHwe knanaHa NBR
80 CH2EW80B-PS CH2EW80C-PS
30 | YnnoThetue aeMnicbepa - CH2FW80B-PS | CH2FW80C-PS
|| Tz NBR 100 | CH2EW100B-PS | CH2EW100C-PS
32 | Markur - CH2FW100B-PS | CH2FW100C-PS

102



r
@SNCR I'mppasnuyeckuit uunuuap no JIS
CH2

Pasmepbi
Ctanpaprt
2-Rc P RT GB
CH2EB, CH2FB, CH26B, CH2HB R oA | e e
H+Q+¢ /
MM .
e ? ===
g - ulg RO ————2 O
J — 1 1
_ oy I o i " -
= E} PaccrosHmne mexp; | n i i
nnockoctamu G bisie i "
10| [e] f ‘ ona MA \ /
ay. A Kl |FIT NA N\ C6poc Bo3ayxa NB
ZZ+Q+L+Xon H S + Xon M
ZZ + Xop
Paamepbl MakcumanbHblii Xop
2 X0 (€ KONbLIOM XEeCTKOCTN Ha CTAXKaX)
a
(Mm) (Mm) B ¢ F QA3 pOE J M NA | B at R S LI @ (Mm) Xop* (Mm) [ RT | RY | * yiononsayiorcs
H2E.
32 |25~1400| 58 | 38 | 16 | 32 | 15 | M10x125 | 11 | 37 | 31 | 3/8 | 39 | 141 | 11 32 | 1401 ~1800 | 28 | 58 | wrr oo
40 [25~1400] 65 | 45 12 | 32 [ 15 [miox125 [ 11 [ 36 | 30 | 3@ | 42 [ 141 [ 11 40 | 1401 ~1800 | 28 | 65 | Korwerwpyine
50 [25~1a00] 76 | 52 | 15 | 40 | 19 | mM10x125 | 11 | 43 | 35 [ 12 | 46 | 155 | 13 50 | 1401 ~1800 | 33 | 75 | nosonpocaw,
63 [25~1500] 90 | 63| 15 | 42 [ 19 [ m12x15 [ 14 [ 43 | 35 | 12 | 52 [ 163 | 15 63 | 1501 ~1800 | 43 | 90 | B
80 |[25~1800[ 110 | 80| 17 [ 40 [ 22 | m16x1.5 [ 16 | 44 | 44 [ 34 | 65 [ 184 | 18 80 — — | — | cepmCH2G
100 |25 ~1800] 135 | 102 [ 19 | 42 | 22 [ M18x15 | 18 | 44 | 44 | 34 [ 75 [ 192 | 20 100 — — =1 pomiroa
HcnonHenns WToKoB
%) WcnonHeHve wroka B WcnonHenye wroka C
(wm) MM | Almal D[ E K| c|H|zz| mm [AaA][mA]D E |k|e|[H]|zz
32 M16x15 | 25 | 22 |18 | 34 | 7 | 14 | 55207 — — [ =[] =1=-T=1T=1T=1=1-=
40 M20x1.5 | 30 | 27 |224 |40 3025 9 [ 19 | 60 [ 212 | m16x15 | 25 | 2 [18 |36 7 | 1a | 55| 207
< 50 | M2ax15 35 | 32 |28 |46 11 | 24 | 65| 231 | M20x15 | 30 | 27 | 224 | 40 | 99257 9 [ 19 | 0 | 226
S 63 M30x1.5 | 45 | 42 | 355 |55 | 0030 13 | 30 | 80 [ 257 | m2ax15 | 35 | 32 |28 | 46 11 | 24 | 70 247
z 80 M39x15 | 60 | 57 |45 |65 |0076| 15 | 41 | 95 | 295 | M30x1.5 | 45 | 42 | 355|585 | gg3p| 13 | 30 | 80 | 280
2 [ 100 | masx15 | 75 | 72 |56 [ 80 | BB88[ 16 | 50 | 115 | 325 | M39x15 | 60 | 59 [45 | 65 0076 15 | 41 | 100 | 310
=
x
2 CH2EWB, CH2FWB M. GA,_ 2RcP GA J
: R | |
g | MM ! ! MM
S yse il = . g -
X \ z A
S A
) .
- O e & - - i : F o
2
'a_.> + PaccTosHue mexay 't ! 1 _ T j PaccrosiHue mexay
] nnockoctamn G h 1 nockocTAMM G
3 oc — oS
3 MA MA
] OB C6poc Bo3ayxa
2 A _|K|_|F|T| NA NA _|T|F K, A
o
© H S+ Xog H+
Q ZZ + 2 Xopa
8 P
= a3Mepbl Paamepbl [l HCMONHEHH € 3ALMTOR WTOKA
o
S | 2 |xoamw |[B |Cc |F|GA J M |NA|P |R|sS |T o e f7a [
S | (uw) (um) | vien. B] Ven.C Men.B | Men.C
8 32 | 25~800 | 58 | 38 |16 | 32 | mtox125| 11 | a7 | a8 |30 | 158 | 1 9 |52 - 2151 15 1135 |-
B . .
2 40 | 25~800 | 65 | 45 [ 12 | 32 | M10x125 | 11 | 36 |38 | 42 | 158 | 11 0 |5 5 12 115 |xoma |135
8 50 | 25~800 | 76 | 52 [15 | 40 | Mi0x125| 11 [ 43 | 12 |46 | 176 | 13 50 |55 5 5 | 15 xoga
3 63 | 25~800 | 90 [ 63 |15 | 42 [Mi2x15 [ 14 [ 43 | 12 |52 [ 186 | 15 63 |65 55 15 | 20 | 14 xom
0 80 | 25 ~1000 (110 | 80 [17 | 40 [ M16x15 | 16 | 44 [ 314 | 65 | 202 | 18 50 | 80 65 7 20 T4 rom
2 | 100 |25 ~1000[135 |102 |19 [ 42 | m18x15 |18 | 44 | 34 | 75 [ 212 | 20 100 100 80 9 1 15
£ Wcnonxenws wroxos
g (%) McnonHexve wroka B McnonHerue wroka C
S | (wm) MM A[ma] D E K|lc | nu|[z MM AlmalD]| E K|c|H]|zz
32 | Mi6x15 | 25 | 22 [18 | 34 7| 14 | 55268 — — | = —=1-]1-=-1=-1-=-1=1-
40 | m20x15 | 30 | 27 |224 | 40 :g'_ggf 9 [ 19 [ 0278 | m16x15 | 25 [ 22 [18 [36 00ps 71 14 | 55 | 268
50 | M24x15 | 35 | 32 |28 | 46 11 | 24 | 65306 | M20x1.5 | 30 | 27 | 22440 |7yoes| 9 | 19 | 60 | 206
63 | M30x15 | 45 | 42 | 355 55 |-0.030] 13 | 30 | 80| 346 | M2ax15 | 35 | 32 [28 |46 11 | 24 | 70| 326
80 | M3sx15 | 60 | 57 |45 | 65 |0078 15 | 41 | 95 |392 | M30x15 | 45 | 42 | 355[55 [-0.030] 13 | 30 | 80 [ 362
100 Magx15 | 75 | 72 |56 | 80 [5335] 16 | 50 | 115 [ 442 | Maox15 | 60 | 57 [45 [65 0076 15 | 41 | 100 | 412

103




Imppasnuyeckuil uunuuap no JIS

CH2

Ha nonepeynbIX nanax

Cbpoc
CH2ELA, CH2FLA, CH2GLA, CH2HLA Bosayxa 0B H S + Xon Lw
R J F__LW_ NA _2RcP NB
GA
H+Q+¢ /_ ‘—-'L/ G8
B _ MM | s
xTD ! s
[ | L b w
8 I ! i ; &%‘ __@ B - @
B O PN T \ - ,
L R % s TITF i
B - __¢ l4-0CD] | |
10 ¢ f 0c Paccrosiine - Y
vexay | JMA_|[K| X Y
S5+Q+¢+Xog LX nnockocTMA | A ss Z + Xop X M
ZZ+Q+¢+ Xon BB 2z + xon '
HcnonHeHus WToKoB
RT
|
o , [y - - (%) VicnonHenue wroka B Mcnonxenue wroka C
= £ |0 [ "wm [alma[o][ E [k[c|[H|zz mm [Ama[D| E [K|][G[H |z
| e : 52 32 [M16x15/25|22 [18 |34 714 esl220, — |—|—|—|—|—|—|—[——
; /L, [0 m20x15]a0] 27 [224]40 D020 o [19] 71]225|m16x 15[ 25 | 22 [18 |36 7|| 14 | 66 | 220
j} - T | 50 [M24x15/35 32 [28 |46 11[24 | 78[249 M20x15[30 | 27 [ 22440 J0%3| 9 [19] 73 244
— | 63 |M30x 1545 42 [ 35555 | 03013 |30 | 95|27 M2 x 1535 | 32 28 [46|  [11[[24 | 85]267
- 0076 5 P
MaKcHManbHbi Xog, 80 |M38x 15|60 57 |45 | 65 [076|15 |41 113|319 |M30x 1.5 45 | 42 | 355| 55 209 13 |30 | 98| 304
(C KOMBLIOM KECTKOCTM Ha CTSKKAX) 100 [M48x 15|75 | 72 |56 |80 |39 |16 |50 [135 [ 353 Mg x 1.5] 60| | 57 [45 |65 | 007515 |41 [120 | 338
Paamepbl
@ (Mm) | Xog*(Mm) | RT | RY
32 [ 1401~ 1800 | 28 | 58 P xon(w) | B |BB| C |F [6GA|GB| J |M|NA|NB| P |R|S cD|LH LT [LW|LX | LX Y|z |ss
(Mm) /Donyck fLonyck
40 | 1401~ 1800 | 28 | 65
B0 1401 = 1800 | 33 | 75 32 |25 ~ 1400 | 58[109| 38[14 [ 21| 15 [Mi0x125/ 11| 37 |31 38| 39 [130] 115 | |14 13 ] es 29]14 | 98| 57
T 40 |25 ~ 1400| 65]118| 45|10 | 21 | 16 M10x1.25) 11 | 36 [ 30 | 3/8 | 42 [130] 11 [37. 015 14 [ 13 | 05[+0.18[ 20 14 | 98| 57
30 — —— 50 |25 ~ 1400 | 76[145| 52|10 |27 | 19 |Mi0x 125 11| 43 |35 | 12| 46 [142] 14 [as 17 | 18 |15 35| 18 |108 | 60
= 63 |25 ~ 1500 90[165| 63[10 |27 | 19 \M12x15[14 | 43 |35 | 1/2| 52 [148] 18 50 19[20 132 . [41]19 [108] 71
— — = : 140,
Ycnonwsyioron s cepasx CHE, CHEF, CHzH 80 |25 ~ 1800|110] 190 80|11 | 22 | 22 [M18x 15 16 | 44 [ 44 | 31| 65 |166] 18 |60 o gst 241 24155 4520 [124] 74
Kouraktupyiite ¢ SMC no sonpocam, 100 | 25 ~ 1800 [135]230[102[11 | 22 | 22 |M18x 1.5] 18 | 44 | 44 | 314 | 75 [172] 22 |71 [27 | 28 [190:0.23] 53] 22 [122[ 85
KacaroLmmcs ucnonb3osanmns cepun CH2G
C BbllLieyKa3aHHbIM XOZ0M LUTOKa.
CH2EWLA, GH2FWLA H S +Xop H +Xoa
FLW NA_ 2RcP NA LW F
GA GA J
MM r‘ / MM
T | j
/ -
o1 : & JE
\ : J
' 1 '_ LI 1 H 1
| | G =R I 6
1 t —_— Paccrostue
e Pacm::;:? | | 4-CD mexay
nNoCKOCTAMM MA | (K X |y Y| X (M K|l MA | NnockocTamu
Lx - -
-~ ' A SS Z +Xop SS +Xog A
ZZ + 2Xopa
Paamepbl
| | |
(MS Xog(mm)(BB | B | C |[CD | F [GA| J LH | LT|{ww | Lx M| NA|P R|S |SS|X | Y| Z
32 |25~800(100 |58 | 38|11 | 14 | 21 |[Mi0x1.25[35 14 | 13 | 88 11137 38| 30 13657 | 20 | 14 | 104
40 [25~800 118 65 | 45| 11 | 10 | 21 [mi0x 125|375 vogsl 1] 13 95]+0.18| 11 | 36 | 38 | 42 [136 | 57 | 20 | 14 | 104
50 |25~800 {145 |76 | 52| 14 | 10 | 27 [m10x1.25/45 | | 17 | 18 |15 11 ] 43 |12 46 (150 [ 60 | 35 | 18 | 116
63 | 25-~800[165] 90 | 63] 18 [ 10 | 27 [M12x15 [50 19 | 20 1:32|+020 14 |43 [ 12 | 52 [156 | 71 |41 | 19 | 114
80 [25~1000, 190 [110 | 80 [ 18 | 11 | 22 m16x15 [60 | . [ 24| 24 [1556 "77[ 16 [ 44 34 [ 65 166 [ 74 [ 45 [ 20 [ 124
100 |25 ~1000(230 [135 [102 | 22 | 11 | 22 |m18x15 |71 | 7| 27 | 28 |190(+0.23| 18 | 44 |4 | |75 | 172 | 85 | 53 | 22 | 122
HcnonHeHns WToKoB
> VcrionHerue wroka B Wenorervie toka C
(vm) MM A [mA| D E K | G |H |z MM A MA| D E K| G| H|[2zz|
32 | M16x15 | 25 | 22 |18 | 34 7| 14| 66| 268 — - | =-1-=-1-1=-1-1=-1=-1-
40 | m20x15 | 30 | 27 [224| 40 |92 o | 49 | 71| 278 | M6x15 | 25 | 22 18 |36 g |14 | 66 [ 28
50 | M24x15 | 35 | 32 |28 |46 11 | 24 | 78| 306 M20x15 | 30 [ 27 [224| 40 | =v] 9 | 19 | 73| 206
63 | M30x15 | 45 | 42 [365] 55 |-0030] 13 | 30 | 95 | 346 | M2ax15 | 35 | 32 |8 | 46 11 | 24 | ]85 | 326
80 M39x15 | 60 | 57 |45 | 65 |-0076| 15 [ 41 | 113 | 392 | M30x15 | 45 ] 42 |355| 55 |.po3n| 13 | 30 | 98 | 362
100 | masx15 [ 75 [ 72 |56 [ e0 [ 3535 | 16 | 50 | 135 [ 4a2 | m3ox15 | 60 | 57 [ls |65 [0076[ 15 | 41 [ 20 [ 412

104




r
@SNCR I'mppasnuyeckuit uunuuap no JIS
CH2

Ha npoponbHbIX nanax
CH2ELB, CH2FLB, CH2GLB, CH2HIB  CGpoc 0B H 8§ + Xon

HeQ+e BO3ayxa te R /J K F|_GA 2-RcP Konbuo xecTkocti GB M

(Anst makc. xoza)

A

| -M’- R S —
@r@l S € "‘—:‘/ T ]
- ) :

— 5 O 4o o #—0-

-

4-CD

JEH [0 T o = B/
2 2 | . p—
| ) N Paccrostie HEH y \ L_Hl._ i
10 ¢ f LX 5 Mexay 71 NA Cobpoc Bosayxa NE
| nNocKoCcTAMU
SS+Q+¢+Xoa BB i, x1 S + Xon X1 Y1
ZZ+Q+¢+ Xon Z+Xon
ZZ + Xop
Pa3mepbl
4 Xoo(vm) | B |BB| C | F |GA|GB J M | NAINB|P | R|S | T |CDILH LT |LX LW|X1|¥1|S5| 2
(Mm) Jonyck JMonyck
32 | 25 ~1400 | 58| 62| 38|16 | 32 |15 |M10x1.25/ 11 | 37 | 31 |3/8| 39 [141| 11 [ 11 | 40 8| 40 013 30| 32|13 |203|205
40 | 25 ~ 1400 | 65| 69| 45| 12| 32| 15 |M10x1.25) 113630 |3/8| 42 |141) 11| 1143 | . | 8 46| |33 |32 13 |203|205
50 | 25 ~1400 | 76| 85| 52| 15 | 40 | 19 |M10x1.25) 11 | 43 | 35 [1/2| 46 |155| 13 | 14 | 50 [ 8| 58 015 37 | 35| 15 |220|225
63 25 ~1500 | 90| 98| 63| 15 | 42 |19 [M12x1.5| 14 | 43| 35|1/2| 52 [163| 15| 18 | 60 10 | 65| |45 | 42 | 18 | 240|247
80 25 ~1800 (110|118 80| 17 | 40 | 22 [M16x1.5| 16 | 44 | 44 |3/4 | 65 |184| 18 | 18 | 72 1075 12 | 87 0.18 50 | 50 | 20 |269|284
100 25 ~1800 [135(150(102| 19 | 42 | 22 [M18x 1.5 18 | 44 | 44 |3/4| 75 [192| 20 | 22 | 85| |12 |109 - 55 | 55| 23 |287|302 MaKkcumanbHblil Xop
(C KONbLOM XecTKOCTH
HcnonHenus WToKoB Ha CTAKax)
(M'?) VicnonHerue wroka B VicnonHerme wroka C @ (M) | Xom*(mm) |RT|RY
MM A [MA| D E K|G|H|[ZZ| MM A [MA| D E K|G|H|ZZ a2 1401 ~ 1800 | 28 | 58
32 M16x15| 25 | 22 |18 | 34 0,025 7114 | 55|241 - - === — ||| | 40 1401 ~ 1800 | 28 | 65
40 M20x1.5| 30 | 27 [22.4| 40 0,064 9|19 | 60|246 |M16x1.5| 25 | 22 |18 |36 0025 7|14 | 55|21 50 1401 ~ 1800 | 33 | 75
50 |M24x1.5| 35 |32 |28 |46 11 [ 24 | 65|270 |M20x 1.5| 30 | 27 |22.4|40 |pesl 9 | 19 | 60265 63 | 1501 ~ 1800 | 43 | 90
63 [M30x1.5| 45 | 42 |35.5| 55 |g.030| 13 | 30 | 80|303 [M24x 15| 35 | 32 |28 |46 11 | 24 | 70|293 80 — N
S 80 |M39x1.5] 60 | 57 [45 | 650076 15 | 41 | 95[349[M30x 1.5] 45 | 42 |35.5] 55| .0.030] 13 | 30 | 80[334 100 — —T=
5 100 [masx15] 75 | 72 |56 [80] 2% 16 | 50 [115[385 |M39x1.5] 60 [ 57 [a5 |65]076[ 15 [ 41 [ 100|370  Venonbayiotcs 8 cepnax CHZE, CHZF, CH2H
3 Kowraktupyiite ¢ SMC no Bonpocam,
s KacaloLLmes ucnonb3osanus cepun CH2G
2 EHZEWLB' EHZFWI.B C BblLLEYyKa3aHHbIM XOA40M LUTOKa.
< H
g OB H ) +Xog
0
g)_ oc SS +Xoa -
3 R J M‘: KGR 2-Rc P GA " K ;A
o
= | e A | o
x MM | II MM
: /Il | g : TTE \
] 7 AN
= e
4 ¢ O : & A of
e
@ ] - - o 4-0CD
3 S : ' S G
3 PaccrosiHne HEH y "\ / q HEE
% - mexay T NA C6poc BO3MyXa NA T PaccrosHne
=d| M0CKOCTAMU vexay
g Y1 X1 S +Xoa X1 Y1 NNOCKOCTAMMA
% Z +Xop
2 ZZ + 2 Xopa
)E Pa3mepbl
©
8 @ (mm) | Xog(vm) |BB| B | C | CD | F | GA J LH LT | LW LX M |NA| P R|S |SS5| T |X1| Y z
3 32 |25~800| 62| 58| 38| 11 | 16 | 32 |M10x1.25| 40 8| 30 | 40 11| 37 | 38| 39 |158 | 220 | 11 | 32 | 13 | 222
E 40 | 25~800| 69| 65| 45| 11 | 12 | 32 IM10x1.25| 43 |+0 15 8| 33 | 46|+0.13| 11 | 36 | 3/8 | 42 | 158 | 220 | 11 | 32 | 13 | 222
§ 50 25~ 8B00| 85| 76| 52| 14 15 | 40 |[M10x1.25|50 | 8 | 37 | 58 11 | 43 | 1/2 | 46 | 176 | 241 | 13 | 35 | 15 | 246
3 63 |25~800| 98| 90| 63| 18 | 15 | 42 M12x15 | 60 | 10 | 45 | 65 +0.15 14 | 43 | /2| 52 | 186 | 263 | 15 | 42 | 18 | 270
8 80 |25 ~1000| 118|110 | 80 | 18 | 17 | 40 |M16x15 |72 40,95 12| 50 | 87| 16 | 44 | 3/4 | 65 | 202 | 287 | 18 | 50 | 20 | 302
% 100 |25 ~1000| 150 | 135 | 102 | 22 | 19 | 42 IM18x1.5 | 85 |_ ’ 12 | 55 [109|+018| 18 | 44 | 34 | 75 | 212 | 307 | 20 | 55 | 23 | 322
% Hcnonxenus wWToKos
g %] WcnonHenue wroka B VcnonHerme wroka C
2 (m) MM A |MA| D E K |G| H|2zz MM A |MA| D E K|G|H |zz
32 M16x 1.5 25 22 18 34 T 14 55 | 268 — — — — | — — — — — —
40 M20x 1.5 30 27 | 224 | 40 :ggé‘? 9 19 60 | 278 | M16x1.5 25 22 | 18 36 T 14 55 | 268
50 M24 x 1.5 35 32 28 46 11 24 65 | 306 M20x 1.5 30 27 | 22.4 | 40 gggﬁ 9 19 60 | 296
63 M30x15 | 45 | 42 | 355 | 55 | go30 | 13 | 30 80 | 346 | M24x15 | 35 | 32 |28 |46 11 | 24 | 70 | 326
80 M39x1.5 60 57 | 45 65 | -0.076 | 15 41 95 | 392 | M30x1.5 45 42 | 355 |55 | go3n| 13 30 80 | 382
100 Magx15 | 75 | 72 [ 56 |80 | 3335 | 16 | 50 | 115 | 442 | M39x15 | 60 | 57 |45 |65 |-0076| 15 | 41 | 100 | 412

105




Imppasnuyeckuil uunuuap no JIS

CH2

C nepepgHMm NpAMOYronbHbIM hnavuem
CH2EFA, CH2FFA, CH2GFY, CHZHFY

H+Q+¢ 4-9FD R GA  2RcP |§§
MM — i
A : S
g — 84S O O
C6poc
- == BO3ayxa - - -
—_— G - ]
¢ f Paccrostve | MA ||K| |F l\ /‘;
10 Mexay ar CBpoc Bo3yxa
SS+Q +¢ +Xon nocKoCTAMM A Ss |1 NA ,ﬂ,
ZZ + Q + ¢ +Xon H S + Xoa
ZZ + Xog
CH2EFA, CH2FFA
Pasmepbl
@
() | Xon(wm) | B |[BB| C | F |GA|GB J M [NA[NB| P | R| S |FD|FT FX FY FZ | ss
32 |25~1400| 58| 62| 38| 16 | 21 | 15 [M10x1.25| 11 [ 37 | 31 | 3/8 | 39 |130| 11 | 11 88 40| 14| 109 30
40 |25~1400| 65| 69| 45| 12 | 21 | 156 [M10x1.25( 11 | 36 | 30 [3/8 | 42 [130] 11 | 11 02 95|:018| 46|  [118] 30
50 |25~1400| 76| 85| 52| 15 | 27 | 19 [M10x1.25| 11 | 43 | 35 | 1/2 | 46 |142| 14 [ 13 |7 “[115 58], 5 145] 30
63 |25~1500| 90| 98| 63| 15 | 27 | 19 [M12x1.5| 14 | 43 | 35 [ 1/2 | 52 [148] 18 | 15 I 65| | 165| 35
80 |25~1800|110 118] 80] 17 | 22 | 22 [M16x1.5| 16 | 44 | 44 |3/4 | 65 |166] 18 | 18 | 155 - 7 P ES
100 |25~ 1800 | 135|150 |102| 19 | 22 | 22 [M18x1.5| 18 | 44 | 44 | 3/4 | 75 [172| 22 | 20 |~ ~|190|#0.23| 109| | 230| 40
HcnonHeHus wWToKoB
%) VicnonHerue wroka B WcnonHenue wroka C
(M) MM A [MA| D E K|G|H|ZZ| MM A |MA| D E K|G|H|ZzZ
32 [M16x15| 25 | 22 |18 |34 7114 | es|207| — — === =|=|=|—|—
40 [M20x15| 30 | 27 |22.4| 40 jg'_gg;? 9|19 | 71|212|M16x15| 25 | 22 [18 |36 7 |14 | 66|207
50 [M24x15| 35| 32|28 |46 11 | 24 | 78]231|M20x 15| 30 | 27 [22.4]| 40 jg;ggf 9|19 | 73|226
63 |[M30x1.5| 45 | 42 |355(55|.go3o| 13 | 30 | 95[257 |M24x1.5| 35 | 32 |28 |46 11 | 24 | 85247
80 |M39x1.5 60 | 57 [45 |65|0076| 15 | 41 | 113|295 |M30x 1.5 45 | 42 |35.5(55 | 39| 13 | 30 | 98]280
100 |M48x15| 75 | 72 |56 [80| 5535 | 16 | 50 | 135|325 |M39x1.5| 60 | 57 |45 |65|-0.076| 15 | 41 | 120|310
CH2GFY, CH2HFY
Paamepbl
(MM% Xon(vv) | B |[BB| C | F [GA|GB J M|[NA|NB| P |[R| S |FD|FT FX FY FZ | SS
32 |25~ 1400| 58| 62| 38| 14 | 21 | 15 [M10x1.25 11 |37 | 31 |3/8| 39 [130) 11 | 13| | 88 40|, 151109 | 30
40 |25~ 1400| 65| 69| 45| 10 | 21 | 15 [M10x1.25 11 [ 36 | 30 | 3/8 | 42 [130| 11 | 13| | 95/:0.18) 46| |118| 30
50 |25~1400| 76| 85| 52| 10 | 27 | 19 |M10x1.25[ 11 | 43 | 35 | 1/2 | 46 |142| 14 | 18 115 58,45L148 | 30
63 |25~ 1500| 90| 98| 63| 10 | 27 | 19 [M12x1.5| 14 | 43 | 35 [ 1/2 | 52 [148| 18 | 20 031132, 65 |165| 35
80 |25~ 1800|110 (118 | 80| 11 | 22 | 22 |M16x1.5| 16 | 44 | 44 | 3/4 | 65 |166| 18 | 24 |~ |155| | 87 018 190 | 35
100 |25~ 1800|135 150|102 | 11 [ 22 | 22 |M18x1.5| 18 | 44 | 44 | 3/4 | 75 |172| 22 | 28 190 |20.23[108| | 230 | 40
Mcnonxexus WTOKOB
%] McnonHeHve wroka B WcnonHenwe wroka C
(Mm) MM | A [MA| D E K|G|H|[zz| mm | A [mMA| D E K|G|H|zz
32 |M16x15| 25 | 22 |18 |34 7|14 | e8|209| — — === == |—|—|—
40 |M20x1.5| 30 | 27 |22.4] 40 :g;ggi 9|19 | 73|214|M16x1.5| 25 | 22 |18 |36 7 |14 | 68|209
50 |[M24x15| 35|32 |28 |46 11 | 24 | 83|236|M20x1.5| 30 | 27 |22.4| 40 :g:géﬁ 9|19 | 78|231
63 [M30x15| 45 | 42 |35.5/55|.0030| 13 | 30 | 100|262 [M24x 1.5| 35 | 32 |28 |46 11 | 24 | 90252
80 |[M39x15| 60 | 57 |45 |65|0076| 15 | 41 | 119|301 [M30x1.5| 45 | 42 |35.5|55 |5 gap| 13 | 30 | 104 | 286
100 [M48x15| 75 | 72 |56 [80] 2% | 16 | 50 | 143 (333 [M39x 15| 60 | 57 [45 |65|0076| 15 | 41 [ 128|318

106




r
@SNCR I'mppasnuyeckuit uunuuap no JIS
CH2

CH2EWFA, CHZFWFA
4-gFD R F GA1l 2RcP GA2 J
1 MM — /7 : / MM
& @ / e’a"! : ) I : —T- \
2 \(} ELEE o T —J- 9«

""" — G — h 4 .G
oc Paccronrre | MA | K \ / M | _MA_| Paccroste
0B nnOCKO'VKI,?:(;Vqu T wSS FT| _NA Cbpoc Bosayxa / NA T|'|; K|l A rﬁmﬁcmmm
FX H S + Xon H+
FZ ZZ + 2 Xopa
Pasmepbl
(Mf) Xog (Mm) BB| B | C | F |FD FT FX FY FZ |GA1|GA2 J M | NA| P| R | S |SS|T
32 25~ 800 62| 58| 38|16 | 11 | 11 | 88 | | 40] 1013 109 21 | 32 |(M10x1.25) 11 | 37 | 3/8| 39 (136 30 | 1
40 25 ~ 800 69| 65| 45|12 | 11 | 11 0.2 | 95 | +0.18| 46 118 | 21 | 32 |[M10x1.25) 11 | 36 | 3/8 | 42 (136 | 30 | 11
50 25 ~ 80O 85| 76| 52|15 | 14 | 13 115 58 +0.15 145 | 27 | 40 (M10x1.25) 11 | 43 | 1/2| 46 [150 | 30 | 13
63 25 ~ 800 98| 90| 63|15 | 18 | 15 132 0.2 65 165 | 27 | 42 |M12x15 | 14 | 43 | 1/2| 52 | 156 | 35 | 15
80 25 ~ 1000 118 |[110| 80| 17 | 18 | 18 403 155 87 1018 190 | 22 | 40 (M16x15 | 16 | 44 | 3/4 | 65 [ 166 | 35 | 18
100 25 ~ 1000 150 | 135|102 | 19 | 22 | 20 190 |+0.23(109 230 22 | 42 |M18x1.5 | 18 | 44 | 34 | 75 | 172 | 40 | 20
HcnonHeHus WTOKOB
& VcnonHenme wroka B VcnonHerme wroka C
() MM A |MA| D E K G H 4 MM A |MA| D E K G H zz
> 32 M16x 1.5 25 22 | 18 34 7 14 66 | 268 - — — - | = - — — - —
40 M20x 1.5 30 27 | 224 | 40 :gg;i 9 19 71| 278 | M16x1.5 25 22 | 18 36 0.025 7 14 66 | 268
50 M24 x 1.5 35 32 | 28 46 11 24 78 | 306 | M20x1.5 30 27 | 224 | 40 :0:064 19 73 | 296
63 | M30x15 | 45 | 42 | 35555 | go30| 13 | 30 | 95| 346 [ M24x15 | 35 | 32 |28 |46 11 | 24 | 85 | 326
80 M39x15 60 57 | 45 65 [-0.076| 15 41 113 | 392 | M30x1.5 45 42 | 355 | 55 | go30 | 13 30 98 | 362
100 Ma8x1.5 | 75 | 72 |56 | 80 | 5936 | 16 | 50 | 135 | 442 | M39x1.5 | 60 | 57 |45 |65 |0076| 15 | 41 | 120 | 412

1 NMpaBO Ha BHECEHNE TEXHUYECKNX N Pa3MepPHbIX UBMEHEHUN

Komnanua SMC coxpaHseT 3a co6o

107




Imppasnuyeckuil uunuuap no JIS

CH2

C 3aaHUM NpAMOYronbHbLIM thnaHuem
CH2EFB, CH2FFB, CH2GFZ, CH2HFZ

H+Q+¢

GA

2-Rc P G8 4-0FD
N ] 7
— % N '. — T
. : ,
R - - IREEEEE
aof | Low h ;
Sl I 1 ) sl B @ - - Q__ 3 s ! K‘/ f
- IL 0 i
10 [ f_J Paccrostie [T NA‘\ C6poc Bo3pyxa /ﬁB FT oo
y Mexay
SS+Q+¢+Xon MI0CKOCTAMM MA l{.- £ S +Xon OB
e 0
A SS +X
ZZ+Q+¢+Xon oA FX
- ZZ +Xon FZ
CH2EFB, CH2FFB
Pasmepbl
@
) | Xoa(wm) (B |BB|C | F |GA[GB| J |[NA|NB|P |R|S |T [FD|FT FX FY FZ |ss
32 [25~1400] 58| 62| 38| 16 | 32 | 15 |[M10x125) 37 [ 31 [ 38 | 39 [141 [ 11 [ 11 [ 11 88 a0] - .[100] 182
40 |25 ~1400] 65| 69| 45[ 12 [ 32 | 15 [M10x1.25] 36 | 30 [ a8 | 42 [141 [ 11 [ 11 [ 11 10| 25[018[ 46 118182
50 |25 ~1400| 76| 85| 52| 15 | 40 | 19 |M10x125 43 | 35 | 1/2| 46 155 | 13 [1a [ 13| “[115 58], | 145]198
63 |25 ~1500] 90| 98] 63] 15 | 42 | 19 [M12x1.5] 43 [ 35 [ 12] 52 [163[ 15 [ 18 [ 15 132 | 65| "[165]213
80 |25-1800|110[118 80| 17 ' 40 | 22 M16x15| 44 |44 | 34| 65 [184 |18 [18 [ 18| ~l155] " | s7] 1190|237
100 |25 ~1800[135 [150 [102 [ 19 [ 42 | 22 [M18x 15[ 44 | 44 [ 3a [ 75 [192 20 [ 22 [ 20 | 7~ [190]:023[ 109] ™ [ 230 | 252
Hcnonuewns wWToKos
1%} Vcnonnerme wroka B VcronHenme wroka C
(Mm) MM |A|mA|D| E K|c|H[zz] mm [A|mAlD| E |[kK|G|[H]zZz
32 |M16x15| 25 | 22 |18 34 714l ssloor] — |—|—-|—-]-]—-1-]-]-[—
40 |M20x1.5] 30 | 27 |22.4]40 28| o 19 | e0[212|M16x 15| 25 | 22 [18 |36 7 | 14 | s5]207
50 [m24x15]35 | 32|28 46 11| 24 | 65/233 [M20x 1.5] 30 | 27 [22.4[40 | 302 9 [ 19 | 60228
63 |M30x 15| 45 | 42 [35.5[55 -0.030] 13 [ 30 | 80]258|M24x 15| 35 | 32 [28 [46 11 | 24 | 70[248
80 |M39x15| 60 | 57 |45 |65 0076 15 | 41 | 95]207 M30x 15| 45 | 42 [35.5/55 | 30| 13 | 30 | 80282
100 |M48x15| 75 | 72 |56 |80| 2555 | 16 | 50 |115]327 [M39x 1.5 60 | 57 [45 [65|-0.076] 15 | 41 [ 100|312
CH2EFZ, CH2FFZ
Paamepbl
(Mg Xon(mv) | B |BB| C | F[GA[GB| J |[NA|NB| P |[R|S |T |FD|FT FX FY FZ | ss
32 |25~ 1400| 58] 62| 38| 16 | 32 15 \M10x125 37 [ 3138 [ 30 [141[ 11 [11[13] | s 40 .[109 [ 184
40 |25 ~1400( 65| 69| 45| 12 | 32| 15 [M10x1.25) 36 | 30 [3/8 | 42 [141| 11 [ 11 [13 | | o5|:018 46| " |118] 184
50 |25 ~1400] 76| 85| 52| 15 | 40 | 19 M10x 125 43 | 35 | 1/2 | 46 |155| 13 | 14 | 18 115 58|, | 145203
63 [25~1500| 90| 98| 63[ 15 | 42 [ 19 [m12x1.5] 43 [ 35 [112 | 52 [163] 15 [ 18 |20 | , . [132] . [e5| "[165]218
80 |25 ~ 1800|110 [ 118] 80| 17| 40 | 22 [M16x 15| 44 | 44 |34 | 65 [184| 18 [ 18 |24 | [155] | 7] . [190 243
100 |25 ~ 1800135 [150 [102] 19 | 42 | 22 [M18x 15[ 44 | a4 [ 314 | 75 [192] 20 [ 22 [ 28 1904023109 | | 230 | 260
HCNONHEHUs WTOKOB
%] McnonHeHve wroka B WcnonHenue wroka C
(wm) MM |A[mMalD| E K|g|H[zz]| mm [A[malD| E |[K|G|H|2Zz
32 |M16x15 25 | 22 18 |34 7014 85/200] — |[—|—|—|—]—|—|—]—]—
40 [m20x15] 30 | 27 [22.4[40 D923[ 9 [ 19 [ 60]214[m16x 1.5 25 [ 22 [18 [36 7 |14 | 55]209
50 |M24x15| 35|32 28 |46] 11|24 | 65238 M20x 1.5 30 | 27 [22.4[40| 3928 9 |19 | 60[233
63 |M30x1.5] 45 | 42 [3555]55) g030] 13 [ 30 | 80[263|M24x1.5] 35 | 32 [28 |46 11 [ 24 | 70[253
80 |M39x15 60 | 57 45 65/°0078] 15 | 41 | 95/303 M30x1.5| 45 | 42 [355|55 |30 13 | 30 | 80288
100 [m48x15] 75 | 72 |56 |80| 3535 | 16 | 50 [115|335|M39x 1.5 60 | 57 |45 |65 0076 15 | 41 | 100|320

C6poc

BO3Ayxa

108



r
@SNCR I'mppasnuyeckuit uunuuap no JIS
CH2

C nepegHMm KBaapaTHbIM hnaHuem
GH2EFC, GH2FFC, CH2GFC, CH2HFG

FY 8-0FD H GA
H+Q+¢ FX B
— | 2-RcP GB
MM ' ’_
T T
§ r 7 - -
o 3l4e T —101-8
| 8 1 ' - —
s - & ; 7
| o {D Paw’ﬁ:;;f, \ Cbpoc Bo3gyxa
10 ¢ ' poc NNoCKOCTAMMN |
BO3gyxa R MA_|IK |F] NA NB
S8+Q+¢+Xon OFz A ss |FT S+ Xoa M
ZZ +Q+ £+ Xop ZZ + Xop
Pasmepbl
@(wm) [Xog(mm) | B | € | F |GA|[GB| U M |[NA(NB| P |[R|S |FD|FT FX |FY FZ | sS
32 |25 ~1400| 58| 38| 16 | 21 | 15 [M10x1.25| 11 | 37 | 31 | 3. | 39 {130 11 | 11 40| .. 88 109 | 30
40 |25~1400| 65| 45|12 | 21 | 15 |M10x1.25| 11 | 36 | 30 [ 38 |42 [130| 11 [ 11| .| 46 | 95(:018{118] 30
50 |25 ~1400| 76| 52| 15 | 27 | 19 [M10x1.25| 11 | 43 | 35 | 1/2 | 46 [142| 14 | 13 | [ 58 PPRELE 145 | 30
63 |25 ~1500| 90| 63| 15 | 27 | 19 [M12x15| 14 | 43 | 35 | 112 | 52 |148| 18 | 15 65 | 132 10 |165] 35
80 |25~1800| 10| 80| 17 | 22 | 22 [M16x15] 16 | 44 | 44 | 34 | 65 [166] 18 | 18 | .| 87| .o 155|190 35
100 |25 ~1800 | 135|102 | 19 | 22 | 22 [M18x1.5] 18 | 44 | 44 |34 [ 75 [172] 22| 20| [100 " [ 190]#0.23 230 40
HcnonHenus wWToKoB
(%) WcnonHenwe wroka B McnonHerue wroka C
(M) MM [A|mMA[D]| E K|l |H[zz| mm |[A[ma[D]| E K| |G |H|zz
32 M16x15| 25 | 22 |18 |34 7114 66 | 207 - - = = —| - bl el Bl B
40 |M20x15] 30 | 27 [224[ 40| 3923 o |19 | 71|212|m16x 15| 25 [ 22 [18 |36 7 | 14 | 66207
50 M24x15| 35| 32 |28 |46 11 | 24 781231 |M20x 1.5 30 | 27 |(22.4|40 'gggi 9 I 19 73226
’ 63 [M30x15| 45 | 42 [355|55|.0030] 13 | 30 | 95|257M24x 15| 35 | 32 |28 |46 11| 24 | 85[247
80 |M39x15| 60 | 57 45 |65|"0076] 15 | 41 [113]295|[mM30x 15| 45 | 42 [35.555 | g ga0| 13 [ 30 | 98]280
100 [m48x1.5] 75 | 72 [56 |80| 39 | 16 [ 50 | 135|325 |mM3gx 15| 60 | 57 |45 |65 -0076[ 15 | 41 [ 120310

CH2EWFC, CH2FWFC

=

=

I

(0]

I

(]

=

(@]

=

x

a

3

g H GA GA

s 8-oFD

g | 2-Rc P J

=

x

s MM ] ' MM

8 - - ' S

z 7 = N 1

I w

& & Bl el © —r# Fefus

) 1

§ | _ = [ |

8 G ' / G

@ Paccrostue Cbpoc Bosayxa PaccrosHne

o mexay — LI‘S_ MA mexay

g C6poc Bosayxa R OCKOCTAN | MA Iﬁ 1A NA NA _TIE A_ | nockocTaNm

% OFz A SS _|FT| S +Xog H +Xon

% 22 + 2Xopa

= Paamepbl

S [ [

§ @ (wm) Xoa (Mm) B |C|F|FD FT FX FY FZ | GA J M [NA|P R |S [SS|T

©

o 32 25 ~ 800 58| 3616 | 11 | 1 40 |, 15| 88 109 | 21 [m10x1.25] 11 [ 37 [as | 30 [136 ] 30 | 11

0 40 | 25~800 65| 45|12 | 11 | 11| .| 46" 7| 95 |:0.18| 118 | 21 [M10x1.25| 11 | 36 | 358 | 42 | 136 | 30 | 11

§ 50 25 ~ 800 76 52|15 | 14| 13 || 88 . | 115 145 | 27 [M10x125| 11 [ 43 [ 12 | 46 [150 | 30 | 13

§ 25 ~ 800 90 | 63| 15 | 18 [ 15 65 | 132 0p | 165127 [M12x15 | 14 | 43 | 122 | 52 | 156 | 35 | 15

o 80 26 ~1000 | 110 80| 17 | 18 | 18 | . 87| . |155 T 190 | 22 (M16x15 | 16 | 44 | 34 | 65 [166 | 35 | 18

2 100 25 ~1000 [135 [ 102 | 19 | 22 | 20 | " [109 | 7| 190 [z0.23| 230 | 22 [m18x15 | 18 | 44 | 34 | 75 | 172 | 40 | 20

g HcnonHexus WToKOB

g %] WcnonHenue wroka B VcnonHerme wroka C

2 ey MM Alma[po|] E [k[ec[H[zZ] mm Alma] D E K| [H [z
32 | M16x15 | 25 | 22 |18 | 34| | 7 | 1a | 6] 268 — - [-1-1-T-1-1-1-1-
40 | M20x15 | 30 | 27 224 |40 | 0%2°[ 9 | 19 | 71|28 | miexhs | 25 | 22 [18 |36 095 7|14 | 65 [ 268
50 M24x15 | 35 | 32 |28 | 46| 11 | 24 | 78| 306 | M20x15 | 30 | 27 | 224 [ 40 | noen| 9 | 19 | 73 | 296
63 | M30x15 | 45 | 42 | 35555 po3o| 13 | 30 | 95[ 346 | meaxhs [ 35 | 32 [28 |46 11 | 24 | 85| 32
80 M39x15 | 60 | 57 |45 | 65|-0076 15 | 41 [ 113 | 392 | M30x15 | 45 | 42 [ 355 | 55 |-0030| 13 | 30 | 98 [ 362
100 | ma8x15 | 75 | 72 [s6 |80 3835 | 16 | 50 [ 135 | 442 | m3oxpi5 | €0 | 57 [45 |65 -0076] 15 [ 41 [12p | 412

109




Imppasnuyeckuil uunuuap no JIS
C 3agHHM KBaApaTHbIM thnanuem
CH2EFD, CH2FFD, CH2GFD, GH2HFD
FY 8-oFD
H GA _ 2-Rc P GB -
J |
H+Q+¢ é} é/
MM : | S .
B /i : : - O IO o
8 1 ¥ © - @185 E k ' X|&
__ {p - - — : ; i
! accr:g)::is 1\ ! @ _Q:______Q
10 4 f MAOCKOCTAMM ' .
C6poc Bo3gyxa {E} @ \
SS+Q+¢+ |
Q Xoa, T NA NB R C6poc
ZZ+Q+¢+Xon MA | Kl |F S + Xop FT OFz BO3ayxa
A SS + Xon
ZZ + Xog
Pa3mepbl
7
mm) | Xon(mm) | B | C | F |GA|GB J NA|/NB|P |R|[S | T |FD|FT FX FY FZ | SS
32 |25~1400| 58| 38| 16 | 32 | 15 [M10x1.25| 37 | 31 [3/8 | 39 (141 | 11 | 11 | 11 40,0588 109 | 182
40 [25~1400| 65| 45| 12 | 32 | 15 |M10x125| 36 | 30 | 3/8 | 42 [141 | 11 | 11 [ 11| | 46| | 95|:0.18 118 | 182
50 |25 ~1400| 76| 52| 15 | 40 | 19 |M10x1.25| 43 | 35 |1/2 | 46 [155| 13 | 14 | 13 | | 58 1015118 145 | 198
63 |25~1500| 90| 63| 15 | 42 | 19 |[M12x15| 43 | 35 [1/2 | 52 [163 | 15 | 18 | 15 65|  |132 10 |165]213
80 |25~1800[110 | 80| 17 | 40 | 22 |M16x 15| 44 | 44 |3/4 | 65 |184 | 18 | 18 | 18 | .| 87| .o 155| | 190 | 237
100 |25 ~1800/135 [102 | 19 | 42 | 22 |[M18x1.5| 44 | 44 [3/4 | 75 [192| 20 | 22 | 20 | [109| | 190 |+0.23| 230 | 252
Hcnonxenus WToKoB
%] McnonHenue wroka B WcnonHerme wroka C
(Mm) MM | A |[MA| D E K|G|H|zz| mm | A [mA| D E K|[G|H|zz
32 |[M16x15| 25 | 22 |18 |34 7|14 | 55|207| — o e et el e el el el
40 [M20x1.5| 30 | 27 |22.4|40 3;353 9|19 | 60|212|M16x15| 25 | 22 (18 |36 7 | 14 | 55207
50 |M24x15| 35|32 |28 |46 11| 24 | 65[233 [M20x 1.5] 30 | 27 [22.4[ 40| 3023 9 | 19 | 60228
63 |M30x1.5| 45 | 42 |35.5/55| 0g3p| 13 | 30 | 80258 |M24x1.5| 35 | 32 |28 |46 11 | 24 | 70248
80 |M39x15| 60 | 57 |45 |65|0076 15 | 41 | 95|207 |M30x1.5| 45 | 42 |35.5| 5530 13 | 30 | 80282
100 (M48x1.5| 75 | 72 |56 |80 | Doae | 16 | 50 115|327 [M39x 15| 60 | 57 |45 |65|0076| 15 | 41 | 100|312

110



r
@SNCR I'mppasnuyeckuit uunuuap no JIS
CH2

C WapHUpHoii onopoi
CH2ECA, CH2ECA, CH2GCA, CH2HCA

H GA 2-RcP GB @CDHo R
J
H+Q+¢ l/ r
TiE) ; - - CanEe
| I E L
g wal ] R R ) >
= -'@8 P . = - ; | :‘G}j [:{‘r} C6poc
10 el f PaccTontie N C6poc Boaayxa NB CXil BO3/yXa
vexay
SS + Q + ¢ +Xon NNOCKOCTAMM T NA u (o]
ZZ + Q+£+Xog MA 5_ F S +Xog L 0B
A SS +Xog RR
ZZ + Xop
Paamepbl
Zmw) | Xoa(vm) | B | ¢ | F |GA|GB J NA(NB| P |R|S | T |cx|cp|lcow|RR|SS| U | L
32 |25~1400| 58 | 38| 16 | 32 | 156 |M10x1.25] 37 | 31 | 3/8 | 39 [141 | 11 |25 |16 |+ppa3|16 |209] 22 | 38
40 |25~1400 | 65| 45| 12 | 32 | 15 |[M10x1.25| 36 | 30 | 38 | 42 141 | 11 [25 [16 | 0 16 [209| 22 | 38
50 |25~1400| 76| 52| 15 [ 40 | 19 |M10x1.25| 43 | 35 | 1/2 | 46 [155 | 13 |315|20 |*50%%|20 |230| 25 | 45
63 [25~1500| 90| 63| 15 | 42 | 19 |M12x15| 43 | 35 | 12 | 52 [163 | 15 |40 [315 315|261 40 | 63
80 25 ~ 1800 (110 8017 | 40 | 22 |M16x1.5| 44 | 44 | 3/4 | 65 (184 | 18 |40 | 315 +g'062 315|291 40 | 72
100 |25 ~1800 [135 | 102 | 19 | 42 | 22 [M18x 15| 44 | 44 [ 314 | 75 [192 | 20 [50 |40 40 |316| 50 | 84
HcnonHeHns WTOKOB
%] WcnonHenue wroka B McnonHexue wroka C
(wm) MM | A [MA| D E K|G|H|zz| mm | A |mMA| D E K|G|H|zz
32 [m16x15| 25|22 [18 |34 7 | 14 | 55250 — — | === =|=|=|—|-
40 |M20x 15| 30 | 27 |22.4| 40 :g;ggi 9|19 | 60|255 |[M16x1.5| 25 | 22 [18 |36 7 | 14 | 55(250
50 [M24x15|35|32[28 |46 11 | 24 | 65285 |M20x1.5| 30 | 27 |22.4| 40 jﬂ:ﬂéﬂ 9|19 | 60280
= 63 [M30x1.5| 45 | 42 [35.5/55|0030] 13 | 30 | 80|s37.5|M24x1.5| 35 | 32 |28 |46 11 | 24 | 703275
I 80 |M39x15|60 |57 |45 |65|0978] 15 | 41 | 95|a82.5\M30x 1.5| 45 | 42 |35.5|55 | g030] 13 | 30 | 803675
é 100 |Ma8x15| 75 | 72 [56 [80[ 5oo | 16 | 50 | 115431 [M39x 1.5| 60 | 57 |45 |65|0076] 15 | 41 | 100|416
g
% C NBOMHOI WAPHUPHOH ONOPOI
I
g; CH2ECB, CH2FCB, CH2GCB, CH2HCB H GA 2.Rc P GB CronopHas nnatxka R C6poc Boaayxa
a H+Q+¢ J i r
Q \ ¥ @CDHais
< E MM ' 1
- / & - - I- TR
%) -— / ; z |
¢ e [ wle L © - . o) ) el 1
s 9 /\ |5, © &h\_!,/ 0 : l u
< — e
- e B =1 H | 1
s 10| | el ¢ —ei ‘ :
3 PaccTosHe \ C6poc Bosayxa /
] SS+Q+¢-+Xon mexzy T| NA NB ] WCX 3| W
I S
z ZZ*‘Q*"*’XO[J NNOCKOCTSIMM MA _"_(. 3 S +Xoa L -~
g A SS + Xog RR
a ZZ + Xo,
§ Pasmepbl i
§ Zww) | Xoa(vm) | B | C | F |GA|GB| J NAINB| P | R |S | T |CX|CD— —T——RRISS|L | U W
[e]
pt 32 |25~1400| 58| 38| 16 | 32 | 15 [M10x1.25( 37 | 31 | 3/8 | 39 |[141| 11 |25 |16 |+0043|-0016]16 |209] 38 | 22 [ 125
g 40 |25~ 1400| 65| 45|12 | 32 | 15 [M10x1.25( 36 | 30 [3/8 | 42 [141] 11 |25 |16 | 0 |-0.043 |16 [209( 38 | 22 | 125
S 50 |25~1400| 76| 52| 15 [ 40 | 19 [M10x1.25| 43 | 35 [ 1/2 | 46 |155| 13 |a1.5/20 |*9052-0020150 |23p| 45 | 25 |16
§ 63 |25~1500| 90| 63| 15 | 42 | 19 [M12x15] 43 | 35 [ 172 | 52 [163] 15 |40 [315 315|261| 63 | 40 |20
S 80 |25~1800|110| 80| 17 | 40 | 22 [M16x1.5| 44 | 44 [ 34 | 65 [184] 18 [40 [315 +g'062 gggﬁ‘ 315201 72 | 40 |20
9 [ 100 |25~ 1800[135]102] 19 | 42 | 22 [M18x 15[ 44 | 44 [ 3/4 | 75 [192] 20 |50 [40 40 |316| 84 | 50 |25
(%]
= Hcnonwenws wrokos
E @ Vcnonnerme wroka B Vcnonnerme wroka C
é (M) MM | A [MA| D E K|G|H|zz| mm | A |[ma|D E K|G|H|zz
32 M16x 15| 25 | 22 (18 |34 7|14 55 |250 — — 11— 1=l — — || — | —
40 |M20x15| 30 | 27 |22.4|40 jgjgﬁi 9|19 | eolzs5 [M16x1.5| 25 | 22 [18 |36 7 | 14 | 55(250
50 |m24x15] 35| 3228 |46 11|24 | 6585 [M20x1.5] 30 | 27 [22.4[ 40| 0023 9 [ 19 | 60280
63 [M30x 15| 45 | 42 |35.5/55| .9 030| 13 | 30 | 80|337.5\M24 x 15| 35 | 32 |28 |46 11 | 24 | 703275
80 [M39x15| 60|57 |45 |65(0076| 15 | 41 | 95|3825\M30x1.5| 45 | 42 [35.5]55| 9030 13 | 30 | 803675
100 |masx15| 75 | 72 |56 |80 228 | 16 | 50 |115]431 [mM3ox1.5] 60 | 57 |45 |65]|-0076| 15 | 41 [ 100|416

M




TuppaBnuYyecKuit

CH2

uunuuap no JIS

C uenTpanbHoi wanchoi

CHZETC, CH2FTC, CH2GTC, CH2HTC A SS + 1/2 Xopa
R MA_|K F _GA 2-RcP GB
H+Q+¢ J r
MM y :
5 & 1), / z . 4
(@) b33
: % \;Oj 3 | flue R o+—— P
_E — = | 1
C6poc PaccrosHue mexay f I | |
BOa’LyXQ NNOCKOCTAMKU G :\ C6p00 1 C6pOC /
10 ¢ f —_— c BO3ayxa BO3ayxa
B T NA TT NB
SS+Q+¢+Xop TV 03 = TV 403 H S +Xon M
ZZ +Q+ ¢ +Xop
TZ Zz"'XOIZl
Pa3amepbl
Fwm) | Xon(mm) |B | C | F [GA|[GB| J M|[NA|NB|P |R|S|T|RR|SS|TD TT | TX TY | TZ
321| 25 ~1800 | 58| 38| 16 [ 32 | 15 [M10x1.25| 11 [ 37 | 31 |38 | 39 [141] 11 | 2 [113]20 28 | 58| 0 |20 | 98
40+ |25 ~ 1800 | 65| 45| 12 | 32 | 15 |M10x1.25) 11 | 36 | 30 |38 | 42 [141| 11 | 2 [113]20 jg;g 28 | 69]-03 20 [109
50°1| 25 ~1800 | 76| 52| 15 [ 40 | 19 [M10x1.25| 11 | 43 | 35 [1/2 | 46 [155| 13 |25 [121|25 33 | 85 25 [135
63225 ~1800 | 90| 63| 15 [ 42 | 19 [M12x 15| 14 | 43 | 35 | 112 | 52 [163] 15 | 2.5 [ 132|315 005 43 | 98 _gqqats 161
80 [25~1800 |110| 80| 17 | 40 | 22 [M16x 1.5 16 | 44 | 44 | 3/4 | 65 |184 | 18 | 2.5 |146|31.5| '\, 43 |118 31.5[181
100 |25 ~1800 135 (102 | 19 | 42 | 22 [M18x 15| 18 | 44 | 44 (314 | 75 |192| 20 | 3 |156(40 53 [145] 3, |40 [225
Hcnonuenus wWToKoB
%) McnonHexue wroka B McnonHexue wroka C
(M) MM | A [mA| D E K| Gg|H|zz| mm | A|ma|D E K|G|H|zz
32 |M16x15| 25 | 22 (18 |34 7|14 | s5|207| — e e et e e e el et e
40 |M20x15| 30 | 27 [22.4|40 :g;gﬁf 9|19 | 60|212|M16x 15| 25 | 22 |18 |36 7 | 14 | 55207
50 |M24x15| 35| 32 |28 |46 11 | 24 | 65]231[M20x 15[ 30 | 27 [22.4]40| %23 9 [ 19 | 60]226
63 |M30x1.5| 45 | 42 [355|55|.gg30| 13 | 30 | 80|257 |[M24x 15| 35 | 32 |28 |46 11 | 24 | 70247
80 |M39x1.5| 60 | 57 |45 |65|0076| 15 | 41 | 95|205|M30x 15| 45 | 42 |35.5(55 | 30/ 13 | 30 | 80280
100 |M48x1.5| 75 | 72 56 [80| Doaq | 16 | 50 | 115|325 |M39x 1.5| 60 | 57 |45 |65 |-0.076] 15 | 41 | 100|310
CH2EWTC, CH2PWTC A 557 12 o8 K.A
' | ma K F _GA_  2RcP GA _F MA
v / = .
I |
(7 . Jany :
i 2 A ; al w
& Y2 o+ — e & 19"
| ),
. . T 7
\ G
0oc o 4,6/ \ C6poc C6poc ! -
acCTosHKue | acCcTosHNe
OB Memy| T NA Bomyxa | TT | Bosmyxa NA ITIm o
NNOCKOCTAMKU X X NNOCKOCTAMU
TY +03 TX TY 3 | H S + Xon H + Xon
[ ZZ + 2 Xopa
TZ
Pa3amepbl
7]
() | Xon(m) | B [ C | F [GA J M |[NA| P | R|RR| S |[SS| T TDe9 T X TY | 12
32 |25~800 | 58| 38| 16 | 32 | M10Ox125]| 11 | 37 . 38 | 39 | 2 |158|113 | 11 |20 0,040 28 | s8¢ |20 98
40 | 25~800| 65| 45 | 12 | 32 [ m10x125] 11 [ 36 | as | 42 [ 2 [1s8[113 ] 11 20 0092 28 | 69|03 |20 | 109
50 | 25~800 | 76| 52 | 15 | 40 | M10x125| 11 | 43 12 | 46 | 25 | 176 | 121 | 13 |25 33 | 85 25 | 135
63 | 25~800 | 90| 63 | 15 | 42 [ M12x15 | 14 | 43 [ 12| 52 | 25 [ 186 [ 132 | 15 [315 43 | 98 _335 315 | 161
80 |25 ~1000| 110 | 80 | 17 | 40 | M16x15 | 16 | 44 34 | 65 | 25 [ 202 | 146 | 18 [315 :g'?fg 43 | 118 | | 315 181
100 |25 ~1000 | 135 [102 | 19 [ 42 [M18x15 | 18 | 44 | 34 | 75 [ 3 | 212 | 156 | 20 |40 53 | 145 | 5, |40 | 225
WcnonHeHus WToKoB
%) McnonHenue wroka B McnonHerue wroka C
(M) MM Almal D | E K| G| H|zz MM A |MA|D E K| G| H |2z
32 M16x15 | 25 | 22 |18 34 0 7 | 14 | 55| 268 — | == - | === |=
40 M20x15 | 30 | 27 | 224 | 40 | Joer| 9 [ 19 | 60 | 278 | M16x1.5 | 25 | 22 |18 | 36 0,025 7 | 14 | 55 | 268
50 M24x15 | 35 | 32 |28 46 11 | 24 | 65| 306 | M20x15 | 30 | 27 [224 [40 "ol | 9 | 19 | 60 | 296
63 M30x15 | 45 | 42 [355| 55 |.0030| 13 | 30 | 80 | 346 | M24x15 | 35 | 32 (28 | 46 1 | 24 | 70 | 326
80 M39x15 | 60 | 57 |45 65 |0076| 15 | 41 | 95 | 392 | M30x1.5 | 45 | 42 (355 | 55| 0030 | 13 | 30 | 80 | 362
100 M48x15 | 75 | 72 |56 | 80 | goea| 16 | 50 | 115 | 442 | M39x15 | 60 | 57 |45 |65 | -0076 | 45 | 41 | 100 | 412

112



% SNC

I'mppasnuyeckuit uunuuap no JIS

CH2

NpHuagnexHocTn
“L#aig":';'_*:'" ::0'?:;::"" WroK Homep  |a [B Jc [bp Jd E F [H [ K
puan: 4yry ans 3akasa | (Mm)
H2-03B [32 [76 [60 [25 [32 [16 [+007/0 | mi6x15] 26 |25 | msx08 | 16
T . H2-04B |40 [76 [60 [25 [32 [16 [+0.07/0 | mM2ox15] 31 [25 | msx08 | 16
—¢ IH2-058 50 [90 |70 |30 |40 |20 |+0.084/0| M24x15| 36 | 31.5| M5x0.8 | 20
IH2-06B [ 63 [ 145 [ 115 [ 45 [ 60 [ 315[+01/0 | m3ox1.5[50 [40 | mext [ 30
J
sdito . 2 IH2-08B | 80 | 145 | 115 [45 |60 | 31.5[+01/0 | M39x1.5[61 |40 | Mext | 30
== ——q/ IH2-10B | 100 | 185 | 145 [ 57 | 79 |40 [+04/0 | M49x1.5| 76 |50 | M8x1.25| 40
» =/ : H2-03B |40 |76 |60 [25 |32 |16 [+0.07/0 | M16x1.5| 26 | 25 | M5x0.8 | 16
T r 1- 2 H2-05C |50 |90 |70 [30 |40 |20 | +0.084/0| M20x1.5] 31 | 315 | M5x0.8 | 20
"—L H2-06C |63 [ 145 [ 115 [ 45 [ 60 [315[+0.1/0 | m2ax15[40 [40 | mext [ 30
c IH2-06B | 80 | 145 | 115 [ 45 |60 [ 315[+0.1/0 | M30x1.5[50 |40 | mext | 30
K . B IH2-10C | 100 | 185 | 145 [ 57 | 79 |40 [+04/0 | M39x1.5[ 63 |50 | M8x1.25| 40
LWapHupHasa Bunka
Marepuan: 4yrynHoe uTbe Llitok| Homep g |A |B | C |D E H | J K |L I | P
Pe3b6oBble 0TBEPCTHS (Mm)
Dbl e YH2-03B |32 | 76 | 60 | 41 | 32 M16x1.5 | 25 | M5x0.8 | 16 | 12.5] 20 | M6x1
YH2-04B [ 40 [ 76 | 60 | 41 | 32 M20x15 | 25 | M5x0.8 | 16 | 125] 20 | Mex1
“@ YH2-05B [ 50 | 90 | 70 | 50 | 40 M24x15 | 315] M5x0.8 |20 [ 16 | 20 | mex1
YH2-06B | 63 | 145] 15[ 75 [ 60 M30x1.5 | 40 [ Mex1 [ 30 [ 20 | 24| msx1.25
m‘fn E YH2:08B | 80 | 145| 115 | 75 | 60 M39x15 | 40 | Méxt |30 [ 20 | 24 | M8x1.25
= i / YH2-10B | 100 | 185| 145 | 95 | 80 M49x15 | 50 | M8x1.25| 40 | 25 | 26 | M10x1.5
N LI TN YH2-03B [40 [ 76 | 60 | 41 | 32 Mi6x15 | 25 | M5x0.8 | 16 | 125] 20 | mex1
2 — T-—% YH2-05C [50 | 90 | 70 | 50 | 40 M20x15 | 315] M5x0.8 | 20 | 16 | 20 | Méx1
T YH2-06C |63 | 145] 15[ 75 | 60 M24x15 | 40 | Mex1 |30 ] 20 | 24| msex1.25
S r " B N YH2-06B | 80 | 145] 15| 75 | 60 M30x1.5 | 40 | Méx1 |30 | 20 | 24 | M8x1.25
] A YH2-10C | 100 | 185] 145] 95 | 80 M39x15 | 50 | M8x1.25| 40 [ 25 | 26 | M10x1.5
% lMpumeyarme: naneu, CTonopHas nnaxka u 6oNT BXOASAT B MOCTaBKY LapH1pa
=
é -
% CTOnOpHaﬂ nnaHka [anka wroka
> Matepuan: ctanbHoi Npokat  9_gq Matepuan: yrnepoguctasi ctanb ~ 30° d JIS, 2-it knacc pe3b6ei
2 ——
o b-
s +
= o
2 b B N EEN I
+
E ~ + % _I._J_ + 3]
: %)
© [ | m T N/ |
o H H B
I
s
EI: Homep | & (Mm) B |H |1 m|T |d BonT Lrok|  Homep (?'IM) B c D H d
o | KP-05 | 32,40,50 | 32 | 12 | 20 6 |45 |65 | Mext10/
= [kpos RECRED TRETRET s Tas 1o Me;zz B NTH-040 | 32 [ 22 | 254 21 | 10 | M16x15
S kP10 106 2 (22 [ 6202 11 |6 | 115 ] wioxidl NTHOS0 140 127 | 3121 26 | 12 | M20x1.9
= — ' NTH-060 | 50 [ 32 |37 | 31 | 14 | m24x15
=
kS NTH-080 | 63 | 41 [ 473 [ 40 [ 17 | M30x15
8 5 NTH-100 | 80 | 55 | 635| 54 | 20 | M39x1.5
g Maneu ana aBoitHoro waphnpa NTH-040 | 100 | 70 | 808 | 69 | 26 | M49x15
= WNU WapHUPHON BUINKKU
2 Marepuan: cransioi npokar c NTH-040 | 40 | 22 | 254 | 21 | 10 | M16x15
5 m_, 9" o NTH-050 | 50 | 27 | 312 26 | 12 | m20x15
8 _ NTH-060 | 63 |32 |37 | 31 | 14 | mMux15
0 ug@ _ _ L g NTH080 | 80 | 41 | 473 ] 40 [ 17 | m3ox15
2 z ! S NTH-100 | 100 | 55 | 635| 54 | 20 | M3oxi5
= <
s
I
©
c
g | Howep | o (ww) | D (i) c L m T |d
CDH-04] 32,40 | 16 | -0.016/-0.043 | 1 62 25 48 | 14
CDH-04| 50 20 |-0.016/-0.043 | 1 765 | 35 48 | 18
CDH-04| 63,80 | 315 -0.016/-0.043 | 15 93 35 48 | 29
CDH-04] 100 40 | -0.016/-0.043 | 2 17 | 6 63 | 35

113




Imppasnuyeckuil uunuuap no JIS

CH2

HatynKH nonoXexHns

NpumMenseMble OaTYHKH

060o3Hau. Tun MoHTax 3n.Bxog CseToBasi Bbixoa Paboyee XapakTep
VHANKaLWS HanpsbkeHve (B) Harpyaku

D-A54L [epKOHOBbIN Ha wnunbke Kabernb 3anutblit | Ectb 2-X NPOBOAHOM 24 110, 220 Pene,

D-A44 Ha xomyte DIN-pasbem MNK

D-F5PL OneKTpoHHbIN | Ha wnunbke Kabenb 3anuthbii 3-x npoBogHom p-n-p | 5,12,24 -

Mpumeyanue: 6onee aeTanbHas MHOPMALKS O AaT4MKaX NONOKEHNS COAEPKUTCS BO BBOSHOM pasgene.

Homep ans 3aKa3a KpenneHus paTymka

MuHHManbHas AnuHa Xopa (MM) NPH MCNoNb30BaHKK AATYHKOB NONOXKEHMS

D-A44 D-A54L, Mogenb | Kon-Bo gatunkos [ins Boex Tvnos kpennewns | Kpennerue ¢ LeHTpanbHoi Landon
%) ans CHZE, ans ans CHZF, D-F5PL W UX pacnonoxexHue KpOME LieHTpanbHoi Liandb!
(mm) | CH2EW CH2H CH2FW 232 240 < @32 | 240 250 | @63 [ 280 [2100
32 = s = BT-06 D-A54L | 2 | PasHoctopontee | 10 10 10 [110 | 110 |[125 |[135 |[145
40 BD1-04M | BD1-04M | BDS-04M | BT-06 OpHocTopottee | -
50 BD1-05M | BD1-05M | BDS-05M | BT-06 1] - 10
63 BD1-06M | BD1-06M | BDS-06M | BT-08 D-F5PL | 2 | PasHocropontee | 10 10 15 | 115 | 115 [130 |[140 | 150
80 BD1-08M | BH1-080 | BDS-08M | BT-16 Ogtoctopottee | -
100 | BD1-10M | BH1-100 | BDS-10M | BT-18 11]- 10
D-Ad4 2 | PasHoctopoHHee | - 35 85 85 100 | 110 (120
OfHOCTOPOHHEE 55
1] - 10
MoHTaX naTyHKoB
Mpu6r. Hs
Kpennenne Ha CTArMBAIOLMX WNHAbKAX ) . E’ .
E s ' ft =
= 1 f
[epkoHOBbLIN AaTumk D-A54L § 7 Py
AneKkTpoHHbIN AaTumnk D-F5PL ='E.' B @ = > @—
‘é = fﬂé_ @ 1
= =] L—F— =
I
Al 33 ﬂ / A
(Ons (DS-'IEEPL) ZﬂaT‘-IVIK NONoXeHnsa
G1/2
: Kabenb ¢ BHeLHUM Anametpom 6.8 ~ 11.5 Mm
|
Kpennenne na xomyre = T - = 1 __:_
lepkoHoBbIN paTunk D-Ad4 A A
o HHE el
g = S
A | 49.5 A
ﬂaT\WIK NONoXeHusa
(7] D-A54L D-F5PL D-A44
(Mm) Hs Ht Hs Ht Hs
32 CH2E 35 29.5 35 29.5 -
CH2F 345 30 345 30 -
CH2H 34.5 29.5 345 29.5 -
40 CH2E 38.5 325 385 325 82.5
CH2F 38 335 38 335 81
CH2H | 38 33 38 33 815 Paamep A
50 CH2E 43 36.5 42 36.5 88 %) D-A54L, | D-F5PL
CH2F 415 36.5 415 36.5 86 (Mm) | D-Ad4
R o [ Al
CH2F 46:5 43 46.5 43 93 oL 16 225
CH2H | 485 43 47 43 95 50 | 16 25
80 | CH2E | 585 | 555 57 55.5 1035 63 | 19 255
CH2F 56.5 55.5 56.5 55.5 102 80 23 29.5
CH2H 59 55.5 575 55.5 104 100 | 26 325
100 CH2E 66.5 67 66.5 67 114
CH2F | 655 67 65.5 67 125 " Natunkn D-A44 He ycTaHasnuBaloTes
CH2H | 675 67 67.5 67 115.5 Ha LnUHApax AnameTpom 32 M.

114



1 NPaBO Ha BHECEHME TeXHUYECKUX U pas3MepPHbIX N3MEHEHNIA

Komnanua SMC coxpaHseT 3a co6o

S
3

fuppasnuyeckui uunuuap no IS0

CHS

@32 ~100

o Coorserctayert cTaHgaptam ISO 10762 (cepus CHSD / 10MMa) u ISO 6020-2 (cepua CHSG / 16MMa)
e [lpocTas pasbopka u cbopka.

o YMeHbLUEHHbIE ra6ap|/|Tb| 1 BEC B CPABHEHUN C aHaNOr4HbIMK ruapoumMnnHapamin cepuia CH2:

Mnowaab nonepey4Horo ceveHns
cocTaBnset He 6onee 76%

OT aHanoru4yHoro

nokasarensa

u3pgenuii cepun CH2

MeHbLune, yem y nsgenmii cepumn CH2,
npoponbHbie rabaputHbie pasmepbl

(cm.Tabnuuy)

10/ 16 Mia

A+xon
F—‘.'!_:_I.'_ O CHS
e S I I
U[—\V &7 &
=
L= .
A +Xon
MakcumanbHblil Bec coctaBnaet
namer O6was gnmHa (pasmep A
He 6onee 50% (CHSD) A P ol ial pasEplc]
wnn 52% (CHSG) unnungpa (Mv) | CHSD CHSG CH2
OT Beca aHanornyHbiX M3genui 32 153 207
cepuu CH2. 40 163 184 212
50 177 200 231
63 199 217 257
80 225 251 295
100 260 275 325
TeXHMYecKHe XapaKTepUCTHKM
Mogenb CHSD CHSG
Cpepa MuHepanbHoe rugpasnuyeckoe Macno
Avametp uunuHapa (Mm) 40, 50, 32, 40, 50,
63, 80, 100 63, 80, 100
HomuHanbHoe aasnexue (MMa) 10 16
MakcumanbHo gonyctumoe gaenetue (MMa) | 12 20
WcnbitatenbHoe gasnexue (MMa) 15 24
Murum. paboyee Ha BbigBuKeHUN 0.25 0.25
nasnexue (MMa) Ha BraruBaHum 0.15 0.15
Pabouas Bes marnutHoro kombua | -10 ~ 80
A CTanpapTHble ANMHBLI Xofa
Temneparypa (°C) C MarHUTHBIM KOMbLIOM -10 ~ 60
CKopoCTb MopLuHs (Mm/c) 8 ~ 300 Awamerp Crarinaprtie
[Jonyck 100 MM 1 MeHee 0~+0.8 wnapa (M) A X0 ()
Ha AnuHy ot 101 [0 250 MM 0~+1.0 32* 40, 50, 63, 80 25 ~ 800
xoaa (Mm) ot 251 00 630 MM 0~+1.25 100 25 ~ 1000
ot 631 70 800 MM 0~+14 *) Tonbko ana cepun CHSG
HomunanbHble yeunusa (H)
(] @ WToKa | Hanpasnenue Mnowaab Pabouee nasnenue (Ma)
(Mm) | (mm) nepemeLLeHIs nopuHs (Mm’) | 3.5 7 10 16
32* 18* BblBUXEHIE 804* 2814* 5628* 8040* 12864*
BTATVBaHNE 549* 1922* 3843 5490* 8784*
40 22 BbIABIKEHNE 1256 4396 8792 12560 20096*
BTATVBaHNE 876 3066 6132 8760 14016*
50 28 BblBUXEHE 1963 6871 13741 19630 31408*
BrarvsaHue 1347 4715 9429 13470 21552*
63 36 BbIBUXEHE 317 10910 21819 31170 49872*
BTATVBaHNE 2099 7346 14693 20990 33584*
80 45 BblBUXEHNE 5026 17591 35182 50260 80416*
BTATVBaHNE 3436 12026 24052 34360 54976*
100 56 BblBUXEHE 7853 27486 57971 78530 125648*
BTAMVBaHNE 5390 18865 37730 53900 86240*
*) Tonbko ansi cepun CHSG

115




'mppasnuyeckuil uunuuap no IS0

CHS

Macca (kr)
CHSD CHSG
AvameTp UnuHapa (M) 40 50 63 80 100 [vameTp unnuHapa (M) 32 40 50 63 80 100
Craxgapt B 210 | 320 | 510 | 890 | 145 CraHpapt B 160 | 3.20 | 470 | 7.80 | 147 | 20.8
g7 [ Hananax LA [ 240 [ 360 550 | 970 | 160 | | = [ Hananax LA | 180 | 400 | 570 | 865 | 170 | 233
=.5 | Mepepsuit prarey | FY 260 | 3.80 | 590 | 10.1 ] 16.0 ST | Mepenuit dnarer | FY 190 | 410 | 6.00 | 910 | 167 | 229
38 | 3anHwit pnarey FZ | 250 380 600 | 10.0 | 164 | | == | 3agHui dmaney FZ | 170 | 3.90 | 560 | 820 | 164 | 24.8
&= [ Meoitior wapuwp [ CB [ 230 | 350 | 6.10 [ 9.90 | 162 | | & & | Liapup CA | 160 | 340 | 560 | 820 | 164 | 24.8
MepefHas yanda TA 210 | 340 | 540 | 940 | 155 | | &= | [soiinoi wapHp CB 160 | 340 | 560 | 820 | 164 | 248
JloronHuTenbHas Macca Ha 10 mm xoga| 0.06 | 0.09 [ 0.13 | 0.21 | 0.32 MepeaHss Landa TA 1.70 | 340 | 520 | 840 | 159 | 225
LlenTpanbHas uandga | TC 190 | 390 | 580 | 940 | 182 | 254
[ononnuTensHas macca Ha 10 mm xoga| 0.05 | 0.07 | 0.12 | 0.18 | 0.28 | 0.42
NlemnchupoBanne B KOHLE Xofa
OHeprus, nornoLyaemas aemndepom: PaGota BHelLHeli cunbl Ha ANKUHe AemMndupoBaHus
1000
E=E +E,,
rae E, KMHeTM4eckas aHeprus JBIKYLLMXCS YacTed,
E, pabota oceBoi COCTaBNsioLLEil BHELLHEH CUMbl HA AnUHE Pz
ZAemncupoBaHus (onpefenseTcs no rpacuky, NPUBEAEHHOMY HINKE). |
]
100
[lemncep NonHOCTbLIO NOMMOLLAET 3HEPTIA, €CIN BbINOMHSETCS YCoBUE: ——
g —
E<[E], © A
roe [E] makcumanbHo gonyctumas aHeprus, 5 |
KOTOPY0 MOXET NOrNoTUTL AeMndep ‘8 //
(onpepensieTcs no NpuBEAEHHbIM rpacukam).. o 10 =
5.2) -
P
L1 '
1 Jud :
100 1000 10000 100000
BHewwHsis cuna (H)
MakcumanbHo gonycTmas aHeprus gemndepa
CHSD
Mpumep 1000
TwapounnuHap CHSD50 nepemelyaet rpy3 maccoit 400 Kr Mo HakMoHHOM NAoCKoCTH
(cm.pucyHok). laBnenue 7 MMMa, ckopocTb B MOMEHT Havara Aemnduposakms 0.2 mic.
= —
S 100 ———— ——
5 — = =
x ——
S — T ~——~Tio
Mgsin 0 RPN ™ TR P! S __‘_\‘:\ o~
. ‘E 10 \J:\:\\ 280
M - : ——
o 9 : —
: 40
1. Onpesensiem KMHETUYECKYIO SHEPTUI0 ABUKYLLMXCS YacTen: ! :
2 4 6 8 10
E- %/: 4002' 0.2 =8/ [Jlaenenue (MMa)
2. Onpepensiem 0CeBY}0 COCTABNAIOLLYIO BHELUHEN Curbl
(B AaHHOM NpuMepe - CUMbl TXECTH): CHSG
F=m-g-sin = 400+ 9.8 §in30° = 1960H 1000
3. Mo rpachuky onpenensiem paboty E,:
npu BenuunHe cunbl 1960H L
E,=5.2 Ix. E_ . -‘—_-_"""""'---...___‘ ‘H‘“‘m‘
4. Mo rpacuky onpepensiem % — — —
MaKCMManbHO ONYCTUMYH SHepruio Aemndepa: o — = T — ~
npv gasnexun 7 MMa n gnameTpe umunuuapa 50 mm = — ~ 2100
[E]= 21 1. g — ““---...M“*-\ x\‘\ e
>
5. MpoBepsieM ycroBue NOMHOTO NOTMOLLEHNS 3HEPTK ieMndepoM: 8_[ 10 = — o~ h,‘\"‘ gﬂ:
E1+E2=8+52=132/x g 10505
[E]= 21 Ix = ~ 40|
—~l 5321
Takum obpasom, E < [E], T.e. aHeprus, nornoluaemas aemndepom,
He npeBbIlWaeT npeaenbHo IZ[OI'IyCTVIMbII;I YPOBEHb. 1
4 6 8 10 12 14 16

116




1 NPaBO Ha BHECEHME TeXHUYECKUX U pas3MepPHbIX N3MEHEHNIA

Komnanua SMC coxpaHseT 3a co6o

O

SMC

KoncTpykunsa

ks

I'mopasnuyeckuit uunuuap no IS0

RO

|/

@@@@

Cneundiuxauns

[Mos. | HaumeHoBaHue Matepuan

1 KpblLuka wrokoBas Yrnepoaucras cranb
2 KpblLLka 3aaHsis Yrnepoaucras ctanb
8 Oboinma YrnepogucTas cranb
4 Mvnb3a Hepxxagetouias cranb
5 lMopLeHb Hepxagetowlas cranb
6 lMnactuHa Hepxasetowjas ctanb
7 [lemndbepHas BTynka Yrnepoauctas cranb
8 [lemndpepHas BTYNKa - raiika |  Yrnepoaucras cranb
9 HanpasnsitoLuin Bknagpliw MeaHbIit cnnas

10 LUTok Yrnepogucras cranb
1 LUnunbka Xpom - MonubaeHoBas cTasnb
12 laitka Yrnepogucras ctanb
13 Knanan aemndupytoLmi JlervpoBaHHas cTanb
14 O6oiiMa knanaHa Yrnepogucras cranb
15 KnanaH cbpoca Bo3ayxa JlernpoBaHHas ctanb
16 LLlapvk obpaTHoro knanaHa INofWwnnHUKoBas cTanb
17 KonbLjo cTonopHoe VHCTpyMeHTanbHas ctanb
18 BWHT cTOMOPHBIN JlernpoBaHHas cranb
19 Tndpt Hepxasetowlas cranb
20 KonbLio HanpasnsioLjee Mnactuk

21 Ckpenep NBR

22 YnnoTHeHwe LToka NBR

23 MaHxeTa lnactuk

24 YNNoTHEHNE MOpLUIHS NBR

25 YNAOTHUTENBHOE KOSbLO NBR

26 Mpoknaaka 06oiMbl NBR

27 YNnoTHeHWe knanaxa NBR

28 Mpoknagka obormbl knanaHa| NBR

29 YnnoTHeHve aemndepa -

30 lpoknagka NBR

31 Marnut -

PemKoMnneKTbl

%) Homep ans 3akasa

(mm) [ CHSD CHSG

32 - CHSG32-PS
40 CHSD40-PS CHSG40-PS
50 CHSD50-PS CHSG50-PS
63 CHSD63-PS CHSG63-PS
80 CHSD80-PS CHSG80-PS
100 | CHSD100-PS | CHSG100-PS

PemkoMnnekT coaepxut ynnotHeHus (no3.21-25, 29)
1 MOXeT ObITb 3aka3aH Ans Kax/[oro 3 ykadaHHbIX 41aMeTpoB LMNMHAPOB.

CHS

17




I'mopasnuyecKkuit umnuuap no IS0

CHS

® PacnonoxeHune

Homep anga 3aKa3a
CHID] s [D) [B] 4] 7] - {00 (-
MarnuTHoe KonbLio
= Bea marHutHoro konbua Wcnommeni
D | C marHuTHbIM KOSbLIOM gt = Her
Ss| A | Ectb
HomuHanbHoe - | AsyctopoHHuii
[}
AaBneHne § nemncep
D [ 10MMa 8| N | Bespemnduposatua
G | 16MMa E’ R | Ha BbigsuxeHum
St| H | Ha ersrusaHiu
Twvn kpennexus —
B | basosbiii ® Xop (MM)
LA | Hananax Cm. Tabnuy cTaHZapTHbIX XOR0B
FY | MepegHuit npsamoyronbHbili onaHe
~ - —.
FZ | 3apnuit npamoyronbHbiii donaxeL MpucoepuHetie
CA*| LapHupHas onopa - | Re
CB | [goitHas WwapHupHas onopa TF| GF
TA | MepepHss uanda
TC* LUeHtpanbHas uanda
*) Tonbko pns cepun CHSG ® [lnametp
LMnuHApa
40| 40 mm
50| 50 mm
63| 63 MM
80| 80 mm
[atunku nonoxeHns 3akasbiBaIOTCA OTAENbHO. 100| 100 Mm
Tun kpenneHus
CywecTayiowme
HGONHEHHS B | LA |FvFZ| CB | TA|TC"
[ - [o]lo]lofo[-]0
g » ) W =
[ -
£ A © | O D10 [ —-10
el B [o]o]o]o]o]o
g8 c * | - ]O|O|[—-]0O
oI _
s2| D + | —]J]OoJO|-]o0O
o o
s E * - @ O - © | "Tomko ans cepun CHSG

© CraHgapTHoe ucnonHeHue,

(O WarotasnusaeTcs no 3akasy,

— TaKoro UCNONHEHWs He CYLLECTBYeT,

* C, D v E ngeHtniHb! noBepHyThIM -, A 1 B.

npucoefuHUTENbHOrO
oTBepcTMa
¥ KnanaHa fiemncpepa

- - -Ocb KnanaHa gemncpepa

27 TIpuUcoeauHUTENbHOE OTBEPCTUE
1

lMpumeyarms:

Ha pucyHkax nokasaH Bug CO CTOPOHbI KOHLA LUTOKa
[Mpu 3aKa3e HeobXoANUMO YOeaUTbCA B CYLLECTBOBAHUN
BbI6paHHOro UCToNHeHUA (cM.Tabnuuy)

118



1 NMpaBO Ha BHECEHNE TEXHUYECKUNX N Pa3MepPHbIX N3MEHeHuM

Komnanua SMC coxpaHseT 3a co6o

SMC

O

I'mopasnuyeckuit uunuuap no IS0

CHS

Pasmepbi
Cranpapr Z + Xog
CHSDB oY AT R PitXoa  _CBJ |
MM - . 2-Rcl | .
= \ F= ——_Il'-— . . 4
- ® -
> >
- g 7 i
R —F -
. |
Aemnd. knanau | |
(o] = it
BQE.;;KJ - C "‘J NA — - NB— -
’ -8 _ StXom _ lm
L __ZZ vXon ]
@ | Xop A |B |C|D |E [F |G [GA|GB|H |J K | M MA [ MM NA [NB |P | PJ|S SS|V [Y |2 |2z
(Mm)| wToka
40 | 25~800 [ 22 | 52 | 40 | 22 [ 34 [ 12 ] 19 [33 | 16 [ 47 | M6x1 8 |75 |19 [M16x1.5]46 |29 [3/8)58 |107 |25 |6.5]|58 |132]161.5
50 | 25~800 | 28 [ 65 | 50 [ 28 |42 | 15|24 | 34 | 16 | 59 | M8x1 119 25 | M20x1.5| 46.5| 28.5| 3/8 | 58 [108 [ 31 | 8 | 65 [139( 176
63 | 25~800 | 36 [ 77 | 58 [36 [ 50 | 19| 30 | 31 | 17 | 74 | M8x1 1319 32 | M27x2 |46 |33 | 1/2]66 (115 [ 38 | 12 | 69 [ 153 [ 198
80 | 25~800 | 45 | 96 | 75|45 [ 60 | 13 | 41 |42 | 17 | 80 | M10x1.25] 17 | 10.5| 41 | M33x2 |57 |32 |1/2| 74133 |35 [15 | 77 | 1682235
100 | 25~1000] 56 | 115( 90 | 56 | 72 | 16 | 50 | 38 | 22 | 97 | M14x1.5 | 19 | 145 [ 52 | M42x2 |58 |42 |3/4| 86 (146 | 41 | 15 [ 79 [187|257.5
MM f—— Z + Xop - J
CHSGB C Y . PJ + Xon “GBl
- GA _| 2-ReP
. it
i = == =
of j_ &
wlo 5 —
> i
& \ /1' L -
1
==
Cbpoc } |
Bo3ayxa | oG . / |
g '_' c \ Aemnd. knanan,/ NB
L - S— - H S + Xoa L™
L o ZZ +Xon o
@ | Xop A |B |C D|E [F |G [GA|GB|H |J K | M MA [ MM NA [NB |P | PJ|S SS|V [Y |z |2z
(Mm)| wToka
32 | 25~800 | 18 [ 45 | 33.2(18| 30 | 12 | 14 | 35 | 12 | 43 | M6x1 7 175 [15 | M14x1.5(46 |23 |1/4 |56 [103 ]| 25 | 55|60 [128]153.5
40 | 25~800 [ 22 | 63 | 41.7)22| 34 [ 12 ] 19 [ 37 | 18 [ 47 | M8x1 9 [10 |19 | M16x1.5[51 |32 [3/8 |73 (128 25 |6.5[62 |153]185
50 | 25~800 | 28 [ 75 | 52.3|28|42 |9 |24 |42 [ 18 | 53 | M12x1.25| 11 | 12 [ 25 [ M20x1.5|57 |33 |1/2| 74 |134| 25 (7 |67 [159]199
63 [ 25~800 | 36 [ 90 | 64.3[36] 50 | 13 | 30 | 39 | 17 | 68 | M12x1.25| 13 [ 12 |32 | M27x2 |55 [33 |1/2[ 80 [136] 32 [ 12 [ 71 |168]| 216
80 | 25~800 | 45 [ 115/ 82.7[45[60 | 9 |41 |46 |20 | 76 | M16x1.5 |17 [ 16 |41 | M33x2 |66 [40 |3/4[93 159 31 [15 |77 |190 [ 251
100 | 25~1000f 56 | 130] 96.9|56| 72 [ 10 | 50 [ 47 | 20 [ 91 | M16x1.5 [19 [ 16 |52 | M42x2 |67 |40 |3/4]| 101[168 | 35 | 15 | 82 |203 | 275

119




'mppasnuyeckuil uunuuap no IS0

CHS

Ha nanax .
MM Y . *A00 — J
CHSDLA N e Ao T Sy — ]
C6poc . B . \ GA 2-RcP GB| /
BO3AyXa \ | 200, =
kel \ J
N7 — - ——H
\\ ' P — @'\ @
HENN — 49 ) ]
= \|> o >
- T2 ! T apca
’: L ] _é-: Ll ] T Poe——— I [
| G | \\ KlIIF Y1 X1 | \ Demncp. knanaw / _'_g__ |
| c \ MA |l ss ZA + Xop Y2l [ m
| LX—_J \4—BCD A Z +Xon
BB ZZ +Xon
@ | Xog A [B |BB|C [CD[D |E [F |G |GAIGB[H | J K |LH |LT[LX |LY |M | MA|MM P |PJ|S |SS|V |X1 |X2|Y1]|Y2|ZA|Z |2z
(Mm)| wroka
40 | 25~800 | 225290 |40 (11]22]|34[12]|19]33[16]47[ M6x1 8 |255/12 (70 |51.5 (7.5 [ 19 |M16x1.5)|3/8[58 [ 107 | 58 [ 6.5[13 |14 |33 | 15| 59 [ 132] 161.5
50 | 25~800 | 28 [65]103|50 (112842 [15(24( 34 (16|59 M8x1 1132 [12)83 6459 |25 [M20x1.5[3/8|58|108( 65| 8 |12.5(13.5(34| 15[ 59| 139] 176
63 | 25~800 | 3677 |115]58 (113650 (19(30( 31|18 74| M8x1 13(38 [12)95 (765 |9 |32 [M27x2 [1/2|66|115[68 | 12|16 [16 [30| 17| 68| 153| 198
80 | 25~800 | 45(96|147|75(14|45]|60(13|41|42]17[80| M10x1.25( 17| 47.5| 18 [ 121]95.5 | 10.5| 41 | M33x2 | 1/2| 74 | 133| 77 [ 15|15 |15 [42| 17| 74| 168] 223.5
100 | 25~1000 | 56 | 115{179( 90 | 18|56 72| 16 (50 | 38 (22| 97| M14x1.5 | 19| 57 [25|145(114.5| 14.5] 52 [M42x2 |3/4]|86 | 14679 | 1520 |20 |38 22 86| 187| 257.5
CHSGLA MM S + Xon N 3
\ | PJ +Xoa B "TQ‘B‘" ;:r
Pac:cronmie MeRay 2-RecP |
nNock cmer |
\ o =4
e @ &
ug + T
L.. =4 | 4 \ / >
[ it - [ By
5 /I ]
J LELLYT | X1 \geuncp. xnanaw/ | X2
MA Ss ZA +Xopn jl('ﬂ M
LA Z +Xoa [
|_ - B _ZZ +Xon |
& | Xon A[B |BB|C |CDD|E |F |G|GAGBH]|J K|LH[LT |LX |LY |M [MAMM P [PJ|S [SS|V [X1|X2|Y |Y1|Y2|zA|Z |2z
(Mm) | wroka
32 | 25~800 [ 18|45 |84 |332|9 [18]30]12] 14| 35|12 43| Méx1 7 122 1125|163 | 44.5| 7.5 15| M14x1.5| 1/4| 56 | 103| 45| 5.5| 26| 13 [60] 20 [ 10| 73 | 128 153.5
40 | 25~800 [ 22(63 | 103[41.7) 112234 |12] 19 37|18 47| M8&x1 9 |31]125]|83 | 62.5]10] 19| M16x1.5| 3/8| 73| 128] 45| 6.5| 31| 22| 62] 20|10 [ 98 | 153| 185
50 | 25~800 | 28|75 | 127|52.3| 14| 28|42 |9 | 24| 42|18 53| M12x1.25[ 11|37 | 19 | 102| 74.5 | 12| 25| M20x1.5| 1/2| 74| 134| 54| 7 | 28]20|67]| 29|13 |92 | 159| 199
63 | 25~800 [ 36)90 | 161|64.3] 183650 | 13| 30| 39|17 [ 68 M12x1.25( 13|44 | 26 | 124|89 |12]|32|M27x2 [ 1/2| 80| 136]| 65) 12| 22| 16| 71| 33|17 [86 | 168| 216
80 | 25~800 | 45| 115] 186/82.7| 18| 45|60 |9 | 41| 46|20 | 76| M16x1.5 | 17|57 | 26 | 149| 114.5/ 16| 41| M33x2 | 3/4| 93| 159| 68| 15 | 29| 23 | 77| 37 | 17 | 105] 190| 251
100 | 25~1000| 56| 130] 216]96.9]| 26| 56 [ 72 [ 10 50 [ 47|20 | 91| M16x1.5 | 19|63 [ 32 |172] 128 | 16[52(M42x2 | 3/4] 107 168] 79| 15 | 23| 18 | 82| 44 [ 22 | 102 203 275

120




I'mopasnuyeckuit uunuuap no IS0

CHS

C nepegHum dinanuem

Z + Xog . J
CHSDFY — PJ +Xona _ .GB [
GA_| 2-RcP
" 3agwuih gemnd. knanaw
/ \
a
-3 z%q - d
| 8|
L]t .
L 1 . —_—
Nepegnui A
-1 cbpoc Bosgyxa_ ""-._\_cﬁpoc BO3ayxa -
Mepeanui . NA_ | -
£Z i Aemnd. knanaw S + Xoa
- 27 + Xon N
& | Xop A|[B|[BB|C|D|E|F |FD|FT|FX|FY|FZ |G |GA|GB|H [J K| M [MA[MM NA |NB |P |PJ[RD S [SS|V |Y |z |2z
(Mm)| wroka
40 | 25~800 | 22| 52| 52 | 40| 22| 34]|12|6.6 (10|70 |40[ 86 [19( 23 [ 16|57 | M6x1 8 |75 |19 | M16x1.5|/ 36 |29 |3/8|58(51]-0.003 97 |35[6.5]|58]132]|161.5
50 | 25~800 | 28 65| 65]50] 28[ 42 15]9 |10]86 |50| 105| 24|24 | 16 | 69 [ M8x1 1119 [25 | M20x1.5( 36.5( 28.5[ 3/8 | 58 | 62 |-0.076] 98 |41]|8 [65[139[176
63 | 25~800 | 36| 77| 77 |58] 36[50(19]9 10|98 |56| 11830 21| 18 | 84 [ M8x1 1319 [32|M27x2 |36 |33 [1/2]|66]|72 105(48 |12 | 69 153|198
80 | 25~800 | 45| 96| 96| 75| 45[ 60| 13|11 |16]119]|70| 143| 41|26 | 17 | 96 [ M10x1.25| 17( 10.5| 41 | M33x2 | 41 |32 | 1/2| 74| 92 |-0.036( 117[ 51|15 | 77| 168 223.5
100 | 25~1000 | 56| 114 115( 90 [ 56| 72| 16| 13.5/16 | 138[ 90| 162 50 | 22 | 22 | 113| M14x1.5 | 19| 14.5| 52 | M42x2 | 42 |42 | 3/4 | 86 | 110-0.090| 130| 57 [ 15 | 79| 187|257.5
CHSGFY MM Z + Xon ) - 3aauuh femndp. knanaw
I Y —— PJ + Xog GB y =
4-oFD - GA | 2-RcP
/
/
1 } y ,
[] \ ! s .
. ] ,;% ‘ @ RO
S | »>Im D:u..||r3 av, M v ° b
z wm Cé ElE Al > ‘
2 i
L |
% — Mepenxui T —;ﬁ 7 & : @ @ '
= cBpoc Bosgyxa | N\ ’ \‘ \
E L—MA K FIET " C6pec Boaayxa ¥ . | €Bpoc
& Mepennui LA.L Ss . NA NE c ~ Bo3Ryxa
QE, Aemnd. knanaw C W T S + Xoa M B
g e 2L + Xoa -
a
N
x
2
3 & | Xop A BB D|E|F |FD [FT|FX |FY[FZ [G [ GA[GB|H |J K| M [MA[MM NA |NB |P |PJ[RD S [SS|V |Y |z |2z
Z (Mm)| wroka
% 32 | 25~800 | 18| 45 (453321 18/30(12]|6.6 |[10|58 |33| 70 | 14| 25| 12|53 [ M6x1 7175 15| M14x1.5| 36 |23 | 1/4 |56 |42]-0.025| 93 | 35(5.5]| 60| 128]153.5
[~ -0.064
e 40 | 25~800 | 22| 63 |63 | 41.7[ 22| 34| 12| 11 (10|87 |41 [ 110[ 19|27 [ 18| 57 | M8x1 9 110 |19 | M16x1.5| 41 |32 |3/8|73|62]-0.030 118|35(6.5]| 62| 153|185
é 50 | 25~800 | 28 75 [75]52.3)28|42(9 |14 |16]105|52| 130| 24| 26 | 18 | 69 [ M12x1.25] 11| 12 | 25| M20x1.5| 41 |33 | 1/2 | 74 | 74 |-0.076( 118[41]|7 | 67| 159|199
2 63 | 25~800 | 36 90 [90 | 64.3/ 36|50 13|14 |16]11765] 145| 30| 23 | 17 | 84 [ M12x1.25] 13[ 12 |32 | M27x2 | 39 |33 | 1/2 |80 | 82|-0.036 12048 |12 | 71| 168]| 216
z 80 | 25~800 | 45 115[115] 82.7) 45|60 9 |18 |20| 14983 180| 41|26 |20 | 96 [ M16x1.5 | 17[ 16 |41 | M33x2 | 46 |40 | 3/4 | 93| 92 -0.090( 139[ 51|15 | 77| 190| 251
T 100 | 25~1000 [ 56| 130] 130 96.9] 56{ 72| 10{ 18 22| 162( 97| 200| 50 | 25 | 20 | 113 M16x1.5 [ 19| 16 |52 | M42x2 |45 |40 | 3/4 | 101 105 146 57 | 15 | 82| 203] 275
2
®
a
c
=

Komnanua SMC coxpaHseT 3a co6o

121




'mppasnuyeckuil uunuuap no IS0

CHS

C 3aanum chnanuem

Z + Xon
Paccr G | —
CHSDFZ Meway NoCKOCTAMHG Y _ PdiXon _GB]
MM \ J\ »-—qu—-- I,J—ch— Mepeanun [ |
=\ I'. Rewmndp. knanan A-0FD
- IL_ \_ = I = : 6 :4'_._ __,:.: @T_'{
] |
4% bjg @ | alt:
1 > |
> : —= — s (@ 1|1 o4t
Cépoc | | LMA | T~ L = “Qnanie || Sagnui
Bo3AyXa | & A klle NA -J ~— il NB | | memndp. knanan~
- B LW _SeXem L FX
ZZ + Xop J FZ
(%] Xoa A |B |[BB|C D |E|[F |FD|FX|FY|FZ |G |GAIGBlH|J K | MA| MM NA[NB |P |PJ|IS |V |Y |Z |2z
(Mm)| wroka

40 | 25~800 | 22|52 |52 40| 22|34|12[6.6 |70 | 40|86 [19] 33|16 47| M6x1 8 [ 19 [M16x1.5]46 |29 [3/8] 58[107| 6.5] 58 [ 132 | 154
50 | 25~800 | 28 (65 |65 | 50| 28|42| 159 |86 | 50 [105] 24| 34 | 16| 59| M8x1 11| 25 | M20x1.5 | 46.5| 28.5| 3/8| 58108 | 8 | 65| 139 [ 167
63 | 25~800 | 36|77 |77 | 58[36|50| 199 |98 ) 56(118[30 31[18] 74| M8x1 1332 | M27x2 |46 |33 |1/2| 66[115] 12| 69 | 153 | 189
80 [ 25~800 [ 45|96 |96 | 75|45[60| 13| 11 | 119( 70 [143) 41| 42 [17) 80| M10x1.25/17 | 41 | M33x2 |57 [32 |1/2| 74|133| 15| 77 [ 168 | 213
100 | 25~1000 | 56 | 115] 115] 90 | 56| 72| 16 | 13.5{ 138) 90 | 162| 50 38 | 22| 97| M14x1.5 [19| 52 | M42x2 |58 |42 |3/4| 86|148] 15[ 79| 187 [ 243

Z + Xop

CHSGFZ —
Y PJ + Xoa 'Tga'|
GA 2-RcP . 4-pFD
MNepeanun
MM / Aemndp. knanau ‘
- - ™
D¢ / te} palls O
Tt T 61( >|m
=" W.|m
>
O/ 1T/ I MR ee———————— [ ‘Q i 1
f ) ' i CGpoc =
Copoc n"r // (¥ | |PaccToanue | MA ‘\\ ng:\f:m /;B chasa?n‘;n/ \ 3agnun
. ot 7 B Mexay Aa K| [LF.| NA | = " tnanue FX .| AeMAG. knanat
nnockoctamMu G H | S + Xoa N FZ
| ZZ + Xog

@ | Xop A|B |BB|C [D|E|F |FD|FX|FY[FZ |G |GA[GBlH |J K [ MA[ MM NA|NB [P |PJ[S |V [Y |Z |Z
(Mm)| wToKa
32 | 25~800 | 18|45 |45 | 33.2[ 18 30| 12(6.6(58 | 33 |70 |14 35|12 43| Mo6x1 7 115 | M14x15(46 |23 |1/4]| 56]|103| 55| 60 | 128 | 146
40 | 25~800 | 22 (63 |63 | 41.7| 22| 34| 12|11 |87 | 41| 110| 19| 37 | 18| 47| M8x1 9 | 19| M16x1.5(51 |32 |3/8| 73|128| 6.5| 62 | 153 | 175
50 | 25~800 | 28 |75 |75 | 52.3| 28| 42| 9 | 14 | 105| 52 [ 130| 24 | 42 [ 18| 53 | M12x1.25| 11 | 25 | M20x1.5| 57 |33 |1/2| 74|134| 7 | 67 [ 159|187
63 | 25..800 | 36 |90 |90 | 64.3] 36| 50| 13|14 | 17| 65 [ 145[ 30| 39 | 17| 68 M12x1.25| 13| 32 [ M27x2 |55 |33 [1/2| 80[136( 12 [ 71 | 168 [ 204
80 | 25...800 | 45| 115{ 115] 82.7) 45| 60| 9 [ 18 | 149) 83 [180( 41| 46 |20 | 76| M16x1.5 | 17| 41 [M33x2 |66 |40 [3/4|93|159( 15[ 77 [ 190 | 235
100 [ 25...1000( 56 | 130] 130] 96.9] 56| 72| 10 18 [ 162] 97 | 200] 50 | 47 | 20| 91| M16x1.5 [19| 52 | M42x2 | 67 |40 |3/4| 101168 | 15 | 82| 203 | 259

122



1 NMpaBO Ha BHECEHNE TEXHUYECKUNX N Pa3MepPHbIX N3MEHeHuM

Komnanua SMC coxpaHseT 3a co6o

SMC

O

I'mopasnuyeckuit uunuuap no IS0

CHS

C wapHMpHoil onopoil SS + Xon -
PJ +Xoa GB
CHSGCA T 2-rer 0CD
L/ Aemnch. knanax
' - T
& Bh 0 B
> >\ l"n
PaccTosnue - : .(“T-. | _;:.}
Mexay nnockoctamu|G / \\ /l AN
CBpoc CBpoc
MA M, Bo3ayxa CX | ao:?nvxn
LA KL NB L_C - L
H S + Xon L | RR B___ .|
Z7 + Xon N
2 | Xon A |B |C |CD CX|D |[E |F |G | GA[GB|H | J K| L [MA[ MM NA|NB|P |PJ|RR|S [SS |V |Y |ZZ
(Mm) | wroka
32 | 25~800 | 18 |45 | 33.2| 12| +0.043 |16 (18 | 30 | 12| 14 [ 35 | 12 | 43 [ Mé6x1 7 [19]15 [M14?1.5]|46 | 23 | 1/4] 56 | 17 | 103 [ 147 [ 5.5| 60| 182
40 | 25~800 |22 |63 [41.7({14]0 2022 |34 [ 12| 19( 37 | 18| 47| M8x1 9 | 19[19 | M1671.5|51 |32 [ 3/8[ 73 |17 | 128 | 172[6.5| 62| 211
50 |25~800 |28 |75 | 52.3| 20| +0.052 |30 (28 [ 42 |9 [ 24|42 |18 [ 53| M12x1.25[ 11 [ 32(25 | M20x1.5 |57 | 33 | 1/2[ 74 |29 [134 | 191 |7 [67[248
63 [25~800 [ 36 |90 |[64.3/20|0 30136 (50| 13[30]39 [17]68] M12x1.25[ 13| 32|32 | M27x2 |55 [ 33 |1/2] 80 |29 [136 | 200|112 | 71| 265
80 |25~800 | 45 | 115]|82.7| 28 4045609 | 41[46 (20| 76| M16x1.5 | 17| 41|41 [M33x2 |66 |40 | 3/4| 93 |34 | 159 [ 229 |15 | 77| 308
100 | 25~1000 | 56 | 130| 96.9( 36 | +0.062 | 50 |56 [ 72 | 10 [ 50 | 47 [20 | 91| M16x1.5 [ 19| 54|52 | M42x2 |67 | 40 | 3/4| 101| 50 | 168 | 257 | 15 | 82| 363
0
C nBoiitoi PaccrosHue SS + Xoa
mapuupnuﬁ llllﬂpﬂﬁ Mexay nnockoctamu G Y . __PJ + Xoa
J 1. GA __{ 2-RcP B
CHSDCB \{ Y
[ e— = .
] .
wlal_| N @..
s(s| ] VAVIVAN| \ o
1
C6poc _.HLA- i . o
Bo3AyXa A KlIF NA Aemndp. knanau L NB |
| H S +Xop L |RR
77 + Xopa
2 | Xog A B [C|CB|CD CX{D|E|F |G |[GAGB|H|J K |L | MA MM NA |NB [P [PJ|[RR[S |SS|V |W |Y |ZZ
(Mm) | wToka
40 |25~800 [22]52 | 40) 64 | 14|+0.043[ 20| 22| 34| 12[ 19| 33|16 [ 47| M6x1 8 [19[ 19| M16x1.5| 46 |29 [3/8[58 | 17[107[151]| 6.5 11.5]|58 | 190
50 |[25~800 [ 28|65 | 50|64 [14]0 20| 28| 42| 15|24 | 34 (16 [ 59| M8x1 11119 ] 25 [ M20x1.5| 46.5| 28.5| 3/8 | 58 | 17| 108 | 158 8 | 11.5 [ 65 | 203
63 |25~800 | 36|77 [ 58|93 | 20 30 [ 36[ 501930 [31]18 | 74| M8x1 1313232 M27x2 |46 |33 |1/2]|66| 29| 115|185| 12| 17.5[ 69 | 250
80 [25~800 [45(96 | 75(93 |20 30 [ 45(60] 1341|4217 | 80| M10x1.25/17 |32 | 41 [ M33x2 |57 [32 |1/2|74]29]|133]|200( 15| 17.5(77|274
100 | 25~1000 | 56 | 115 90| 113| 28| +0.052| 40| 56| 72| 16| 50 | 38|22 | 97| M14x1.5 (19|39 | 52 | M42x2 | 58 |42 | 3/4 (86| 34| 146|226| 15| 21.5]|79 316
0
SS + Xon
e Y PJ +Xoa G
CHSGCB J GA Z-RcP CronopHaa nnaHka
MM /7 Aemndp. knanau —_—
\ \ /[ eCD Hor )
7 = [ o T
e I i
t )
4 , 2 D
=4 - > 7 HJHTTH
V ' A ¥
:'aega"? ?lw::s:mcmmn y ¢ 5 \
MA \\ gg:?ﬁ\?xa c - \ CéBpoc
e BO3AYXa
A K Fl. ~NA | NB | cY L
H S + Xon L RR c
B ZZ + Xon B
2 | Xoa A[B |C CD, CX|CY|D |E [F |G |GA GB|H |J KL |MA| MM NA[ NB| P
(Mm) | wToka H9 |f8
32 |25~800 | 18[45 [33.2(12(0.043|-0.016] 16 |32 [18]30 |12 (14| 35| 12 [ 43| M6x1 7 [19 115 | M14x1.5] 46| 23 | 1/4
40 [25~800 [22]63 [41.7]14|0 -0.043120 143 [22]34 |12 (19 37| 18 [47] M8x1 9 [19 |19 | M16x1.5] 51| 32| 3/8
50 [25~800 | 28 (75 |52.3[20]0.052|-0.020|130 |60 [28(42 |9 |24 |42 18 [53| M12x1.25| 11|32 | 25 [ M20x1.5[ 57| 33 [ 1/2
63 |25~800 | 36|90 [64.3[20(0 -0.053[ 30|60 |36]50]13 [30[39] 1768 M12x1.25| 13|32 | 32 | M27x2 | 55| 33 | 1/2
80 [25~800 |45 115]|82.7( 28 40 (80 [45[60 |9 |41]|46| 20 (76| M16x1.5 |17]39 |41 [M33x2 [ 66| 40 [ 3/4
100 | 25~1000 | 56 | 130( 96.9| 36 | 0.062( -0.064( 50 | 100| 56 | 72 {10 |50 | 47| 20| 91| M16x1.5 [19|54 |52 | M42x2 | 67| 40 | 3/4
0 -0.025

123




'mppasnuyeckuil uunuuap no IS0

CHS

C nepeaHen Landon

e Z+ Xoa o o
CHSDTA L Y PJ + Xon _.GB| }J"
‘ + GA _| 2-RcP
MM [ /
— /| I g
— 1
= ] JoF k(AN @— —i
st S8, I_Lfaé Qﬂ >t
il Paccrosaxue G | ¥ - - — -
Mei.qy NNOCKOCTHMMW _/ ‘ ' aAnHWA AEMﬂdl. Knanar;' /;,—
: —— MA|IKI|F  NA| \_\_’f’ gl d Iz I
T LA SS _ moagyxa S, .
Nepeanmn 7| "i\‘\ Gnepenuuﬂ ™~ H = S + Xon M
femnd. knanau - -l cbpoc Bo3ayxa .- _—ZZT?TOA — __—.....J...
@ | Xoa A [B [C |D|E |F |G |GA[GBlH |J K|M | MA|MM NA |NB |P [PJ|S | SS|TD TX [TZ |V |Z |Z2Z
(Mm)| wToka
40 | 25~800 |22 |52 |40 (22|34 |12[19| 33|16 57 | M6x1 8 [75 | 19 [M16x1.5(46 |29 |3/8(58|107 |54 (16(-0.016]|55 |79 |6.5(132(161.5
-0.043
50 | 25~800 |28 |65 50 |28 |42 |15|24] 34 |16| 69 | M8x1 119 25 | M20x1.5| 46.5| 28.5( 3/8 |58 | 108 | 61 | 20{-0.020 [ 68 [100{8 |139|176
63 | 25~800 |36 |77 [58 |36[50|19|30]31[18] 84 | M8x1 1319 32 |M27x2 |46 |33 [1/2]|66|115]| 67 |25[-0.053[ 80 [120| 12 |153|198
80 | 25~800 |45(96 |75 |45]|60 |13 ]|41] 42 (17|96 | M10x1.25{ 17| 10.5| 41 | M33x2 |57 |32 [1/2|74|133|73]32(-0.025( 100|150 15 |168|223.5
100 | 25~1000 | 56 | 115] 90 [56 | 72 | 16 | 50 | 38 |22 | 113 M14x1.5 | 19| 14.5]| 52 | M42x2 |58 (42 |3/4)|86|146| 79 |40|-0.064| 120|184 |15 |187|257.5
Paccroanue
CHSGTA Memay nnockocTamu G Z + Xon = ;
AR ,_ v — PJ+ Xom . 8 .?:/a(ﬂHHM__AEMﬂgg. Knanan
LR . GA 2-ReP /3
\ A | | / / S~
-3 '\I ;|F . 7
L l; m =4
| 1
Sla  wlal £ M @} —
B o G s >t
t | = =
< c6 o
. oc P
Mepeanun 7 i NepeaHun MA K LF NA[ BO?HV“ )%
nemnd. knanan | ~._cbpoc Bo3nyxa oA SiS o NB |
' ' I H o S+Xon ot M
e . _ZZ + Xop .l
@ | Xop A |B |BB|C (D |E |F |G|GA|[GBH |J KM [MA[MM NAINB| P |PJ|S |SS|TO TX|TZ |V |Y |2 |22
(Mm)| wToka
32 | 25~800 | 1844 |45 ]33.2({18[30]12[14[35]12[43]| M6x1 7175]15 [M14x1.5]| 4623 | 1/4|56 | 103[ 54 | 16/-0.016] 45| 68 | 5.5| 60 [ 128 153.5
40 | 25~800 | 22 (61 | 63 | 41.7]22 34 [12[19] 37 | 1847 | M8x1 9110 [19 [M16x1.5] 51]32|3/8| 73| 128| 57 |20|-0.043| 63| 95 | 6.5| 62 | 153| 185
50 | 25~800 | 28|75 |75 |52.3(28 (429 (24|42 |18(53| M12x1.25(11| 12 |25 [M20x1.5| 57|33 | 1/2| 74 | 134 64 | 25/-0.020| 76| 116] 7 | 67 | 159| 199
-0.053
63 | 25~800 | 36|87 | 90 | 64.3|136 (50 [13 {3039 | 17|68 | M12x1.25[13) 12 |32 [M27x2 | 55[33 | 1/2|80 [ 136/ 70 | 32/-0.025| 89| 139| 12 | 71 | 168 216
80 | 25~800 | 45|112| 115| 82.7(45 (60 |9 [41[46 |20|76| M16x1.5 [17]16 |41 [M33x2 | 66|40 | 3/4|93 | 159 76 | 40/-0.064| 114 178| 15 | 77 | 190 | 251
100 | 25~1000 | 56 | 125| 130] 96.9|56 |72 [10 | 50| 47 | 20| 91| M16x1.5 |19 16 | 52 |M42x2 | 67|40 | 3/4| 101 168| 71 | 50 121 207| 15| 82 | 203 | 275

124



O

SNCR I'mopasnuyeckuit uunuuap no IS0
CHS

C ueHTpanbHoM yandon

SS + 1/2 Xopa .
CHSGTC | Y e PJ +Xon . GB
GA . 2ReP [
Pacc#onnue Cushion valve J
Meway nnockoctAmn G | / / — =
T
' /1] ¢ 7 A
bl @ &
Olm wlo N & £\l \ 7.
s,@ S8 T = k 2
— 4 =l
! : =
LMA | Cbpoc ] C6poc
e P - o
5 3+ Xog LM
ZZ + Xop
@ | Xop A|B [BB|C [D|E|F |G |GA|GB|H |J K|[M [MA MM NA|NB|P |PJ|S |SS |TD TX|TY | TZ |V |Y |2 |ZZ

(Mm) | wroka
32 [25~800| 18|45 | 57 | 33.2| 18| 30| 12| 14|35 12|43 | M6x1
40 | 25~800 | 22|63 | 65 | 41.7| 22| 34| 12|19 37 |18 |47 [ M8x1
50 [25~800| 28|75 |75 |52.3|28|42|9 |24]|42|18|53| M12x1.25

~

7.5(15 |M14x1.5| 46 |23 | 1/4| 56 | 10388 | 16(-0.016|53 |55 | 79 |5.5]60(128(153.5
10|19 |M16x1.5] 51 (32 [3/8] 73 [ 128[98.5 | 20(-0.033| 72 |76 | 108]6.5]|62(153[185

1225 |M20x1.5]| 57 (33 [1/2]| 74 [ 134104 [25(-0.004|88 |89 [ 1297 |67[159({199
-0.043

63 |25~800 | 3690 [ 90 | 64.3] 36[50(13[30[39 [17 |68 | M12x1.25[ 13| 12|32 |[M27x2 | 55[33[1/2|80 [136[11 [32(-0.009|90 |100{ 150{12 |71|168(216
80 [25~800 | 45| 115| 115] 82.7| 45|60 9 |41)46 |20 |76 | M16x1.5 | 17) 1641 |M33x2 | 66 [40 |3/4| 93 | 159| 123.5| 40|-0.054| 123[127| 191|15 | 77]|190|251
100 | 25~1000 56 | 130 130] 96.9| 56| 72| 10|50 [ 47 |20 [91] M16x1.5 | 19] 16 |52 [M42x2 | 67 |40 |3/4| 101 168 132.5 50 130[140] 220{15 [82]203)275

©

-
=

1 NMpaBO Ha BHECEHNE TEXHUYECKUNX N Pa3MepPHbIX N3MEHeHuM

Komnanua SMC coxpaHseT 3a co6o

125




'mppasnuyeckuil uunuuap no IS0

CHS

HaTyHKkn nonoxenua
Npumensiembie AaTYHKH
O6oaHaderne | Tun MoHTax On.exof | Ceetosas Bbixoa Pabouee HanpsikeHue (B)| Xapaktep
MHAMKALWS DC AC Harpysku
D-A54L" lepkoHoBbll | Ha Kabens | Ecmb 2-x npoBogHoi | 24 110, 220 Pere,
D-Z73L° wnunbke | 3anuThbii 3-x nposogHon | 5,12, 100 MnK Bonee feTansHas MHGOpMALIS 0 AATAKaX
D-F5PL OnEKTPOHHbII p-n-p 24 - MOMOXEHIs! COEePXKMTCA BO BBOAHOM pasfere.

" Kpome umnunapos CHSD @40, @50 n CHSG @332
? Kpome unnuHapos CHSG @332.

Homep ang 3aKa3a Kpennesus faTymka

CHSD CHSG
Jatuuk | [AnameTp umnuHgpa (Mm) JOatunk | [OuameTp umnuHopa (Mm)

40 50 63 80 100 32 40 50 63 80 100
D-A54L | - - BT-04 BT-06 BT-12 D-A54L | BT-03 BT-04 BT-08 BT-08 BT-16 BT-16
D-Z73L | BMB4-032 BA4-040 | BA4-040 | BA4-063 | BS4-125 D-Z73L | - BMB4-050| BA4-080 | BA4-080 | BS4-160 | BS4-160
D-F5PL | BT-03 BT-04 BT-04 BT-06 BT-12 D-F5PL | BT-03 BT-04 BT-08 BT-08 BT-16 BT-16

30Ha nepexnioYeHHs AaTYHKOB NonoXexus (mm)

CHSD CHSG
Mogenb | [nametp uununapa (Mm) Mogenb | [lvametp uunuHapa (Mm)

40 50 63 80 100 32 40 50 63 80
D-A54L | - - 105 |12 14.5 D-AB4L | - 9 10 1 14
D-Z73L | 8 9 10 12 14.5 D-Z73L | - 8.5 9.5 10.5 14.5
D-F5PL | 4 45 45 55 55 D-F5PL | 4 45 5 4 oI5

MunnmansHas anuna xopa (Mm) npu UCNONbL30BAHUKH AATYHKOB NONOIKEHUS

CHSG
Mogens | Komnyecteo| [Ans scex Tvnos KpenneHve ¢ LieHTpanbHo Liandoi
[aT4MKOB KpenneHus kpome @32 @40 @50 63 @80 2100
LieHTpanbHoM Landgb!
D-A54L, | 1wum2 25 - 120 130 135 145
n 25+55-(n-2/)12 120+55-(n-4/)/2 130+55-(n-4/)/2 135+55-(n-4/)f2 145+55-(n-4/)/2
n=2,4,6,8.... n=4,8,12, 16... n=4,8,12,16... n=4,8,12,16... n=4,8,12, 16...
D-Z73L 1 mnm 2 25 95 100 105 115 125
n 25+40-(n-2/)12 95+40-(n-4/)/2 100+40-(n-4/)/2 | 105+40-(n-4/)/2 115+40-(n-4/)/2 125+40-(n-4/)/2
n=2,4,6,8.... n=4,8,12,16... n=4,8,12,16...] n=4,8,12,16... n=4,8,12,16... n=4,8,12,16...
D-F5PL 1 mnm 2 20 110 125 130 135 140 150
n 20+55-(n-2/)/2 110+55-(n-4/)/2 125+55-(n-4/)/2 130+55-(n-4/)/2 | 135+55-(n-4/)/2 140+55-(n-4/)/2 150+55-(n-4/)/2
n=2,4,6,8.... n=4,8,12,16... | n=4,8,12,16... n=4,8,12,16...| n=4,8,12,16... n=4,8,12,16... n=4,8,12, 16...
CHSD
MO/.'lel'Ib 2(paBHOCTOpOHHeeMOFlHOGTOpOHHee) n
nn 1
D-A54L, | 20 20+55-(n-2/)/2
D-F5PL 0=2,4,6,8, ... CHSD
D-Z73L | 20 20+40-(n-2/)12 %) D-A54L D-Z73L D-F5PL
n=2,4,6,8, ... (Mm) | A B Ht Hs | A B Ht Hs | A B Ht Hs
40 - - - - 5 2 27 |29 |8 5 285|355
50 - - - - 65 |15 |33 |33 |95 |45 |345]|395
MonTam HaTYHKOB 63 45 |0 385|475| 8 3 37 138 |1 6 385 | 45
80 85 |35 | 48 | 54 12 |7 46 | 46.5 | 15 10 |48 |51
Hs 100 [ 85 |6 58 [ 665|12 [95 [57 [59 |15 125 |58 | 63.5

A

o= BH CHSG
R, LT —

ot — )
D
A "'EEI = 7 %_o R @ | D-ASAL D-Z73L D-F5PL

B (mm) | A B H [ Hs [A B Ht [Hs |A B Ht | Hs
32 - - - - - - - - 105 [ 45 |25 | 325
A 40 125105 |30 [385]|16 |4 285129 |19 |7 30 |36
= J ERRE: 50 12510 37543516 |3 36 |37 |19 |6 375 | 41
i === E 63 14515 | 435|49 |18 |5 42 1425 |2 8 43.5 | 46.5
y 5 80 175135 | 565|596 |21 |7 545154 |24 |10 | 565 |57
100 |21 |25 | 645[69 |[245] 115|615 [625|275 | 145|645 66

126



% S\NC

KoMnaKTHbIi THAPABNMYECKHH UHNHHAP HU3KOI0 AaBNeHns

CHO

@20 ~100

o  MuHumanbHas A/MHa rugpoumnnyigpa genaet BO3MOoXHbIM Co3fiaHe npeaenbHO KOMNaKTHbIX NPKUBOAOB

e lIcnonHeHua ¢ ogHo- 1 fBYCTOPOHHUM LUTOKOM

o Bo3amoxHocTb YCTaHOBKK OaTYKOB NONOXEHNA

TeXHn4yecKue XapaKTepUCTHKH

Cpepa

I'Mp,pasnmqecr(aﬂ XUAKOCTb

HomunansHoe gasnetue (MMa)

35

WcnbiTatenbHoe aasnexue (MMa) 5.0

MaxkcumanbHo gonyctumMoe aasneHue (Ma) 35

MuHumanbHoe paboyee gasnenue (Mra) 0.3

Pabouas Bes gatunkos nonoxexns | -10~80

Temneparypa (°C) C parumkami nonoxeHus -10~60

CKOpOCTb MOpLUHA (MM/C) 8~100
[lemndpuposarue Her

Pesbba Ha LuToke BHyTpeHHss/HapyxHas
Tonyck Ha AnuHy xona (M) 0~+1.0

COBMECTHMOCTDb C THAPABAMYECKHUMM IKHAKOCTAMH

l'wopaBnnyeckas KUaKoCTb CoBMmecTUMOCTb
CTaHpapTHbIE ANMHBI XOAA MuHepanbHble rugpasn. macna | CoBMECTUMbI
[vametp unnunapa (vm) | CtaHgapTHble AnnHbI Xoga (Mm) Amynseun «Boga B Macne»
20 5,10, 15, 20, 25, 30, 35, 40, 45, 50 Amynbeun «Macrio B Bode»
32,40 5,10, 15, 20, 25, 30, 35, 40, 45, 50, 75, 100 BopaHo-rnukoneBble XMAKOCTH HecosmecTuMbI
50, 63, 80, 100 10, 15, 20, 25, 30, 35, 40, 45, 50, 75, 100 docdartbl

1 NMpaBO Ha BHECEHNE TEXHUYECKNX N Pa3MepPHbIX UBMEHEHUN

LLI/IJ'IVIHD,pr C NPOMEXYTOYHbIMU 3HAYEHUAMU ONWHBI X04a NOCTaBNATCA MO 3anpocy

Homep ana 3aKa3a

CH[D] a[w] B [50] - [30] D

Tun pe3b6bi WwWToka

C BHYTpeHHeit pe3bboii

- be3 marHuTHoro konbua - -
M | C napyxHoit pesbboit

D | C MarHutHbIM KOmbLIOM

Xopa (Mm)
CM. Tabnuwly CTaHAaPTHbIX XO[0B
Tun o o [namerp

3 C OAHOCTOPOHHUM LUTOKOM 20 | 20mm

3 W | C ABYCTOPOHHMM LUTOKOM 32 | 32um

©

S 40 | 40mm

% 50 | 50mm

g 63 | 63w

3 80 | 80mwm

LE) 100 | 100mm

»

x

I

I [laTunky NONOXeHUs 3aKasbIBaloTCS OTAEMbHO.

8

127




KomnakTHbI# ruapaBNHYecKUi UMNMHAP HH3KOI0 AaBNeHus

CHQ

HomunanbHbie yeunua (H)

CHQ
] @ wroka | Hanpaenenne | lnowaab Pabouee gasnexue (Ma)
(Mm) | (vm) nepemelleHns | nopiuxs (vm’) | 1 1.5 2 25 8 35
20 10 BbIABWKEHNE 314 314 471 628 785 942 1099
BTATMBaHNE 235 235 352 470 587 705 822
32 16 BbIABWKEHNE 804 804 1206 1608 2010 2412 2814
BTSAMMBaHNe 603 603 904 1206 1507 1809 2110
40 16 BbIABIKEHNE 1256 1256 1884 2512 3140 3768 4396
BTATMBaHNE 1055 1055 1582 2110 2634 3165 3692
50 20 BbIABWKEHNE 1963 1963 2944 3926 4907 5889 6870
BTAMMBaHME 1649 1649 2473 3298 4122 4947 5771
63 20 BbIABUKEHNE 317 3117 4675 6234 7792 9351 10909
BTAMBaHME 2803 2803 4204 5606 7007 8409 9810
80 25 BbIABIKEHNE 5026 5026 7539 10052 12565 15078 17591
BTATVIBaHME 4535 4535 6802 9070 11337 13605 15872
100 30 BbIBUXEHE 7853 7853 11779 15706 19632 23559 27485
BTAMBaHME 7147 7147 10720 14294 17867 21441 25014
CHQw
%) %) [Mnowagb Pabouee fasnenme (MMa)
(mm) | (M) | nopuwms (M) | 1 15 2 2.5 3 35
20 10 235 235 352 470 587 705 822
32 16 603 603 904 1206 1507 1809 2110
40 16 1055 1055 1582 2110 2637 3165 3692
50 20 1649 1649 2473 3296 4122 4947 5771
63 20 2803 2803 4204 5606 7007 8409 9810
80 25 4535 4535 6802 9070 11337 13605 15872
100 | 30 7147 7147 10720 14294 17867 21441 25014
HomuHanbHoe ycunue (H) = laBnenve (MMMa) x Mnowwags NopLHs (Mm2)
Macca unnunppos (r)
CTaH,U,apTHaFI AnvHa Xoda [lononnutensHas
(%] macca npu
(Mm) 5 10 15 20 25 30 35 40 45 50 75 100 3aKOHLIOBKE LLITOKA
C Hapyx. peabBoit
20 CHQ 180 200 220 240 260 280 300 320 340 360 - - 10
CHQW 205 230 255 280 305 330 355 380 405 430 - - 20
32 CHQ 330 350 370 390 410 430 450 470 490 510 610 710 52
CHQW 410 445 480 515 550 585 620 655 690 725 900 1075 104
40 CHQ 480 500 520 540 560 580 600 620 640 660 760 860 52
CHQW 570 605 640 675 710 745 780 815 850 885 1060 1235 104
50 CHQ 860 890 920 950 980 1010 1040 1070 1100 1250 1400 100
CHQW 1030 1080 1130 1180 1230 1280 1330 1380 1430 1680 1930 200
63 CHQ 1250 1290 1330 1370 1410 1450 1490 1530 1570 1770 1970 100
CHQW 1430 1485 1540 1595 1650 1705 1760 1815 1870 2145 2420 200
80 CHQ 2380 2470 2560 2650 2740 2830 2920 3010 3100 3550 4000 172
CHQW 2680 2805 2930 3055 3180 3305 3430 3555 3680 4350 4930 344
100 | CHQ 3520 3630 3740 3850 3960 4070 4180 4290 4400 4950 5500 283
CHQW 4075 4235 4395 4555 4715 4875 5035 5195 5355 6155 6955 566

128




1 NMpaBO Ha BHECEHNE TEXHUYECKUNX N Pa3MepPHbIX N3MEHeHuM

Komnanua SMC coxpaHseT 3a co6o

O

SMC

KoncTpykunsa

CHOOQB20

KomnakTHbIH THAPABNHYECKHH LMNMHAP HH3KOIO aBNEeHHs

Cneunthuxauus

MMo3. | HaumeHosaHve Matepuan Mpumevanms

1 KpbiLka wrokoBas AntomuHmeBbIi cnnae | YepHeHue

2 KpbiLuka 3agHss ArOMIHUEBDIN CNMaB | aHoAMpOBaHWEM

3 Mvnb3a UunuHapa AntoMuHmMeBbIv cnnae | AHoagupoBaHue

4 LlTok 220 Hepxagetowias ctanb | XpomuposaHue

@32~2100 | Yrnepoguctas ctanb | (rambBaHu4eckoe)

5 lMopLueHb AnoMUHKEBBIN CNnaB | XpomupoBaHue

6 Bknagbiw Hanpasnstowmill  MegHblit cnnas

7 lMopLuHeBoE KOMbLIO MnacTuk

8 KonbLo cTonopHoe MHCTpymeHTarnbHas Linnk-xpomoBoe
(Tonbko gns @20) cTanb YepHeH1e

9 ['psizeCbEMHOE KOMbLIO NBR

10 YNnoTHeHwe LUToka NBR

1 YnnoTHeHve LunuHapa NBR

12 [Mpoknagka nopLHs NBR

13 lpoknagka rmnb3bl NBR

14 PesnHo-marHut NBR

15 ["alka LTOoKa Yrnepoguctas ctanb | HukenupoBaHue

Iy

CHQ

[N

3aKoHLIOBKa WITOKa
C HapyXHoM pe3bboii

Eb.

_;f
PexomnneKTbl
%) Howmep ans 3akasa
(mm) | CHQ CHQW
20 CHQ20-PS CHQW20-PS
32 CHQ32-PS CHQW32-PS
40 CHQ40-PS CHQWA40-PS
50 CHQ50-PS CHQWS50-PS
63 CHQ63-PS CHQW63-PS
80 CHQ80-PS CHQW80-PS
100 [ CHQ100-PS | CHQW100-PS
Mpumeyanue:

PEMKOMMNEKT COAEPXUT ynnoTHeHns (nos. 9, 10, 11, 13)
1 MOXeT ObITb 3aKasaH Ans KaXaoro 13 ykasaHHbIX AMaMeTpOB LIMMMHAPOB.

129




KomnakTHbI# ruapaBNHYecKUi UMNMHAP HH3KOI0 AaBNeHus

CHQ
Pazmepbi

CHQ
@20

MuHUManbHbIA pagunyc

warnba xabens 10 3aKOHL0BKa WTOKA C HAapYXHOI pe3b6oii

M&6 x 1
C 3apcheKTMBHON rnyBuHON pe3bbbl 8

H
-
wn
&
<t [ e )&
2 CKBO3HbIX 0TBEPCTUS 5.5 _é, — 1
4 3arnybnexust 7 mm &9
B Xoa
L
© 2Re1/8 20 14 <
(NpUCOBAMHNTENbHLI |2 50 +Xoa L
pasmep) 55 + Xoa
2-P
>32~100 (NpucoesMHUTENbHBINA
paamep)
H 4-gN cKBO3HBIX 0TBEPCTMS F F
¢ acpchekTMBHON rnybuHoil pesbdbl C ~U 8-g0 sarny6nenmit Tun anexTpopazhena
@L + _(
o —] _
) = N : N|=|w Q Pasbem
& 5: == fatuuka
MuHUManbHbIi \ ﬁt““
papmyc uarnba kabens 10 aE; 5
Jaruuk K
- M
E J L B +Xoa
s* A +Xog

* Pasmepbl S 1 U gns pasbemos gatunkos tuna D-A7C, D-A80C n D-J79C Ha 7 mm GonbLue

Mpumeyanus:
Ha pucyHkax nokasaHb! repkoHoBble gatumki D-A7 u D-A8.
BennuuHbl, ykasaHHble B CKOBKax OTHOCATCS K TUMaM AaTyukoB, oTnnyatoLLuxcs ot D-A7 u D-A8.

@ (Mm)| A B C |D E F H | J K L M | N O (rnybura) | S P U Zz

32 735165 |12 | 16 | 45 | 20 | M10 | 60 45 [ 14 | 85 | 34 | 55 | 9(7) 585 | Rc1/8 | 315 | 14
40 755 |67 |12 |16 | 52 | 22 | M10 | 69 5 14 |85 1[40 |55 | 9(7) 66 Rc1/8 [ 35 | 14
50 87 |76 |15 |20 |64 |25 | M12 | 86 7 18 |11 [ 50 |66 | 11(8) 80 Re1/4 | #1 19
63 N 80 |16 |20 [77 |27 | M12 [ 103 |7 18 |11 [ 60 [9 14 (10.5) 93 Rc1/4 | 475 19
80 100 [ 89 |20 |25 |98 | 28 | M16 | 132 | 6 2 |11 |7 ! 17.5(13.5) | 1125 | Rc3/8 | 57.5 | 26
100 107 [ 95 |24 |30 | 1M7] 29 | M20 | 156 | 65 |26 |12 [ 94 [ N 17.5(13.5) | 1325 | Rc3/8 | 67.5| 26

3aKOHLOBKA WITOKA C HAPYKHOI pe3bboi

@ (mm)| C X D H L

20 155 | 18 10 | M8 | 23

32 27 |30 16 | M14 | 385 | 14
40 27 130 16 | M14 | 385 | 14
50 32 135 20 | M18 | 46 18
63 32 135 20 | M18 | 46 18
80 37 140 25 | M22 | 51 22
100 37 | 40 30 | M26 | 52 26

130




1 NMpaBO Ha BHECEHNE TEXHUYECKUNX N Pa3MepPHbIX N3MEHeHuM

Komnanua SMC coxpaHseT 3a co6o

r
@SNCR KomnakTHbIH THAPABNHYECKHH LMNMHAP HH3KOIO aBNEeHHs

CHQ

MuHuManbHbIi paguyc ! M6x1 ¢ acpcpekTUBHOM rnyBUHON pe3bbbl 8 3aKoHLIOBKa WITOKA C HapyXHOI pe3bboii
n3rnba kabens 10

245

oD

)

e e
1Wat = =

N
o0
oD

1

=
2 CKBO3HbIX
otBepcTns 5.5

48
B

4 3arnybnenus

Q)., 7 Mm 29 }
3 20 20 [ Cc
15 57 +Xon 5 +Xop X X
2Rc1/8 —— | 67 + 2 Xopa L L +Xoa
(npucoeanHNTENbHBIA
pasmep)
>32~100
H 2-P
¢ 3QheKTMBHOM ryBUHO/i peasGbi C 4-oN creosbix otBePCTUR F (npwcoeﬂmm:aﬂav:;ﬁ)
N ~Y / 8-00 sarnyBnenvit ' Tun anekTpopasbema
ri
gt = at @ % a Pasbem
gl_é - %J%EEW S Al @ I | S patumka
MUHMManbHbIA f o
panuyc uaruba kabens 10 . f} @T i
‘E-‘-
M
[Jatunk E J | L L B +Xon L+
S* | A+ 2Xoga

* Pasmepbl S 1 U gns pasbemos gatunkos tuna D-A7C, D-A80C n D-J79C Ha 7 mm Gonblue

Mpumeyanus:
Ha prcyHkax nokasaHbl repkoHoBble aatumky D-A7 u D-A8.
BennuunHbl, ykasaHHbIe B CKOBKax OTHOCSTCS K TUMaM 4aTyMKoB, oTnnyaroLLuxcs ot D-A7 u D-A8.

@ (mm)[ A B C [D E F H I J K L M [N O (rny6uxa) | S B U z

32 82 |65 |12 |16 | 45 [ 20 | M10 | 60 45 |14 | 85| 34 | 55 | 9(7) 58.5 | Rc1/8 | 31.5 | 14
40 84 |67 |12 |16 |52 | 22 | M10 | 69 5 14 185 (40 |55 | 9(7) 66 Rc1/8 |35 | 14
50 98 |76 |15 | 20 |64 |25 | M12 | 86 7 18 |11 [ 50 [66 | 11(8) 80 Re1/4 | 41 19

63 102 [ 80 |16 |20 |77 |27 | M12] 103 | 7 18 |11 [ 60 [ 9 14 (10.5) 93 Rc1/4 | 475 | 19
80 11 189 [20 |25 [98 | 28 | M16 | 132 | 6 2 (1|7 n 17.5(13.5) | 125 | Rc3/8 | 57.5 | 26
100 19 [ 95 |24 [30 | 1M7] 29 | M20 | 156 | 65 |26 |12 [ 94 [ N 17.5(13.5) | 1325 | Rc3/8 | 67.5 | 26

3aKoHLOBKA WITOKA C HApYXHOH pe3bboi

gl C | X | D [H |L |K

20 155 | 18 10 | M8 | 23
32 27 |30 16 | M14 | 385 | 14
40 27 30 16 | M14 | 385 | 14
50 32 |35 20 | M18 | 46 18
63 32 |35 20 | M18 | 46 18
80 37 | 40 25 | M22 | 51 22
100 37 | 40 30 | M26 | 52 26

131




KomnakTHbI# ruapaBNHYecKUi UMNMHAP HH3KOI0 AaBNeHus

CHQ
Yranosoynbie Gontol ang GHQB v CHQWB

CXema ycTaHOBKH

Mogenb C|D YcraHosoukblit | Mogenb C |D YCTaHOBOYHbII
_ _ Gont 6ont
= YeTaHoBo4Hb I GonT CHQB20-5D(M) 7 |55 | M5x551 CHQWB20-5D(M) | 10 [ 65 | M5x65/
T . = CHQB20-10D(M) 60 | M5x60/ CHQWB20-10D(M) 70 | M5x707
= i CHQB20-15D(M) 65 | M5x65/ CHQWB20-15D(M) 75 | Msx751
5 < CHQB20-20D(M) 70 | M5x701 CHQWB20-20D(M) 80 | M5x80!
CHQB20-25D(M) 75 | M5x751 CHQWB20-25D(M) 85 | M5x85/
CHQB20-30D(M) 80 | M5x80/ CHQWB20-30D(M) 90 | M5x90/
CHQB20-35D(M) 85 | M5x85/ CHQWB20-35D(M) 95 | M5x95/
CHQB20-40D(M) 90 | M5x90/ CHQWB20-40D(M) 100 | M5x100/
CHQB20-45D(M) 95 | M5x95/ CHQWB20-45D(M) 105 | M5x105/
CHQB20-50D(M) 100 | M5x100/ CHQWB20-50D(M) 10 | M5x110!/
Mopenb C|D YcraHosounblit | Mogenb C |D YCTaHOBOYHbIIA
Gont Gont
CHQ(W)B32-5D(M) |7 [ 70 | M5x70! CHQB40-5D(M) 10| 75 | M5x75!
CHQWB40-5D(M) M5x70/
CHQ(W)B32-10D(M) 75 | M5x751 CHQ(W)B40-10D(M) 80 | M5x80/
CHQ(W)B32-15D(M) 80 | M5x80/ CHQ(W)B40-15D(M) 85 | M5x85/
CHQ(W)B32-20D(M) 85 | M5x85/ CHQ(W)B40-20D(M) 90 | M5x90/
CHQ(W)B32-25D(M) 90 | M5x90/ CHQ(W)B40-25D(M) 95 | M5x95/
CHQ(W)B32-30D(M) 95 | M5x95/ CHQ(W)B40-30D(M) 100 | M5x100/
CHQ(W)B32-35D(M) 100 | M5x100/ CHQ(W)B40-35D(M) 105 | M5x105/
CHQ(W)B32-40D(M) 105 | M5x105/ CHQ(W)B40-40D(M) 10 | M5x110/
CHQ(W)B32-45D(M) 110 | M5x110/ CHQ(W)B40-45D(M) 115 | M5x1151
CHQ(W)B32-50D(M) 115 | M5x115/ CHQ(W)B40-50D(M) 120 | M5x120/
CHQ(W)B32-75D(M) 140 | M5x140/ CHQ(W)B40-75D(M) 145 | M5x145/
CHQ(W)B32-100D(M 165 | M5x165/ CHQ(W)B40-100D(M 170 | M5x170/
Mopenb C |D Ycrarosounblit | Mogenb © D YCTaHOBOYHbIiA
Gont 6ont
CHQ(W)B50-10D(M) | 12 [ 90 | M6x90! CHQ(W)B63-10D(M) [15.5| 95 | M8x95/
CHQ(W)B50-15D(M) 95 | M6x95/ CHQ(W)B63-15D(M) 100 | M8x100/
CHQ(W)B50-20D(M) 100 | M6x100/ CHQ(W)B63-20D(M) 105 | M8x105/
CHQ(W)B50-25D(M) 105 | M6x105/ CHQ(W)B63-25D(M) 10 | M8x110/
CHQ(W)B50-30D(M) 110 | Méx110/ CHQ(W)B63-30D(M) 115 | M8x115/
YKa3anua no MOHTaXy UHNHHAPOB CHQ(W)B50-35D(M) 15 | M6x1151 CHQ(W)B63-35D(M) 120 | M8x120/
CHQ(W)B50-40D(M) 120 | M6x120/ CHQ(W)B63-40D(M) 125 | M8x125/
1. Tpn MOHTaXe LunuHapa UCToNb3yiTe LWecTUrpaHHble CHQ(W)B50-45D(M) 125 | M6x125/ CHQ(W)B63-45D(M) 130 | M8x130/
TOpLiEBbIE KMty knacca npoyHocTh 10.9 unm Bbiwe CHQ(W)B50-50D(M) 130 | M6x130/ CHQ(W)B63-50D(M) 135 M8x135/
(220 - 2w, @32~2/100 - 4 ur.). CHQ(W)B50-75D(M) 155 | M6x155/ CHQ(W)B63-75D(M) 160 | M8x160/
2. fgm%ng“azzﬂfqﬁg%‘;?ggf(’(')’gg:faﬁg‘;jkgp”°“°°°6”e““e CHQ(W)B50-100D(M) 180 | M6x180/ CHQ(W)B63-100D(M) 185 | M8x185/
He JencTBoBana Ha LUTOK NOpLUHA
3. Y6eauTech B TOM, YTO AnUHA CBUHYMBAHMS LITOKA U Mogenb C |D Ycrarosoubii | Mogenb C |D YCTaHOBOYHbIN
I'IpZICOBFWIHeHHOVI K HEMY aeTanun COCTaVBJ'IﬂeT He MeHe? 6onT 6onT
807% or vameTpa peabls (BHyTpekHei ni Hapyio) CHQ(W)B80-10D(M) | 14.5] 100 | M10x100/ | CHQ(W)B100-10D(M) | 13.5| 105 | M10x105/
4. B HavanbHbIif neprog akcnnyaTtaumn uunnHapa ybegutech
B TOM, 4TO BO3/1yX BbINYLLIEH W3 NIONOCTelh LMMVHAPA CHQ(W)B80-15D(M) 105 | M10x105/ CHQ(W)B100-15D(M) 110 | M10x110/
" Tpy60NpOBOA0B. CHQ(W)B80-20D(M) 10 | M10x1107 CHQ(W)B100-20D(M) 115 | M10x115/
uﬁﬁggﬂ'})"gg‘:&; g:m“z :;’jgz;g J“g:gﬂgﬁ?gfggw . CHQ(W)B80-25D(M) 115 | M10x1157 CHQ(W)B100-25D(M) 120 | M10x1207
MOBbILLIATE €ro 10 HOMUHATTLHOTO PABOYEro YPOBHS CHQ(W)B80-30D(M) 120 | M10x120/ CHQ(W)B100-30D(M) 125 | M10x125/
5. Mockonbky ruapouunuuapsl cepun CHQ He umetot CHQ(W)B80-35D(M) 125 | M10x125/ CHQ(W)B100-35D(M) 130 | M10x130/
oTBepCTUA ANA BbiNycka BO3AyXa, cOpackisaite CHQ(W)B80-40D(M) 130 | M10x130/ CHQ(W)B100-40D(M) 135 | M10x135/
. IB_Ioauyx Hepes Apyrie arieMeHTbI (TpyGonpoBozL! 1 T-g-) CHQ(W)B80-45D(M) 135 | M10x135/ CHQ(W)B100-45D(M) 140 | M10x140/
) é’n”‘o;”‘b’:;:f‘eemqg'“ﬂg:fg;;fxg”ggoﬁggﬁ;‘;’;ﬁ““b"‘ onTos CHQ(W)B80-50D(M) 140 | M10x140/ | CHQ(W)B100-50D(M) 145 | M10x145/
¢ TabmLieit: CHQ(W)B80-75D(M) 165 | M10x165/ CHQ(W)B100-75D(M) 170 | M10x170/
CHQ(W)B80-100D(M) 190 | M10x190/ CHQ(W)B100-100D(M 195 | M10x195/

MomeHTbI 3aTAXKH YCTaHOBOYHbIX GonToB

[uameTp unnuHapa (Mm) 20 [ 32 |40 |50 |63 |80 | 100
YcTaHoBOYHbIN | Pasmep M5 | M5 [ M5 [ M6 | M8 | M10| M10
Gont Konuyectso | 2 4 4 4 4 4 4
MomeHT 3aTsixku (H-m) 3 3 3 6 15|24 | 34

132




O

SNCn KomnakTHbIH THAPABNHYECKHH LMNMHAP HH3KOIO aBNEeHHs

CHQ

HatyHkn nonoxenua

Mpumensembie NaTYUKK

0603H. | Tun Kpennenve | 3n.Bxop CeetoBasi | Bbixon Pabouee Hanpsikerue (B) | Xapaktep
VHAMKaLWS DC AC Harpyaku

D-A73L | TepkoHoBblii | Hapenbce | Kabenb Ectb 2-X NPOBOAHON 24 110 Pere,

D-A80L 3anuTbIn Hert <110 MNK

D-A90L [Mpsmoe Het <110

D-A93L Ectb 110

D-F7PL | 3nekTpoHHbii | Ha penbce Ectb 3-x npoBoAaHoi p-n-p| 5, 12, 24 -

D-J79L Ectb 2-X NpoBOAHON 12,24

Homep ans 3aKa3a Kpennewus NaT4nKa

MunumanbHag anuna xopa (mm)

@ (Mm) [Mpumeyanus Homep | Homep patunka nonoxeHus MK HCNONb30BAHMN IATYHKOB NONDKEHNS
['€pKOHOBbIN | OMEKTPOHHbI
20 - yCTaHOBOUHb I BUHT (M3x0.5x8/) | BQ-1 | D-A73L D-F7PL Kgﬂ:’l:f;; 50 Bﬁ;gt Bﬁggt 8577(;1' ’
- railka YeTblpexrpaHHas D-A80L D-J79L A 2
32,40, 50, 63, 80, 100 | - ycTaHoBOUHbIV BUHT (M3x0.5x8) | BQ-2 Twr. 5 10
- pacnopka; - raika 2wr. 10 10
@ 32~100
MoHTaX AaTYMKOB
D-A73L, D-A80L =
'
A i
S
§
e D-F7PL, D-J79L
Q
g =l
= —_—
x lim
A
I
o
[0} =
s
g
Q A B A B
= Pa3mepbl
x
% & (Mm) D-A73L, D-A80L D-F7PL, D-J79L D-A90L, D-A93L D-A90L, D-A93L B,
“é A B A B A B
% |20 |CHQ 205 115 21 12 -
'q') CHQW 20.5 18.5 21 19 - -
3 32 CHQ 27 20 215 20.5 26 19
3 CHOW | 255 | 215 | 26 2 %5 | 205
F 40 CHQ 26 23 26.5 235 25 22 SE]
g CHQW 27.5 215 28 22 26.5 20.5 LA
2 |50 [CHQ 335 245 34 25 32,5 235
e CHQW 335 24.5 34 25 325 235 5 .
s [ 63 [cHa 335 285 34 29 325 275 MHT YCTEHOBOHHAI
Q M3x05x1
8 CHQW | 355 | 265 | 36 27 345 | 255 ( % g YcTaneska narnKos
] 80 CHQ 40.5 30 41 30.5 39.5 29 ' MoHTupyiiTe AaT4mku
5 CHQW 405 305 41 31 395 295 @ B COOTBETCTBUW C PUCYHKOM
% 100 | CHQ 445 32.5 45 33 435 31.5
< CHQW | 445 325 45 33 435 315
8 BuHT )
O Pasmep U (mm) CTOMOpHbIV
% %) D-A73L. | D-F7PL BYHT yCTaHOBOUHBIN
= ’ ’ (M3 x0.5x8¢
£ | (m) | D-ABOL | D-J79L s
§ 20 245 255
g [ [315 |35
0 |35 36 220
50 41 42 Faiika
63 475 48.5 YeTbIpexrpaHHas
80 57.5 58.5
100 67.5 68.5

133




CHK

@20 ~100

KoMnaKTHbI# rHAPABNMYECKHA UHNMHAP BbICOKOIO AABNEHUA

10/ 16 Mna

o Jlerkuii 1 KOMNaKTHbIiA aIIOMIHNEBBIN KOPMYC

e B03MOXHOCTb YCTAHOBKY AATYMKOB NOMOXEHUS,
Mpy 3TOM NPOZObHbIN rabapuTHbIli pa3mep He YBENM4UBAETCS

o LLnpokuit gnanasoH pabounx AaBneHui, LUaMeTpoB LAMHApa
11 CTaHZAPTHBIX SJIMH XOfa.

e BogosallyLLeHHoe 1CTIoNHeHMe
e llcnonHeHue ¢ KnanaHom BbiMycka BO3flyxa

TeXHHYECKHE XapaKTepUCTHKH

Mogenb CHKDB CHKGB
Cpepa l'apaBnuyeckas XUaKocTb
HomuHanbHoe gasnerme (MMa) 10 16
VcnbitatensHoe aasnenns (MMa) 15 24
MakcumanbH. gonyctumoe gaenetue (MMa) | 13 16
MwHumanbH. paboyee fasnenme (Mra) 0.3

Pabouas Bes patunkos nonoxenus | -10 ~ 80

Temnepatypa (°C) | C paruukamm nonoxenus | -10 ~ 60

CkopocTb nopLuHs (Mm/c) 8~ 100

[lemncmposanue Het

Pesbba Ha LToke BHyTpeHHsis/HapyxHas pesbba
[lonyck Ha AnvHYy xoAa (Mm) 0~+0.8

CTanpapTHbie ANUHbI Xofa

[lnameTp uunuHapa (Mm) CraHpapTHble AnuHbI XoAa (MM)

20,25 5, 10, 15, 20, 25, 30, 35, 40, 45, 50

32 5,10, 15, 20, 25, 30, 35, 40, 45, 50, 75

40, 50, 63, 80, 100 5,10, 15, 20, 25, 30, 35, 40, 45, 50, 75, 100

LIunuHaps! ¢ NpoMEXyYTOUHBIMI 3HAYEHUSIMU LTTMHBI X0fia NOCTABASIOTCS MO 3anpocy

Homep gna 3aKkasa

COBMECTHMOCTb C rMAPABIHYECKHMH IUAKOCTAMM

l'wopaBnnyeckas XuakocTb CoBmecTMOCTb
MwHepanbHble ruapasn. Macna | COBMECTUMbI
Omynbeum «Bopa B macne»

Omynbeumn «Macno B Boge»

BopaHo-rnukoneBble XmaKocT *

docdatbl HecoBmecTuMbl

* MHCPOPMALIMI0 MOXHO MOMYYMTb MO 3anpocy

CH @ K ,_F_”_B—_I - m D—O Tun peab6bl WwWroka

= | C BHyTpeHHeli peabboii

M | C HapyxHolii pe3bboii

- | Bes marHutHoro KonbLa
D [ C MarHuTHbIM KONbLOM

Xog (Mm)
CMm. TabnuLy cTaHgapTHbIX X0[oB
® [lnametp
HomuHanboe &—— @ unuHapa
paBneHne
D | 10Ma B | Cranpapr ig 20MM
32mMm
G | 16MMa
|t 10 [ som
50 | 50mMm
63 [ 63mm
80 [ 80mm
LB | Ha nanax, 100 | 100Mm

nop cnpaea ’

LD | Ha nanax,
nopt cnesa ’

" Big CO CTOPOHb LUTOKA

ﬂ,aT‘-II/IKI/I nonoxexHua
3akKasblBatoTCA OTAENbHO.

134




S
3

HomunanbHbie yeunua (H)

(] @ wroka | Hanpaenenwe | lnowaab Pabouee gasnenue (Ma)
(Mm) | (mm) nepemelleHns | nopiuHs (vm’) | 3.5 7 10 16
20 12 BbIBIKEHNE 314 1099 2198 3140 5024*
BTArMBaHWE 201 704 1407 2010 3216*
25 14 BblBWXEHNE 490 1715 3430 4900 7840*
BTArVNBaHWE 336 1176 2352 3360 5376*
32 18 BbIABVKEHNE 804 2814 5628 8040 12864*
BTArMBaHWE 549 1922 3843 5490 8784*
40 22.4 BbIABVKEHNE 1256 4396 8792 12560 20096*
BTATMBaHWE 862 3017 6034 8620 13792*
50 28 BblABWKEHME 1963 6871 13741 19630 31408*
BTATMBaHNE 1347 4715 9429 13470 21552*
63 8515 BbIJB/KEHWE 3117 10910 21819 31170 49872*
BTArMBaHWE 2127 7445 14889 21270 34032*
80 45 BblBIKEHNE 5026 17591 35182 50260 80416*
BTArVMBaHWE 3436 12026 24052 34360 54976*
100 56 BbIABUKEHNE 7853 27486 54971 68530 125648*
BTArMBaHWE 5390 18865 37730 53900 86240*
? Tonbko ana cepun CHKG
Macca uununppos (r)
7 (Mm) CTaHpapTHas AnMHa xofa
5 10 15 20 25 30 35 40 45 50 75 100
20 CHKD 218 240 262 282 304 326 348 370 392 414 - -
CHKG 221 242 263 284 305 326 347 368 389 410 - -
= 25 CHKD 299 327 355 383 411 439 467 495 523 551 - -
S CHKG 312 339 366 393 420 447 474 501 528 555 - -
% 32 CHKD 515 558 601 644 687 730 773 816 859 902 117 -
2 CHKG 581 625 669 713 757 801 845 889 933 977 1197 -
; 40 CHKD 729 784 839 894 949 1004 1059 1114 1161 1224 1499 1774
i CHKG 927 989 1045 1104 1163 1222 1281 1340 1399 1458 1753 2048
g 50 CHKD 1065 1139 1213 1287 1361 1435 1509 1583 1657 1731 2101 2471
g CHKG 1351 1430 1509 1588 1667 1746 1825 1904 1983 2062 2457 2852
S 63 CHKD 1773 1862 1991 2100 2209 2318 2427 2536 2645 2754 3299 3844
:s: CHKG 1813 1936 2059 2182 2305 2428 2551 2674 2797 2920 3535 4150
§ 80 CHKD 3216 3379 3542 3868 4031 4194 4357 4520 4683 4846 5661 6476
3 CHKG 3870 4053 4236 4419 4602 4785 4968 5151 5334 5517 6432 7347
?1_5 100 | CHKD 6142 6384 6626 6868 7110 7352 7594 7836 8078 8320 9530 10740
2 CHKG 7188 7457 7726 7995 8264 8533 8802 9071 9340 9609 10954 12299
I
I
o
g
2
3
c
=

Komnanua SMC coxpaHseT 3a co6o

135




KomnaKTHbI# ruapaBnHYecKud UMNHHAP BbICOKOro AaBneHus

CHK
KoncTpykunsa

CHKD

CHKG
232 to 2100
Bes patunka
3
220 to 925
Cneundiuxauns
[Moanuus HanmeHoBaHve Matepuan Mpumevanms
CHKD] CHKG
1 KpbiLuka LiTOKOBas ArOMUHKEBBIN YepHeHue
2 Kpbiwwka 3agHss cnras aHoaMpoBaH1eM
8 [wnb3a uunuHapa AHoaupoBaHue
4 LWrok | @20~25 Hepxasetowas ctanb | XpomuposaHue PexomnnexTb!
232~100 Yrnepoauctas cranb | (ranbBaHU4eckoe) 1%} Homep ans 3akasa
5 [NopLueHb HepxasetoLias cranb (mm) | CHKD CHKG
6 Bknagbiww 5 MepHbiit cnnas 20 CHKD20-PS | CHKG20-PS
- ;‘Aa"pas”m”*“” . 25 | CHKD25-PS | CHKG25-PS
arKeTa flacTk 32 | CHKD32-PS | CHKG32-PS
8 Marnut - Tonbko ¢ gaT4mkamm 40 CHKD40-PS | CHKGA40-PS
9 [nacTuHa mariuTa Hepxagetowlas ctanb | Tonbko ¢ gatumkamu 50 CHKD50-PS | CHKG50-PS
10 | YcTaHOBOYHbI AntoMuHKEBbIN cnnaB | Tonbko ¢ AaTynkamm

KDOHLLITEH aTHMKa 63 CHKD63-PS | CHAKG63-PS
10 1 [psisecbemtoe kombLo | NBR 80 CHKD80-PS | CHKG80-PS
1 12 | YnnoTHeHwe LTOKa C manxeTton (CHKG) 100 | CHKD100-PS| CHKG100-PS
12 | 13 | YnnotHeue uunukapa * PeMKOMNNEKT COREPXMT YNMOTHEHMS
13 | 14 | Tpoknagka runb3bl (CHKD: nos. 7, 10 - 13, CHKG: nos. 7, 11 - 14)
14 15 | TMpoknaaka nopLuks 1 MoxeT ObITb 3aKka3aH [1s1 K400 13 ykasaHHbIX AMaMeTpOB LIMNMHAPOB.

136



O

SNCn KomnakTHbId rHApaBNHYECKHH UMNMHAP BbLICOKOrO [aBNEeHHs

CHK

Paamepbi
CHKD
220 @ 32~100
2-RcP
F ¢ achdpexTnBHol rnybuHoi pessbbl G F ¢ achdpekTuBHom rnybuHom pesbbbl G Q aQ
Paccrosnmne
MEXOY NOCKOCTAMK £ i
c
- &%
&) — -
T ol | o® :
)
L® .
b el |
9
CKBO3HblE " h 4)(0”
4-oK ggg?)glv?a 4-oK otsepctis c B + Xoa
B-aL sarnyGnenus %, 8-eL sarnybnenus A+ Xon
3aKOHLOBKA WTOKA C HAPYXXHOI pe3bBoi
gmv)| A |B |C |[D E [F G|[H]|J K L (rmy6una) | M P | Q R g(mm) a |b © e |f |g h
20 51 |43 |8 12 10 | M8 1016 |30 |55 |95(54) 43 18] 165 [ 6 20 1 115 | M10x1.25 | 6 10 | 23 | 66
25 53 |45 |8 14 12 | M10 [ 12| 6 |36 | 55 [ 95(54) 49 18 | 17 8 25 14 (18 | M12x1.25 | 6 12 126 | 71
32 61 [ 5110 | 18 14 | M2 [15| 7 |47 | 66 [ 11(6.5) 63 1741 195 | 10 32 21 |25 | M16x1.5 |7 14 (35 | 86
40 65 [ 55 |10 | 224 19 | M16 | 207 |52 [ 9 14 (8.6) 71 1/41 205 [ 10 40 26 [30 | M20x1.5 |7 19 [40 | 95
50 71 [ 60 [ 11 ] 28 24 | M20 | 24 | 8 |58 [ 1 17.5(10.8) | 81 14| 22 10 50 31 [35 | M24x15 [8 |24 [46 | 106
63 80 |67 |13 ] 355 30 | M27 | 339 |69 [ 13 | 20(13) 97 141 255 | 15 63 41 |45 | M30x1.5 |9 [30 |58 | 125
80 95 | 78 |17 [ 45 | 41 | M30 | 36 | 14[ 86 | 15 [ 23(15.5) 117 | 318 ] 30 15 80 56 [60 | M39x1.5 |14 |41 [77 | 155
100 1221 96 | 26 | 56 50 | M39 | 45| 21| 106| 17 | 26 (17.5) 142 | 3/8 | 36 15 100 71 |75 | M48x1.5 |21 |50 | 101 197
S 2-FAcP " "
3aKOHUOBKA WITOKA C HApY)XHOA pe3bioi
CHKDL N ", A~ P
@— @ szg;ﬂ:gikocmmm 1 @ (MM) & b & € f g h
7::_\ 20 11 |15 |M10x1.25[6 |10 (33 [91
- H N\ | [25 |14 [18 [M12x1.25[6 |12 |36 |96
N .0 I R ____ng___
& = 32 21 125 [M16x1.5 |7 |14 |44 | 111
e i 40 26 {30 |[M20x1.5 |7 |19 |53 |128
. b _lel_ 50 31 [35 [M24x1.5 [8 [24 |62 [ 146
€3 2 h; 63 41 |45 [M30x1.5 |9 |30 |78 | 175
[ La o o A— 180 |56 |60 |M39x15 |14 [41 [98 [ 221
L ZZ+Xopn 100 71 [75 [M48x1.5 [ 21 [50 | 118 [ 254

F ¢ adpcbexTuHOM
CKBO3HbIE rny6uHoi pe3sbbl G

2-eKoTBepcTus om c
4ol \ oH
3arnybnenus

1 NMpaBO Ha BHECEHNE TEXHUYECKNX N Pa3MepPHbIX UBMEHEHUN
]

5]

S |

O H

o

© X1 | B+ ] X1

©

] ss| Z +Xon ]\h

by A +Xon

x

I

g

§ < (mm) | A B BB C CD |D E 7 G H | K L (rny6buna)l LH [ LT [ LX LW M P Q R SS X1 Y1 z Y74

(@) 20 76 143 | 70 18 [ 6.6 |12 10 | M8 10 |6 [ 55 [95(54) [23 |15 |58 445 | 43 1/8 [ 165 [6 105 | 15 7.5 58 |73

% 25 78 [45 [ 76 18 | 66 [14 12 | M10 |12 |6 | 55 | 95(54) 26 |15 [ 64 50.5 | 49 18 | 17 8 105 [ 15 75 60 | 75

z 32 86 [51 [ 94 19 19 18 14 | M12 [15 |7 [ 66 [ 11(6.5) 33 [ 16 [ 79 645 | 63 174 {195 [10 |11 16 8 67 | 83

z 40 98 |55 | 108 |23 [ 1 224 [19 [M16 |20 |7 |9 14 (8.6) 37 120 |90 725 | T 14 [ 205 [10 |13 20 10 75 19

g 50 111 160 | 126 [ 27 [ 14 |28 24 [ M20 [24 [8 | N1 17.5(10.8) | 43 | 24 | 104 [ 835 [ 81 14 | 22 10 |15 24 12 84 | 108

S 63 130 |67 [ 146 [33 |16 [355 [30 [ M27 |33 |9 |13 20 (13) 52 |30 | 121 | 100.5] 97 14 [ 255 [10 |18 30 15 97 | 127
80 151 |78 [ 172 [38 |18 [45 41 | M30 |36 [14] 15 23(152) | 63 [35 [ 144 [121.5( 117 | 3/8 [ 30 15 1205 |35 175 [ 113 ] 148
100 179 196 | 208 |43 |22 |56 50 | M39 |45 | 21| 17 26(175) | 76 |40 | 174 | 147 142 [ 3/8 | 36 15 |23 40 20 136 | 176

137




KomnaKTHbI# ruapaBnHYecKud UMNHHAP BbICOKOro AaBneHus

CHK

CHKG
2RcP 3aK0HUOBKA WITOKA C HAPYXHOI pe3bboil
F ¢ acpcpexTnBHON rnybuHoit pe3sbbl G Q s ) |2 b . . 7 ; p
PaccTosHie Mexay
NAOCKOCTAMM  § 20 11 115 | M10x1.25| 6 10 | 23 | 66
c 25 14 [ 18 [M12x125| 6 |12 |26 | 71
R ol N R \); 32 21 |25 | M16x15 |7 |14 |35 | 91
9[ E’fé_)__ T | E_ 40 26 |30 [ M20x15 |7 |19 |40 | 105
a 50 31 [ 35 | M24x15 |8 |24 [46 | 116
b e 63 41 |45 [ M30x15 |9 |30 |58 | 135
CHBOSHbIE H 8 80 56 | 60 | M39x1.5 | 14 |41 | 77 | 165
ﬁ% € B+ Xog heXon 100 |71 [75 [masx15 | 21 |50 [ 101] 207
-oL_3arnybnesms A +Xog
Zmm)f A [B |C |D E [F G |H|J K L (rmy6uHa)| M P Q R [S
20 51 |43 |8 |12 |10 [ M8 [10([6 |30 |55 |95(54) 43 | 1/8| 165 |6 | 115
25 53 |45 |8 |14 |12 [ M10 [12|6 |36 | 55 | 9.5(54) 49 | 1/8 | 17 8 |12
32 66 |56 |10 [ 18 | 14 | M12 [ 15| 7 |47 | 6.6 | 11(6.5) 63 | 14| 195 | 10 | 195
40 75 | 65 |10 [ 224 19 [ M16 | 20 [ 7 |52 [ 9 14 (8.6) 71 | 1/4] 205 |10 | 215
50 81 |70 |11 |28 | 24 [M20 | 248 |58 [ 11 |175(10.8)| 81 | 1/4| 22 10 | 24
63 90 |77 |13 [ 355] 30 | M27 | 33 (9 [69 [ 13 [ 20(13) 100 | 1/4| 255 | 15 | 275
80 105[88 [17 |45 | 41 | M30 | 36| 14]|86 | 15 | 23(15.5) 121 | 3/8 | 30 15 | 31
100 132 106 26 | 56 | 50 | M39 | 45 | 21| 106| 17 | 26 (17.5) 146 | 3/8 | 36 15 | 36
2R P
CHKGL _ 3aKOHUOBKA WITOKA C HAPYXHOI pe3bboil
RN | Paccroshme
L T mexay nnockoctsmi ¢ g(mv)l a |b |c e |[f |g |h
N N 20 11 [15 [M10x1.25 (6 [10 [33 [91
F_ 7] .E{ el 25 14 |18 |M12x1.25[6 |12 |36 |96
H ! L 32 21 [25 |[M16x15 |7 [14 |44 [116
—L[J_ 40 26 |30 | M20x1.5 |7 |19 |53 |138
i Lk i 50 |31 |35 [m24xt5 [8 |24 |62 156
= .L[' _heXon 63 |41 [45 [M30x1.5 [9 |30 |78 |185
pal ‘ 80 56 [60 | M39x1.5 |14 [41 |98 [221
100 71 |75 [ M48x1.5 |21 |50 | 118 | 264
F ¢ athchexTuBHO
CKBO3HblE rny6uHoi pe3sbl G
2-0K 0TBEpCTUS! oM /
ghyﬁnewﬂ i
__4-0CD
‘ B +Xoa X
Z +Xog Y
| A+ Xop
om) A [B |BB|Cc|co|D [E |F |6 |H |K |Linyomsa)| LH [T |X |tw | M [P |Q |R s |[ss |xt |yt |z |z
20 76 |43 [70 | 18] 6.6 | 12 10 | M8 [10 | 6 55] 95 (54) 23 [ 15 | 58 | 445 | 43 18] 165 | 6 115 [ 105 [ 15 7.5 58 | 73
25 78 |45 [ 76 | 18] 6.6 | 14 12 [ M10]12 | 6 55| 9.5(5.4) 26 | 15 [ 64 | 505 | 49 118 | 17 8 12 105 | 15 7.5 60 | 75
32 91 [5 [94 [ 19] 9 18 14 M2 115 |7 6.6 | 11(6.5) 33 |16 | 79 | 645 | 63 1741195110 | 195 [ 11 16 8 72 | 88
40 108165 | 108 23 | 11 224 [ 19 | M16 [ 20 [ 7 9 14 (8.6) 37 120 |9 | 725 | 71 14 21510 | 215 [ 13 20 10 85 | 105
50 121170 |1 126 | 27 [ 14 | 28 24 | M20 [ 24 | 8 11 | 17.5(10.8) [ 43 | 24 | 104 [ 835 [ 81 14| 24 10 | 24 15 24 12 94 | 118
63 140|177 | 146 33 [ 16 | 355 | 30 | M27 [ 33 [ 9 13 | 20(13) 52 |30 | 121 ] 102 100 | 1/4 [ 275 10 | 275 | 18 30 15 107 | 137
80 161188 | 1721 38 | 18 | 45 41 | M30 | 36 [ 14 |15 [ 23(15.2) 63 | 35 | 144 1235 | 121 | 3/8 | 31 15 | 31 205 | 35 17.5 123 | 158
100 1891106 208 | 43 | 22 | 56 50 [ M39 |45 | 21 |17 | 26(17.5) 76 | 40 | 174 | 149 146 | 3/8 | 36 15 | 36 23 40 20 146 | 186

138



1 NPaBO Ha BHECEHME TeXHUYECKUX U pas3MepPHbIX N3MEHEHNIA

Komnanua SMC coxpaHseT 3a co6o

% SNC

KomnakTHbId rHApaBNHYECKHH UMNMHAP BbLICOKOrO [aBNEeHHs

CHK

NprHagnexHocTH
laiika wroKa a0° d Pesbba 2-ro knacca (JIS) e © . 2 i
NHT-025 20 17 19.6 M10x1.25 | 16.5 | 6
NHT-032 32 19 21.9 M12x1.25 | 18 7
NHT-040 40 22 254 M16x1.5 | 21 10
a _i[_ + I7) NHT-050 50 27 31.2 M20x1.5 | 26 12
- w NHT-060 |63 |32 |37 | M24x15 |31 | 14
N1 NHT-080 80 41 47.3 M30x1.5 | 40 17
! NHT-100 100 55 63.5 M39x1.5 54 20
H, B NHT-125 125 70 | 80.8 M48x15 |69 | 26
VCTaHOBOYHbIE GONTI 20, 25* | Mogenb © D | Bont Mogenb C |D | Bonr
CHKIB20-5(M) |12.4| 55 | M5x55/ | CHKIIB25-5(M) | 10.4| 55 | M5x55/
c CHKIIB20-10(M) 60 | M5x60/ | CHKIIB25-10(M) 60 | M5x60/
XeMa yCTaHOBKU
CHKIIB20-15(M) 65 | M5x65/ | CHKIIB25-15(M) 65 | M5x65/
) h: ) ) ) ) VeranosouHLi GonT CHKIB20-20(M) 70 | M5x70/ | CHKOB25-20(M) 70 | M5x701
ﬁ CHKIIB20-25(M) 75 | M5x75/ | CHKIIB25-25(M) 75 | M5x757
T - | — CHKIIB20-30(M) 80 | M5x80/ | CHKIIB25-30(M) 80 [ M5x80/
1. — CHKIB20-35(M) 85 | M5x85/ | CHKOB25-35(M) 85 | M5x85!
o S CHKIB20-40(M) 90 | M5x90/ | CHKIB25-40(M) 90 | M5x90/
*) BONThl OAMHaKOBbIE CHKIIB20-45(M) 95 | M5x95/ | CHKIIB25-45(M) 95 [ M5x95/
ans CHKD u CHKG | CHK[IB20-50(M) 100 | M5x100/ | CHKIB25-50(M) 100 | M5x1007
32 40
Mogenb C D | bont Mogenb C D | bont Mogenb C D | Bont Mogenb C D | Bont
CHKDB32-5(M) [10.5( 60 | M6x60/ | CHKGB32-5(M) | 10.5| 65 | M6x65/ CHKDB40-5(M) | 13.5| 65 | M8x65/ | CHKGB40-5(M) | 13.5( 75 | M8x75!/
CHKDB32-10(M) 65 | M6x65/ | CHKGB32-10(M) 70 | M6x70/ CHKDB40-10(M) 70 | M8x70/ | CHKGB40-10(M) 80 | M8x80/
CHKDB32-15(M) 70 [ M6x70/ | CHKGB32-15(M) 75 | M6x757 CHKDB40-15(M) 75 | M8x75/ | CHKGB40-15(M) 85 | M8x85/
CHKDB32-20(M) 75 | M6x75/ | CHKGB32-20(M) 80 | M6x80/ CHKDB40-20(M) 80 | M8x80/ | CHKGB40-20(M) 90 | M8x90/
CHKDB32-25(M) 80 [ M6x80/ | CHKGB32-25(M) 85 | M6x86!/ CHKDB40-25(M) 85 | M8x85/ | CHKGB40-25(M) 95 | M8x95/
CHKDB32-30(M) 85 | M6x85/ | CHKGB32-30(M) 90 | M6x90/ CHKDB40-30(M) 90 | M8x90/ | CHKGB40-30(M) 100 | M8x100/
CHKDB32-35(M) 90 [ M6x90/ | CHKGB32-35(M) 95 | M6x95/ CHKDB40-35(M) 95 | M8x95/ | CHKGB40-35(M) 105 | M8x105/
CHKDB32-40(M) 95 | M6x95/ | CHKGB32-40(M) 100 | M6x100/ | | CHKDB40-40(M) 100 | M8x100/ | CHKGB40-40(M) 110 | M8x110/
CHKDB32-45(M) 100 | M6x100/ | CHKGB32-45(M) 105 | M6x105/ | | CHKDB40-45(M) 105 | M8x105/ | CHKGBA0-45(M) 115 | M8x115/
CHKDB32-50(M) 105 | M6x105/ | CHKGB32-50(M) 110 | M6x110/ CHKDB40-50(M) 110 | M8x110/ | CHKGB40-50(M) 120 | M8x1207
CHKDB32-75(M) 130 | M6x130/ | CHKGB32-75(M) 135 | M6x135/ CHKDB40-75(M) 135 | M8x135/ [ CHKGB40-75(M) 145 | M8x1457
CHKDB40-100(M) 160 | M8x160/ | CHKGB40-100(M) 170 | M8x170/
50 63
Mogenb (03 D Bont Mogenb C D bont Mogenb (63 D bont Mogenb (63 D Bont
CHKDB50-5(M) [15.8( 70 | M10x70/ | CHKGB50-5(M) | 15.5| 80 [ M10x80/ CHKDB63-5(M) |16 | 75 | M12x75/ | CHKGB63-5(M) 16 |85 | M12x85/
CHKDB50-10(M) 75 | M10x75/ | CHKGB50-10(M) 85 | M10x85/ CHKDB63-10(M) 80 | M12x80/ | CHKGB63-10(M) 90 | M12x90/
CHKDB50-15(M) 80 | M10x80/ | CHKGB50-15(M) 90 | M10x90/ CHKDB63-15(M) 85 | M12x85/ | CHKGB63-15(M) 95 | M12x95/
CHKDB50-20(M) 85 | M10x85/ | CHKGB50-20(M) 95 | M10x95/ CHKDB63-20(M) 90 | M12x90/ | CHKGB63-20(M) 100 | M12x100/
CHKDB50-25(M) 90 | M10x90/ | CHKGB50-25(M) 100 | M10x100/ CHKDB63-25(M) 95 | M12x95/ | CHKGB63-25(M) 105 | M12x105/
CHKDB50-30(M) 95 | M10x95/ | CHKGB50-30(M) 105 | M10x105/ CHKDB63-30(M) 100 | M12x100/{ CHKGB63-30(M) 110 | M12x110/
CHKDB50-35(M) 100 | M10x100/| CHKGB50-35(M) 110 | M10x110/ CHKDB63-35(M) 105 | M12x105/| CHKGB63-35(M) 115 | M12x115/
CHKDB50-40(M) 105 | M10x105/| CHKGB50-40(M) 115 | M10x115/ CHKDBG63-40(M) 110 | M12x110/| CHKGB63-40(M) 120 | M12x120/
CHKDB50-45(M) 110 | M10x110/| CHKGB50-45(M) 120 | M10x120/ CHKDBG63-45(M) 115 | M12x115/| CHKGB63-45(M) 125 | M12x125]
CHKDB50-50(M) 115 | M10x115/| CHKGB50-50(M) 125 | M10x125/ CHKDB63-50(M) 120 | M12x120/| CHKGB63-50(M) 130 | M12x130/
CHKDB50-75(M) 140 | M10x140/| CHKGB50-75(M) 150 | M10x1507 CHKDB63-75(M) 145 | M12x145/| CHKGB63-75(M) 155 | M12x155]
CHKDB50-100(M) 165 | M10x165/| CHKGB50-100(M) 175 | M10x175/| | CHKDB63-100(M) 170 | M12x1701| CHKGB63-100(M) 180 | M12x180/
< 80 2100
Mogenb © D [ Bont Mogenb © D [Bont Mopnenb © D Bont Mopnenb C (D |Bonr
CHKDB80-5(M) |22.2| 90 [ M14x90/ | CHKGB80-5(M) |22 [ 100 [ M14x100/ CHKDB100-5(M) |26.5| 110 | M16x110/{ CHKGB100-5(M) | 26.5 | 120 | M16x120!/
CHKDB80-10(M) 95 [ M14x95/ | CHKGB80-10(M) 105 | M14x105/ CHKDB100-10(M) 115 | M16x115/| CHKGB100-10(M 125 [M16x125/
CHKDB80-15(M) 100 | M14x100/| CHKGB80-15(M) 110 | M14x110/ CHKDB100-15(M) 120 | M16x120/| CHKGB100-15(M 130 | M16x130/
CHKDB80-20(M) 105 | M14x105/| CHKGB80-20(M) 115 | M14x115/ CHKDB100-20(M) 125 | M16x125/| CHKGB100-20(M 135 | M16x135/
CHKDBB80-25(M) 110 | M14x110/| CHKGB80-25(M) 120 | M14x120/| | CHKDB100-25(M) 130 | M16x130/| CHKGB100-25(M 140 | M16x140/
CHKDB80-30(M) 115 | M14x115/| CHKGB80-30(M) 125 | M14x1251| | CHKDB100-30(M) 135 | M16x135/| CHKGB100-30(M 145 | M16x1451
CHKDB80-35(M) 120 | M14x120/| CHKGB80-35(M) 130 | M14x130/| | CHKDB100-35(M) 140 | M16x140/| CHKGB100-35(M 150 | M16x1507
CHKDB80-40(M) 125 | M14x125/| CHKGB80-40(M) 135 | M14x135/| | CHKDB100-40(M) 145 | M16x145/| CHKGB100-40(M 155 | M16x155/
CHKDB80-45(M) 130 | M14x130/| CHKGB80-45(M) 140 | M14x140/ CHKDB100-45(M) 150 | M16x150/| CHKGB100-45(M 160 [M16x160/
CHKDB80-50(M) 135 | M14x135/| CHKGB80-50(M) 145 | M14x145/ CHKDB100-50(M) 155 | M16x155/| CHKGB100-50(M 165 [M16x165/
CHKDB80-75(M) 160 | M14x160/| CHKGB80-75(M) 170 | M14x170/ CHKDB100-75(M) 180 | M16x180/| CHKGB100-75(M 190 [M16x190/
CHKDB80-100(M) 185 | M14x185/| CHKGB80-100(M) 195 | M14x195/ CHKDB100-100(M) 205 | M16x205/| CHKGB100-100(M 215 [M16x2157

139



KomnaKTHbI# ruapaBnHYecKud UMNHHAP BbICOKOro AaBneHus

CHK

YKa3aHna no MOHTAXY UHITHHAPOB

1. Tpy MOHTaXe LMNUHAPA UCTIOMb3YITE LLECTUrPaHHbIE TOPLEBbIE KIKYM Kacca npoyHocTH 10.9 unu Bbile.
2. YcTaHaBnuBaiiTe c60pOYHO-MOHTAXHOE NpUCrocobrieHe Takum 06pasom,
4T06bI BOKOBas Harpy3ka He AENCTBOBANA Ha LUTOK MOPLUHS!
3. Y6eanTtech B TOM, YTO [IIMHA CBMHYMBAHMSI LUTOKA W NPUCOEAMHEHHON K HEMY AeTanm
cocTasniseT He MeHee 80% oT AnameTpa pe3bbbl (BHYTPEHHEI NN HapYXHOM)
4. B HauanbHbIit neprog, akennyaraumn LunnHapa ybeauteck B ToM,

4YTO BO3AYX BbIMYLLEH M3 NONOCTEN LANMHAPA W TPYGOMPOBOAOB.

[Mocne nonHoro BblINyCKa BO3AlyXa CHa4ana Harpysute UWnMHAP NOHWXEHHbIM AaBneHnem,
a 3aTeM NocTeneHHo NoBbILLANTe ero 40 HOMUHANBHOTO paﬁoqero YPOBHA

DLULOMMIMN

5. [Mockonbky ruapounnmuuapel cepun CHK, 3a uckniodeHnem cneunarnsbHoro nenonHesns XC64, N JL )/

He UMEtT OTBEPCTUS ANs BbiNyCka BO3Ayxa, copackiBaiiTe BO3AyX Yepes Apyrie anemeHTbl (Tpybonposoas! 1 T.0.) /////////////////////////////j
6. [Tpn MOHTaXe LMnuHAPa C NOMOLLbK0 YCTaHOBOYHbIX DOMTOB UCMONb3YITE MOMEHT 3aTSKK1

B COOTBETCTBMM C TabnmLieit:
MoMeHTbI 3aTAXKN YyCTaHOBOYHbLIX 6ONTOB ®eppomarHuTHoe Teno
[vaveTp utnurapa (wv) | 20 | 25 | 32 | 40 | 50 | 63 | 80 | 100 (cTanbHas nauTa v T.n.)
YCTaHoBOYHbIN 6oNT M5 M5 | M6 | M8 | M10| M12| M14| M16

MomeHT 3atsbkku (H - m) 25 | 4 7 17 30 40 70 100

7. KoHcynbTupyitecs ¢ SMC npu ncnonb3oBaHun LunuHapa B 6nn3koM coceacTee ¢ heppoMarHUTHbIM NpeaMeToM
(CM.puCYHOK), Tak Kak B 3TUX YCroBusix paboTa aT4ynKkoB NOMOXEHNSt MOXET ObITb HECTabUMBHON.

Hatyuku nono)xeHns

Mpumensembie NaTYUKH
O603HayeHre | Tun Kpennexue On.Bxox CaetoBasi Bbixon Pa6ouee Hanpsxene (B) |  Xapaktep

VHAVMKaLWA DC AC Harpysku
D-A90L ['epkoHoBbIN [Mpsimoe Kabenb Het 2-X NPOBOAHON 24 <110 Pere,
D-A93L 1M Ha 3annTbIN Ectb 110 MIK
D-Y7PL OneKTPOHHbIA|  YCTAHOBOYHOM| Ectb 3-x npoBogHoW p-n-p| 5,12,24 | -
D-Y59BL KPOHLUTEIHE Ectb 2-X NPOBOAHO 12,24
Homep ana 3aKa3a Kpennexus AaTyuMKka (BUHTLI) MunumanbHas AnuHa xofa (MM) nNpu HCNONb30BAHHWH JATYHKOB NMONOXEHUS
2 (Mm) Homep Howmep aatunka nonoxeHns Konuuectso 220, @25 232 ~100
['epKOHOBbI OneKTPOHHbII [laTyMKOB D-A90L, D-A93L D-Y7PL, D-Y59BL

20, 25 BHK1-020 D-A90L, D-A93L | - 1 wr. 5 5
32~100 | BHK2-032 - D-Y7PL, D-Y59BL 2wr. 10 5

M2.5 x 4¢
I Mpunaraetcst k aatumky

MoHTaX AaTYMKOB

220, 225 232~100
B B VKasanmns no MOHTaXy NAaTYHKOB

1. Tpn NpsMOM MOHTaxe
[1aTUMKOB Ha LMNMHAP

glli‘:ﬁziﬂi_: }% WX CrienyeT BCTaBnATL
= — B YCTAHOBOUHLIE Na3bl

B HaNpaBMEHIM, NOKA3aHHOM

Ha pUCYHKe.

A A Mocne ycTaHoBKM B TpeByemoe MecTo
UCTIonb3yiiTe 4acoBYI0 OTBEPTKY

AN 3aTArMBaHNA CTOMOPHbIX BUHTOB.

@ (Mm) D-A90L, D-A93L @ (Mm) D-Y7PL, D-Y59BL ;
2. Tlpu MOHTaXe AATYMKOB C MOMOLLbIO KPOHLUTEIHA UX CeayeT BHavane yCTaHoBUTb
A B A B Ha KPOHLLTENH, a NOCNEeAHA BCTaBUTb B YCTAHOBOYHbIE Na3bl B HaNpaBneHM,
20 | cHKD | 8 15 32 | CHKD | 10 16.5 nokasaHHOM Ha pucyHke. Mocne ycTaHoBKW B Tpebyemoe MecTo ucnonbayite
CHKG | 12 m CHKG | 135 | 18 LUIECTUTPaHHbIA KNHOY A5 3aTAMVBAHMS BUHTOB KPOHLLTEMHA.
. 3. Tpw 3aTrMBaHMN CTOMOPHbIX BUHTOB MCMOMb3YWMTE YaCOBYO OTBEPTKY C
25 | CHKD | 9 16 40 | CHKD 12 18.5 [AVaMETPOM PYKOSTKM 5~6 MM. [INs 3aTArBaHNS BUHTOB KPOHLUTENHA MCMOMNb3yiTe
CHKG | 13 12 CHKG | 19 215 1.5 MM LLECTUrPaHHBIN KITkoY M2.5 x 4¢
50 | cHKD | 13 225 MOMEHT 3aTaxKu: M3 x ¢ ; MpunaraeTcst k AaTuuky
onke | 19 | 25 Ans gatumkos D-A90L, D-A93L - TMpynaraeTos K KpOHLITEliHy v
: 0.1~0.2 Hm,
63 | CHKD | 165 | 26 ans aatunkos D-Y7PL, D-Y59BL - )
CHKG | 215 | 31 0.05~0.1Hwm.
80 | CHKD | 185 | 35 Kak npaBuno, cTonopHble BUHTbI
CHKG | 245 | 39 [loctaTouHo noBepHyTb Ha 900.
100| CHKD | 26.5 | 445
CHKG | 345 | 46.5

140



	chm 74_79.pdf
	chn after 79.pdf
	cha 80_94.pdf
	ch2 95_114.pdf
	chs 115_126.pdf
	chq 127_133.pdf
	chk 134_140.pdf



